Il o
A = m
P @
2= @ = =
s . vF Mz T
o u % — =
E.b A - p— o
Lr%é & / 3 4
2= ég 2
% e =) m
I
iH
o
m -
] ]
- =)
w =]
> >
m m
~ A
wn w
m m
- -
(=) ] -
(=] (=1
: 3
’-\\’-\
el e
| > ¥
I
— —
LY
\
]
I
1
1
i
7
U
&
B
s 3
Fid 3
” G
B

Limited Warranty Statements

1. Warranty

LockeyUSA "LDS" warrants the Product to be free from defects in
material and workmanship for a period of 12-months from the original
date of purchase.

If you discover a defect in the Product covered by the warranty, we
will repair or replace the item using new or refurbished components.

2. Exclusions

The warranty covers defects in manufacturing and/or workmanship
discovered while using Product as recommended by LDS rather

than those caused by acts of God, misuse, abuse, installation errors or
unauthorized modifications.

3. Limited Liability

LDS will not be held liable for incidental or consequential losses or
damages caused by any act of God, misuse, abuse or unauthorized
modification of Product.

4. Reminder
Service requirement shall be subject to the presentation of this warranty

card and defective parts to the manufacturer, LDS. The warranty card
will not be reissued if lost.

Product: E-DIGITAL ELECTRONIC DEADBOLT LOCK

Purchase Date:

Name & Address of Distributor:

Send warranty forms to:
LockeyUSA Warranty Department
PO Box 543 | Mt. Pleasant, Michigan | 48858

www.lockeyusa.com

w

E-DIGITAL

ELECTRONIC LOCK SERIES

USER MANUAL

o7

Attention : Do not use power tools




E-DIGITAL ELECTRONIC DEADBOLT
INSTALLATION INSTRUCTIONS

The BACKSET is the distance between the center of
cross bore and edge bore of the doar.

Adjustable latch fits both BACKSET of 2-3/8" {60mm}
and 2-3/4” (70mm). Please follow the steps shown
below for BACKSET adjustment.

Latch Backset Adjustment :
Rotate the latch case as diagram on the
right for backset 2-3/4" {70mm} or

reverse direction for 2-3/8" (60mm).

Please Note: If you have a pre-drilled bore or are replacing an exising lock, remove all
existing hardward and strike, and skip to Step 3.

1. Mark The Door With Template

Select the height and backset as desired on the
door face ; use the TEMPLATE as an indication
to mark the center of the circle on the door face
and the center of the door edge.

2. Drill Holes

Using the marks as a guide to drill a hole &2-1/8"
{54mm} through the door face for the lockset, then
a hole of @1” (25.4mm) for latch.

R

3. Install Latch

&

=) e,

4. Install Strike

NI
B
i

a. Insert the latch and ensure it is paralleled to

the door face.
Mark the outline of the faceplate, then take
out the latch.

. Chisel 1/8” {3mm?} deep along the outline to

allow the faceplate to be aligned with the door
edge.

. Insert the latch and tighten it with screws.

Note : please use tapping screws for metal
door.

. To identify the center of strike :

close the door, on the basis of the faceplate
mark horizontal center line of strike.

Ensure the center of faceplate and the center
of strike are aligned.

Use the mark as a guide outlines the strike.

. Chisel 5/64” (2mm)} deep along the strike

outling to allow the strike to be aligned with
the doorframe.

¢. Insert the strike and tighten it with screws.

Note : please use "tapping screws” for metal
doar.




5. Install Keypad Assembly

a. Latch bolt must be retracted in unlocked position.

b. Please refer to the diagram below for Cylinder Installation.

Place deadbolt against keypad with tailpiece in hotizontal
position inserted through hub of the latch.

YOI

¢. Pass the IC wire under the latch to the interior side of the door.

8. Adjusting Turn Piece

Ensure the turnpiece is in the
unlocked position. To unlock,
turn the turnpiece to the right

for a Left-Handed door. Turn the
turnpiece to the left for a Right-

Handed door.

NOTE: Tailpiece MUST be in
horizontal position.

Cylinder

6. Install Inside Mounting Plate

Pass the IC wire through the wire hole of
the mounting plate.

Fix the mounting plate with screws.

If outside lock assembly is lopsided, please
loosen the screws to adjust it's position and
tighten the screws again.

NOTE: Do NOT pinch IC Wire.

7. Identify Door Handing

NOTE: Do NOT pinch IC Wire.

YoI.

Mounting Plate

Screws

SN

1C wire

Face the door from outside, the door is left handed if the hinge is on the
left-hand side of the dooar, whereas the door is right handed if the hinge

is on the right-hand side of the door.

Interior

o N\ 1

Hinge

|_I_I X ] 1
LT
Exterior
{Left Handed)

]

{Right Handed) 3

Turnpiece
The door MUST remain in the @
unlocked position for the duration
of installation and programming. Lo/
(Left-Handed)
9. Install receiver module a
@

a. Remoave the battery cover
{push it up and pull it out}.

b. Connect the IC wire and ensure the tailpiece T

is engaged with turn piece, then attach
receiver module to the door with screws.
It's optional to use wood screws.

{(Wood screws only for wood door}

c. Insert 4 {AA} 1.5V alkaline batteries and
put the battery cover backon the receiver
module.

Wood Screws

Screws

rd

@

8

(Right-Handed)




(M Programming Button

Programming Button is for entering codes, clearing errors and setting function.

It's also lock button.

) Number Buttons

Input the pass codes, each pass code is 4-10 digits in length.
@) Cylinder

Retract / Extend the latch bolt by key from exterior.
@ Washer

Prevent water permeating into lockset.
(® Battery Lid

Slide the lid to change the batteries or restore default setting.
®) Battery Holder

Four AA (1.5V) Alkaline batteries.
(7 R Button (Reset)

Restore default setting.
Turn-Piece

Retract/Extend the latch bolt from interior.

Specification/Function

1. Power
6V - Requires four AA (1.5V) Alkaline batteries.

2. Low Battery

2-1 The batteries should be changed immediately when you see button 1 flashing in red
and hear 10 rapid beep sounds when pressing programming button.

2-2 All settings are retained in the memory and will not be effected even if the battery
is completely dead.

2-3 The lock can still be operated by key if the lock is without power.

3. llluminated Indicator
3-1 Button 1 flashes green once for successful operation.
3-2 Button 1 flashes in green twice for successful programming.
3-3 Button 1 flashes in red 3-times when there is an operation error.
3-4 Button 1 flashes in red 5-times for code input errors. the system will shut down
for system protection after 5 incorrect entries (Refer to #17).
3-5 Button 1 flashes in orange 3-times when system has been restored to default setting.
3-6 Button 1 flashes in orange slowly while in programming mode.

4, Audible Indicator

4-1 1 beep sound indicates a successful operation.

4-2 2 long beep sounds indicate successful programming,.

4-3 3 beep sounds indicate an operation error.

4-4 3 long beep sounds indicate that the system has been restored to default settings.

4-5 5 beep sounds indicate code input error. System will shut down after 5 incorrect entries.
(Refer to #16)

4-6 10 rapid beep sounds indicate that the batteries are low. Change batteries immediately.

5. Programming Code

5-1 The preset Programming Code is 0000, Please change Programming Code after first
operation.

5-2 Programming Code is only for function setting. You cannot unlock the lockset by entering
Programming Code.

5-3 Programming Code must be 4-10 digits.

5-4 If necessary, Programming Code can be changed at any time.




6. User Codes

6-1 The preset User Code is 1234. Please delete it and create a new User Code
during first operation.

6-2 Up to 6 sets of User Codes can be saved at one time.

6-3 User Codes are only used to unlock the lockset.

6-4 User Codes must be 4-10 digits.

6-5 User Codes can be added or deleted at any time.

7. Deleting Individual User Codes

7-1 User Codes can be deleted individually. You can reset the same number code
even if it has been deleted previously.

7-2 Programming Code is needed when deleting individual User Codes.

8. Deleting All User Codes At Once

8-1 All User Codes can be deleted at once. You can still reset and use the same User Codes
even if you have deleted them previously.

Auto-locking and Keypad locking functions will be invalid after deleting all User Codes
and the lock will only be operational with the key. These functions will be restored with
the creation of new User Codes.

8-3 Programming Code is needed when deleting all User Codes.

8

d
N

9. Temporarily Disabling All User Codes
9-1 Auto-locking and Keypad locking function will be invalid when User Codes are
temporarily disabled. The lock can only be operated by key during this time.

9-2 Repeat the programming steps to restore the auto-locking and keypad locking functions
once User Codes are restored.

10. Creating Disposable User Codes
10-1 Disposable User Codes are invalid after one use.
10-2 You can reset the same numbers as User Codes.
10-3 Programming Code is needed when creating Disposable User Codes.

11. Restoring Preset Factory Codes
11-1 You can restore the Preset Factory Code by pressing the "R" button on the interior of

the receiver module. Used when you forget your Programming Code or you want to
cancel all previously created settings.

11-2 After system restore, the Programming Code will be "0000" and the User Code
will be "1234",

12. Unlocking the Lockset

The lockset can be unlocked by key, by entering the User Code and E-Digital button
on the keypad or with the turnpiece on the interior of the door.

13. Locking the Lockset

The lockset can be locked by key, by pressing the Programming Button "E-Digital"
on the keypad or with the turnpiece on the interior of the door.

14. Incomplete Door Closing/Opening

14-1 When the latch bolt is not extended/retracted completely, the motor will not function
correctly when you will see the LED light flash 3-times accompanied by 3 beep sounds.
The alarm will not sound when the device is in Mute. You will need to enter the User
Code to unlock the door and press the Programming Button to re-lock the door.

14-2  If the latch bolt gets stuck or cannot extend/retract completely repeatedly, please check
to ensure the strike aligns correctly with the latch bolt and adjust the strike as needed.
Note: After long use of any door hinge, the latch bolt may get stuck easily as a result
of the door being lopsided or deformed.

15. Activating/Deactivating the Auto-Locking Function

15-1 The lockset will automatically lock itself within 10-99 seconds when this function
is programmed.

15-2 The function is not preset and must be programmed to operate.

15-3 The preset delay-time is 30-seconds. The delay-time can be adjusted as needed.

15-4 The same programming steps are used to both activate and deactivate the
auto-locking function.

16. Turn Mute On/Off

16-1 Beep sounds will be heard when pressing keypad, and for programming and
operating errors.

16-2 LED Illumination will still function while in Mute. The warning alarm will not function
while muted, and it is recommended not to Mute device unless necessary.

16-3 The normal operating sounds of the motor cannot be muted.




17.Code Protection Function

The system will shut down when incorrect codes are entered more than 5-times.
The system will be restored after 45-seconds of inactivity.

18.lllumination

The LED Keypad will light up when pressing any button to ensure ease of operation
in the dark.

User Code & Function Setup

. The lock must be in the unlocked position while programming.

2. You must run the door-handing identification process before continuing with
programming of the lock. See Function Programming instructions on the
following page.

3. Change default Programming Code "0000" and User Code "1234" before
function setup.

4. LED flashes orange slowly while programming. LED flashes green twice with
two long beeps when input is correct. LED flashes red three times with three
beeps when incorrect. You will need to wait 6-seconds or press programming
button when incorrect input is entered. After 6-seconds system operations will be
restored.

5. Each programming step should be completed within 6-seconds.

6. You can lock/unlock the product with both the key and the keypad. Please refer
to the programming table on the following page for function setup instructions.

II\/IPORTANT

. The use of alkaline batteries is recommended to stahilize the power supply.

2. Do not mix battery brands or mix alkaline batteries with regular zinc-oxide
batteries.

3. Do not use any chemical liquid or lubricating oil with additives to clean the lock
body. Use of these products could damage the product's surface and/or
mainboard.

4. If there is any problem with the product, please contact LockeyUSA "LDS".

Function Programmlng Programming Code (PC}

PLEASE NOTE: LOCK MUST BE IN UNLOCKED POSITION TO PROGRAM USER Code (UC}

Detect Left/Right Hand Door Configuration

[ Enter PC ) mp (E-Digital) mp @ = (E-Digital
Remark:
You must run the door-handing identification process before function set up for

installation or after default setting restore. The lock must remain ulocked while
programming.

Add New User Codes
_Enter PC ) mp (E-Digital) mp (1) mp (E-Digital) wp [Enter New UC ) mp (E-Digital)

Remark:
Up to 6 sets of User Codes can be saved. User Codes can be 4-10 digits in length.

Delete Existing User Codes

[ Enter PC ] = @-DigitaD s @ =5 iy

Enter the UC

you wantto |=p (E-Digital
uwantto | = (E Digital)

Delete All User Codes
[ Enter PC ] =) @-DigitaD = @ =

Remark:
Auto-locking and Keypad locking function will be invalid when User Codes are
deleted. The lock can only be operated by key during this time.

Change Programming Code
[_Entor PC_) mp (E-Digital) mp (4) mp (E-Digital) wp [ Enter New PC ) mp (E-Digital)

Turn Autolock On/Off
[ Enter PG ]-}( Dlglta) -)@-) w
Remark:

The preset delay-time is 30-seconds. You can change the time by following the
instructions on the following page. Repeat the steps to disable the
Auto-locking function.




PLEASE NOTE: LOCK MUST BE IN UNLOCKED POSITION  Programming Code {PC)
TO SUCCESSFULLY COMPLETE PROGRAMMING FUNCTIONS. USER Code {UC)

Set Autolock Time Delay
(entor Pc )  (EDigital)  (8) > >

Remark: Delay time can be 10-99 seconds in duration.

Turn Mute On/Off
[ Enter PG ] = @-DigitaD =5 @ =

Remark: Repeat same steps to turn Mute On/Off.
LED illuminations will still function when Mute is On, but there will be no
warning alarm.

Enable/Disable All User Codes
[ Enter PC ]Q@-DigitaDQQ

Remark: Auto-locking and Keypad functions will be invalid when User Codes are
disabled. The lock can only be operated by key during this time. Repeat
the steps shown above to enable User Codes.

Create Disposable User Codes —

(_Enter PC_) b (E-Digital) wp (3) = = | disposable |mp

uc

Remark: Disposable Codes will be invalid after a single use.

Restore All Preset Factory Settings

Press ® on the interior of the receiver module.

Remark: Press and hold button for more than 5-seconds. The programming will
be complete after you hear 3 long beeps.
After system restore, you must run the door-handing identification process
again, prior to any other function programming.

1

Simple Troubleshooting

Situation 1

After installation of the lockset and batteries the door cannot be locked and three

short beeps are emitted when pressing the Programming Button.

Causes: The door-handing indentification process is not complete yet.

Solutions: Execute the door-handing identification process. The door-handing
identification process must be completed prior to any other
programming function.

Situation 2

After installation of the lockset and batteries there is no response when pressing

any button (no sounds are emitted and the back light does not work).

Causes:  This problem could be caused by malfunctioning batteries or the
IC Wire being improperly connected.

Solutions: Check to confirm that the batteries are inserted correctly or if the
batteries may be dead (replace if necessary). If the lock is still not
working correctly, check the IC Wire to ensure it is connected properly.

Situation 3

Failure in the first execution of the door-handing identification process (the red light

flashes three times and three short beeps are emitted).

Causes: Wrong door-handing or change of the door-handing in the lock's memory.

Solutions: Press the "R" button on the interior of the receiver module to restore the
system's Preset Factory Settings and re-execute the door-handing
identification process.

Situation 4

After successful execution of the door-handing identification process, the latch does
not work (The motor seems to be running with low power, the latch bolt is stuck and
the turnpiece on the interior of the door cannot be rotated).

Causes:  Low Battery

Solutions: Replace with new batteries.




Situation 5

The lock is functioning normally, but suddenly, the latch bolt locks up and the
turnpiece on the interior of the door cannot be rotated (not even with the key).
Causes: The detection of the latch bolt position is abnormal.

Solutions: First, take out one battery. Then, press any button on the front panel
for electric discharge and replace the battery. The latch bolt will
automatically re-detect the correct position.

Attention: If the latch gets stuck frequently, check to see if the opening of the strike
aims at the central position of the latch bolt, if the latch bolt can extend
out freely or if the hinges are deformed or tilted.

Situation 6

The door locks normally, but three short beeps are emitted and the door will not

unlock when the User Code is entered and the Programming Button is pressed.

Causes: The functioning of the micro-switch is abnormal.

Solutions: Use the key to unlock the door. Then contact LDS for more detailed
troubleshooting instructions.

Situation 7

While the door is closed, the latch bolt can be heard coming out when pressing
the Programming Button to lock the door and three short beeps are emitted.
Conversely, while the door is open, no beeps are emitted when pressing the
Programming Button to lock the door.
Causes: (1) The depth of the latch bolt hole is insufficient.

(2) The latch bolt is not aimed at the opening of the strike.
Solutions: (1) Drill the latch bolt hole for the strike deeper (min. 2.5 cm)

(2) Adjust the strike to ensure the latch bolt is aimed properly.

Visit www.LockeyUSA.com for additional product information.

13




2=

S %

o~ =
o8 € »
= T2 E N, |
Q-

o N

o w2 \_4
m§ %»_
§3 3%
o = i /
= -l

w

= & »
m IS

o B

~t

J1V1dINGL

o
~t
="
(0]
=
()
o
=
Q.
(e}
Q
(9%
Q.
Q
(0]
By M
©) ©)
= X
o o
> >
N D
~ A
wn (93]
m m
— —
(o)) N
o o
3 3
=) 3
ENE
S~ S~
| R &

Limited Warranty Statements

1. Warranty

LockeyUSA "LDS" warrants the Product to be free from defects in
material and workmanship for a period of 12-months from the original
date of purchase.

If you discover a defect in the Product covered by the warranty, we
will repair or replace the item using new or refurbished components.

2. Exclusions

The warranty covers defects in manufacturing and/or workmanship
discovered while using Product as recommended by LDS rather

than those caused by acts of God, misuse, abuse, installation errors or
unauthorized modifications.

3. Limited Liability

LDS will not be held liable for incidental or consequential losses or
damages caused by any act of God, misuse, abuse or unauthorized
modification of Product.

4. Reminder
Service requirement shall be subject to the presentation of this warranty

card and defective parts to the manufacturer, LDS. The warranty card
will not be reissued if lost.

Product: E-DIGITAL ELECTRONIC KNOB & LEVER LOCK

Purchase Date:

Name & Address of Distributor:

Send warranty forms to:
LockeyUSA Warranty Department
PO Box 543 | Mt. Pleasant, Michigan | 48858
www.lockeyusa.com

E-DIGITAL

ELECTRONIC LOCK SERIES

USER MANUAL

<
s

Attention : Do not use power tools




E-DIGITAL ELECTRONIC KNOB & LEVER
INSTALLATION INSTRUCTION

The BACKSET is the distance between the center of
cross bore and edge bore of the door.

Adjustable latch fits both BACKSET of 2-3/8" (60mm)
and 2-3/4” (70mm). Please follow the steps shown
below for BACKSET adjustment.

a. The backset shown on the left is 60mm (2-3/8").

b. Pull the cam toward right to extend the backset to 70mm (2-3/4").

c. The backset shown in figure C is 70mm (2-3/4”). Pulling the cam back to left will
return the backset to 60mm (2-3/8").

Note : The shape of cam should be square.

a b C i
poed B oo
o0

Please Note: If you have a pre-drilled bore or are replacing an existing lock, remove all
existing hardware and strike, and skip to Step 3.

1. Mark The Door With Template

Select the height and backset as desired on the
door face ; use the TEMPLATE as an indication
to mark the center of the circle on the door face
and the center of the door edge.

W

2. Drill Holes

Using the marks as a guide to drill a hole &2-1/8”
(54mm) through the door face for the lockset, then
a hole of @17 (25.4mm) for latch.

PR

3. Identify Door Handing

Face the door from outside, the door is left handed if the hinge is on the left-hand
side of the door, whereas the door is right handed if the hinge is on the right-hand
side of the door.

Interior
Door Hinge

o\ t &
| 7

{Left Handed) Exterior

(Right Handed)

4. Install Latch

a. Insert the latch and lay the faceplate against the door
edge.
S @ Use a pencil to mark it's perimeter, then take out the
latch.

Ensure the plate can fit flush with the door edge surface.

b. Chisel out the portion you've marked with pencil to
about 4mm (5/32") deep. Score the area within the
borders as clearly and precisely as possible.

¢. Insert the latch and tighten it with screws.
Be sure the holes for thru-bolts (next to the adjustable
@ cam) are horizontally aligned.

d. It is not necessary to chisel the door edge for the
faceplate installation if you use a drive-in latch. (not incld)
You may install it into the edge bore directly, making
sure the bevel faces the outside assembly.




5. Install Strike

a b [@

£

a. Half-close the door to lay the latchbolt against the doer frame.
Mark the position of faceplate as an indication.
Place the strike against the deor frame and mark it's perimeter.
Be sure the center of strike is perfectly aligned with the center of faceplate.

b. Drill a @25.4mm (1") hole with 13mm (1/2") depth on the center of strike outline.
Then use the chisel to scrape out the door frame for 1.6mm (1/16") deep within
your pencil mark.

Ensure to chisel deep enough to allow the strike to lay flush with the frame surface.

c. Insert the strike and tighten it with screws.

Note : please use “tapping screws” for metal dooer.

6. Install Keypad Assembly

a. Place the leverset/knobset against keypad with tailpiece in vertical position
inserted through cam of the latch.

PLEASE NOTE: Tailpiece MUST be in VERTICAL position.

Outside Knob 3

b. Pass the IC wire over the latch to the interior side of docr. Do NOT pinch wire.

IC Wire

7. Install Inside Mounting Plate Mounting

z : Plate el =
Pass the IC wire through the wire hole on the

mounting plate and fix the mounting plate with I wiie

screws. If outside lock assembly is lopsided, B
please loosen the screws to adjust it's position Screws

and tighten the screws again. @

***Please Note: Do NOT pinch IC wire*** ®

8. Install Receiver Module

a. Remove the battery cover {push it up and pull it out).

b. Connect the IC wire and ensure the turn piece is horizontal, so that the tailpiece
is able to engaged with the inside lever/knob. Then attach receiver module to the
door with screws. It's opticnal to use the attached woed screw.
(Wood screw only for wood door)

a @ b
Battery wood screw
T Cover } ]’ﬂl' I‘
screws i i

:] Receiver g
@ Module L
Turn g DY) ¢ 5
Piece

c. Insert 4 (AA) 1.5V alkaline batteries and put the battery cover back to the
receiver medule.
LS

Inside Lever Inside Knob




9. Change Lever Handing

a.

b.

Be sure the levers are unlocked.

Insert the provided pin wrench into the small hole on the neck of lever and apply
pressure to depress the catch and pull out the lever from the stem.

Follow the same steps to remove interior lever and exchange the position of
inside and outside levers.

e

Remove the cylinder from lever and insert it into opposite lever.
Then install the levers and make sure the small hole on the neck of lever
aligns over the catch perfectly. Rotate the levers to see if it operates well.

C&2 1

Cylinder

(D Programming Button

Programming Button is for entering codes, clearing errors and setting function.
It's also a lock button.

(@2 Number Buttons

Input the user codes, each user code is 4-10 digits in length.
@ Cylinder

Lock/Unlock the lockset from exterior.

@ Gasket

Prevent water permeating into lockset.

(® Battery Lid
Slide the lid to change the batteries.

® Battery Holder
Four AA (1.5V )Alkaline batteries.

(D RButton (Reset)

Restore default setting.

Turn-Button

Lock/Unlock the lockset from interior.




Specification/Function

1.

2.

Power

6V - Requires four AA (1.5V) Alkaline batteries.

Low Battery

2-1The batteries should be changed immediately when you see button 1 flashing in red

2-2
2-3

3
3-1
32
33
3-4

3-5
3-6

i
4-1
4-2
4-3
4-4
4-5

4-6

5.
5-1

5-2

5-3
5-4

and hear 10 rapid beep sounds when pressing programming button.

All settings are retained in the memory and will not be effected even if the battery
is completely dead.

The lock can still be operated by key if the lock is without power.

llluminated Indicator

Button 1 flashes green once for successful operation.

Button 1 flashes in green twice for successful programming.

Button 1 flashes in red 3-times when there is an operation error.

Button 1 flashes in red 5-times for code input errors. the system will shut down

for system protection after 5 incorrect entries (Refer to #16).

Button 1 flashes in orange 3-times when system has been restored to default setting.
Button 1 flashes in orange slowly while in programming mode.

Audible Indicator

1 beep sound indicates a successful operation.

2 long beep sounds indicate successful programming.

3 beep sounds indicate an operation error.

3 long beep sounds indicate that the system has been restored to default settings.

5 beep sounds indicate code input error. System will shut down after 5 incorrect entries.
(Refer to #16)

10 rapid beep sounds indicate that the batteries are low. Change batteries immediately.

Programming Code

The preset Programming Code is 0000. Please change Programming Code after first
operation.

Programming Code is only for function setting. You cannot unlock the lockset by entering
Programming Code.

Programming Code must be 4-10 digits.

If necessary, Programming Code can be changed at any time.

6.
6-1
6-2
6-3

6-4
6-5

8-1

8-2

8-3

User Codes

The preset User Code is 1234, Please delete it and create a new User Code
during first operation.

Up to 6 sets of User Codes can be saved at one time.

User Codes are only used to unlock the lockset.

User Codes must be 4-10 digits.

User Codes can be added or deleted at any time.

Deleting Individual User Codes

User Codes can be deleted individually. You can reset the same number code
even if it has been deleted previously.

Programming Code is needed when deleting individual User Codes.

Deleting All User Codes At Once

All User Codes can be deleted at once. You can still reset and use the same User Codes
even if you have deleted them previously.

Auto-locking and Keypad locking functions will be invalid after deleting all User Codes
and the lock will only be operational with the key. These functions will be restored with
the creation of new User Codes.

Programming Code is needed when deleting all User Codes.

Temporarily Disabling All User Codes

Auto-locking and Keypad locking function will be invalid when User Codes are
temporarily disabled. The lock can only be operated by key during this time.

Repeat the programming steps to restore the auto-locking and keypad locking functions
once User Codes are restored.

10. Creating Disposable User Codes
10-1 Disposable User Codes are invalid after one use.
10-2 You can reset the same numbers as User Codes.
10-3 Programming Code is needed when creating Disposable User Codes.

11. Restoring Preset Factory Codes
11-1 You can restore the Preset Factory Code by pressing the "R" button on the interior of

the receiver module. Used when you forget your Programming Code or you want to
cancel all previously created settings.

11-2 After system restore, the Programming Code will be "0000" and the User Code

will be "1234".




12. Unlocking the Lockset
The lockset can be unlocked by key, by entering the User Code and E-Digital button
on the keypad or with the turnpiece on the interior of the door.

13. Locking the Lockset

The lockset can be locked by key, by pressing the Programming Button "E-Digital"
on the keypad or with the turnpiece on the interior of the door.

14. Activating/Deactivating the Auto-Locking Function

14-1 The lockset will automatically lock itself within 10-99 seconds when this function
is programmed.

14-2 The function is not preset and must be programmed to operate.

14-3 The preset delay-time is 30-seconds. The delay-time can be adjusted as needed.

14-4 The same programming steps are used to both activate and deactivate the
auto-locking function.

15. Turn Mute On/Off

15-1 Beep sounds will be heard when pressing keypad, and for programming and
operating errors.

15-2 LED lllumination will still function while in Mute. The warning alarm will not function
while muted, and it is recommended not to Mute device unless necessary.

15-3 The normal operating sounds of the motor cannot be muted.

16. Code Protection Function

The system will shut down when incorrect codes are entered more than 5-times.
The system will be restored after 45-seconds of inactivity.

17. lllumination

The LED Keypad will light up when pressing any button to ensure ease of operation
in the dark.

User Code & Function Setup

1.

|
1

The lockset must be in the unlocked position while programming.

. Change default Programming Code "0000" and User Code "1234" before

function setup.

. LED flashes orange slowly while programming. LED flashes green twice with two long

beeps when input is correct. LED flashes red three times with three beeps when incorrect.
You will need to wait 6-seconds or press programming button when incorrect input is
entered. After 6-seconds system operations will be restored.

. Each programming step should be completed within 6-seconds.

. You can lock/unlock the product with both the key and the keypad. Please referto the

programming table on the following page for function setup instructions.

MPORTANT

. The use of alkaline batteries is recommended to stabilize the power supply.
. Do not mix battery brands or mix alkaline batteries with regular zinc-oxide batteries.

. Do not use any chemical liquid or lubricating oil with additives to clean the lock body.

Use of these products could damage the product's surface and/or mainboard.

. If there is any problem with the product, please contact LockeyUSA "LDS".




Fu nCtIOI‘l Programmmg Programming Code (PC)

NOTE: LOCK MUST BE IN UNLOCKED POSITION TO PROGRAM USER Code (UC)

Add New User Codes (Refer to #6)
(_Enter PC ] mp (E-DIGITAL) mp (1) mp (E-DIGITAL) =p [ Enter New UC) mp (E-DIGITAL)

Remark :
Upto 6 sets of User Codes can be saved. User Code should be 4-10 digits in length.

Delete Existing User Codes (Refer to #7)

Enter the UC
E-DIGITAL E-DIGITAL |
[ EnterPC]Q( )Q@» [ yot:j;ni'ggto Q

Delete All User Codes (Refer to #8)

(_Enter PC ) mp (EDIGITAL) mp (3 ) mp

Remark : Auto-locking and Keypad locking function will be disabled when User Codes
are deleted. The lock can only be operated by the key during this time.

Change Programming Code (Refer to #5)
(_Enter PC ) mp (E-DIGITAL) mp (4 ) mp (E-DIGITAL) mp | Enter New PC | mp (E-DIGITAL)

Turn Autolock On/Off (Refer to #14)
(_Enter PC ) mp (EDIGITAL) mp (5 ) mp

Remark : The preset delay-time is 30 seconds, you can change the time by following
the instructions below.
Repeat the steps to cancel the Auto-locking function.

Set Autolock Time Delay (Refer to #14)

( Enter PC ]-)(E-Dle\D-)@-) -» -

Remark: 10-99 seconds delay-time available.

Programming Code (PC)

USER Code (UC)
Turn Mute On/Off (Refer to #15)

(_EnterPC ) mp (E-DIGITAL) mp (7)) mp

Remark : Repeat same steps to turn sound On/Off.
LED illumination is still functioning when it's in mute,
but there will be no warning alarm.

Enable/Disable All User Codes (Refer to #9)

[ Enter PC ) mp (EDIGITAL) mp (2 ) wp

Remark : Auto-locking and Keypad locking function will not work when User Codes
are disabled. The lock can only be operated with the key during this time.
Repeat the steps to enable the User Codes again.

Create Disposable User Codes (Refer to #10)

Enter new

(_EnterPC ) mp (E-DIGITAL) mp (9) mp w | disposable |mp

uc

Remark : Disposable user code is no longer valid once it's been used.

Restore All Preset Factory Settings (Refer to #11)
Press ® on the interior of the receiver module.

Remark: Press and hold button for more than 5-seconds. The restoration will be complete
after you hear 3 long beeps.

PLEASE NOTE: LOCK MUST BE IN UNLOCKED POSITION TO SUCCESSFULLY
COMPLETE PROGRAMMING FUNCTIONS.

Visit www.LockeyUSA.com for additional product information.




Notice : The changes or modifications not expressly
approved by the party responsible for compliance could
void the user's authority to operate the equipment.

IMPORTANT NOTE : To comply with the FCC RF exposure
compliance requirements, no change to the antenna or
the device is permitted.

Any change to the antenna or the device could result
in the device exceeding the RF exposure requirements
and void user's authority to operate the device.

This device complies with Part 15 of the FCC Rules.
Operation is subject to the following two conditions :
(1) this device may not cause harmful interference, and
(2) this device must accept any interference received,
including interference that may cause undesired
operation.

LOCKEY DIGITAL SYSTEMS INC.
Mt. Pleasant Michigan
www.lockeyusa.com

o
E-DIGITAL

ELECTRONIC LOCK SERIES

E-DIGITAL ELECTRONIC LOCK
REMOTE CONTROL MANUAL

Remote is well programmed already. You may use
it without programming only if you want to add
more remotes or change the setting.

Please refer to the following instructions.

FEATURES

1. Power & Battery

1-1 Power : a CR2025 lithium button cell battery needed.

1-2 Changing Battery : Please use slotted head screwdriver to
separate the plastic cover and change the battery.

1-3 All setting will not be changed or eliminated because of
battery replacement.

2. Transmission Distance
15 meters transmission distance without obstruction,

3. Lock the lockset
Press @ on remote once
— Green light flashes twice with 2 short beep.
— The door is locked.

4. Unlock the Lockset

Press " on remote once.

— Green light flashes twice with 2 short beep.
— The door is unlocked.

PROGRAMMING

1. Add Remotes (under unlock status)

(1) Enter Programming Code

— Press

— Enter ® ©

— Press

— Press any button on remote

— It's usable after 8 seconds

(2) 3 short warning sounds when re-add the same remote.
The remote is still valid, and won't occupy the number of
available remotes.

(3) Up to 5 remote controls available.

2. Delete All Remotes
(1) Enter Programming Code
— Press

— Press M @

— Press
(2) It's not available to delete individual or specified remote.

When you delete remotes, you delete all of them.

REMARK

1.Please do not install the battery backwards.

2.1t might cause a breakdown of the remote if the battery is
connected backwards.

3.The remote will not function  once the low-battery
warning alarms until the battery is replaced.




DIGITAL M-210 DEADBOLT
INSTALLATION INSTRUCTIONS

®

pVN
2
o

e (oo} RN [o3] (V3] - (O8] [N [

Part Name M210
Outside Body
Inside Body
Rubber Trim Plate
Mortised Strike
Spindle 40-55mm.
Spindle 30-45mm.
Machine Screw M4 x 50mm
Machine Screw M4 x 35mm
Wood Screw M4
Extra Code Tumblers (Red)
Extra Non-Code Tumblers (Blue)
Adjustable Deadbolt 2 3/8” -2 3/4”
Tweezers
Hex Bolts
Brass Support Pin 1

M210 | M210 DC
0 8
ol

Inside Body M210DC:

(][5 IV (] [\ PN [ /N [NS] P (O

=

N

7
DC= Double Combination

e [
(S;] ¥Ny (7%] N1 BN 'S

INSTALLATION INSTRUCTIONS:

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Prep Door for Installation with Template (If door is preprepped with 2 1/8” hole, use Bonus M210EZ Mount Kit and Instructions)
Place template (supplied) on door and fold along door’s edge.
Mark holes for 2 3/8” or 2 3/4” backset. Drill holes as instructed.

Fig. 1 Fig. 2
Step 3: Identify Door Handing R|GHI19HAND LEF-ll-gHAND
(The M210 is pre-handed for right-hand doors)

Right-Hand Doors — From exterior of door, hinges are on right-side (Fig. 1).
Left-Hand Doors — From exterior of door, hinges are on left-side (Fig. 2).

To change handing for left-hand doors, use a #1 phillips screwdriver to remove
two blue screws and cover plate from Outside Body (Fig. 3). Handing Pin
Move the handing pin from the right side of the outside body to the hole on the left side.

Replace plate and screws.

*Note: For M210DC — Inside Body must be handed opposite from Outside Body.

Fig. 4

Step 4: Install Support Pin & Hex Bolts (Fig. 4)
Install Brass Support Pin (#15) into either hole on Inside Bodly.
Install/screw Hex Bolts (#14) into the top and bottom of the Outside Body.

*Note: For M210DC -- No support pin is used on double combination locks.

, LIFT
Fig.5 ||l ADJUSTABLE PIN

Step 5: Adjust Deadbolt (if necessary) & Install

Adjustable Deadbolt (#12) is preset to 2 3/8” backset.

To adjust, lift pin and slide to 2 3/4” (Fig. 5).

With arrow pointed UP, insert Deadbolt and secure with two (2) Wood Screws (#9).

Continued on Reverse Side




INSTALLATION INSTRUCTIONS CONTINUED:

Step 6: Verify Correct Spindle Length (Fig. 6)

With deadbolt (#12) installed, hold the Inside Body (#2) and Rubber Trim Plate (#3) to the door.
Place Spindle (#5/6) through Deadbolt, into the Inside Body, as far as possible.

Spindle should extend from exterior of door 3/8” min. to 5/8” max.

If the 30-45mm spindle (#6) is too long, cut it to the correct length.

(=)

*IMPORTANT:

¢
If spindle extends less than 3/8” it may not engage the lock. é =3/8" to 5/8"
If spindle extends more than 5/8”, it will cause the lock to bind. \
Step 7: Install the DIGITAL M210
Place the Rubber Trim Plate (#3) on the backside of the Outside Body (#1). Right-Hand Door
Place the Outside Body on the door. The hex bolts (#14) should extend into the top and bottom holes. (INSIDE DOOR) &

The Support Pin (#15) on the Inside Body should extend through the hole in the Deadbolt (#12).
Insert the Spindle (#5/6) into the Outside Body (#1) ensuring it’s in the proper angled position.

*|MPORTANT: SPINDLE POSITION/ANGLE
RIGHT-HAND DOORS: From inside, place spindle through Deadbolt, into the Outside Body (#1) in the 2:00/8:00 position.

LEFT-HAND DOORS: From inside, place spindle through Deadbolt, into the Outside Body (#1) in the 10:00/4:00 position. Pogsgllggm

Using a screwdriver, secure the lock to the door with the Screws (#7 or #8). Left-Hand Door
(Screw length is dependent on door thickness.) ( INSIDE DOOR )
Test the operation of the Deadbolt by turning the inside thumbturn.

Locate position where Deadbolt strikes door frame and install Mortised Strike (#4).

Test your M210 Digital Door Lock before closing the door:
From Inside: Turn knob to lock, turn knob to unlock. For M210DC, use code to unlock.
From Outside: Turn knob to lock, use combination to unlock.

*NOTE: If combination is needed to lock, change handing (as described in Step #3).

POSITION

. .. OF SPINDLE
Your installation is now complete. Z
PLSAVE- — — — — — — — — — — — — — — — — — — — — — -
How to Change User Code/Combination
1. Using a #2 screwdriver, remove the two (2) Red Screws. 4. With the thumb-turn held 90° to the right or left, remove/add
2. Carefully remove cover plate. CODE (Red) and NONCODE (Blue) tumblers to create the desired code
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
WARNING: Springs are attached to plate. 5. After changing your code, release the thumb-turn to secure the

tumblers in place.

8@@@@@@0 9"3‘9
Of
002028800 )

3. TURN & HOLD thumb-turn to right or left 90° to release tumblers. | 6. Replace the cover plate and secure with two (2) Red Screws,
IMPORTANT: THUMB-TURN MUST be turned 90° and held when using a #2 screwdriver.

removing and inserting tumblers. Failure to do so will damage the _ | 7. TEST CODE before installing/re-installing lock.

lock and void the warranty.

Turn & Hold

WARNING:
Do NOT force tumblers into position!

Important:
Hold knob in

TURNING THUMBTURN 90°= CLEAR POSITION. & »

For more helpful tips and installation videos, visit www.LOCKEYUSA.com




Template for

Adjustable Dead Bolt
1” Throw Dead Bolt J

2 3/8” or 2 3/4”

2 3/8”

2 3/4” Door

To Adjust Backset: Lift on the threw pin,
move slotted hole to 2 3/4” setting by
sliding inter slide toward back of dead bolt
set.

M-210 & Lockey 2000

Dead bolt is set to 2 3/8” backset from factory.

f}
\j
Fold on Edge of Door 2 3/8” Left

Fold on Edge of Door 2 3/4” Backset

4916

23/8”

Mark in Slot for 7/8” 23/4”
Hole at Center of
Door Edge

Mark in Slot for 7/8”
Hole at Center of Door

Edge 1
“mimim—
1

1

IMPORTANT
1. You must ensure that inside of 22mm (7/8”)

mortise hole is enlarged by moving wood drill
up and down or using a small chisel — This is to
give clearance for movement of ‘CAM” which
moves up as deadbolt is thrown (as shown in
diagram below*) — check clearance required by
turning spindle in deadbolt and view movement
of cam.

Right Hand Hinged Door Left Hand Hinged Door
2 3/8” 03/’

2. Ensure you drill hole in door frame deep
enough to accept the (1”) throw.

23/8” 23/8”




DiciTAL M210EZ DEADBOLT
INSTALLATION INSTRUCTIONS
M210EZ | M210EZDC

Inside Body M210EZDC: ||No. Part Name M210E,
1 Outside Body 1
2 Inside Body 1
3 Rubber Trim Plate 2
4 Mortised Strike 1
5 Spindle 40-55mm. 1
6 Spindle 30-45mm. 1
7 Machine Screw M4 x 12mm 2
7 8 | Machine Screw M4 x 25mm (DC)l 2
DC= Double Combination || 9 Wood Screw M4 4
10 Extra Code Tumblers (Red) 1
11 | Extra Non-Code Tumblers (Blue)l 2
2 | Adjustable Deadbolt 2 3/8” -2 3/4” 1
3 Tweezers 1
14 Brass Support Pin 1
15 EZ Mounting Plates (A&B) 2
16 Machine Screw M4 x 35mm 2
17 Machine Screw M4 x 17mm 2
18 Machine Screw M5 x 1/2” 2
INSTALLATION INSTRUCTIONS:

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Identify Door Handing

(The M210EZ is pre-handed for right-hand doors) Fig. 1 Fig. 2
RIGHT HAND LEFT HAND

Right-Hand Doors — From exterior of door, hinges are on right-side (Fig. 1).
Left-Hand Doors — From exterior of door, hinges are on left-side (Fig. 2). _

S

To change handing for left-hand doors, use a #1 phillips screwdriver to remove I I
two blue screws and cover plate from Outside Body (Fig. 3).
Move the handing pin from the right side of the Outside Body to the hole on the left side.
Replace plate and screws.

*M210EZDC - Inside Body must be handed opposite from Outside Body.

Step 3: Place Outside Body on EZ Plate A
Place Rubber Trim Plate (#3) on EZ Plate A (#15).
Place the Outside Body (#1) on EZ Plate A and screw into place with two (2) M5 x 1/2” screws (#18).

Fig.5

Step 4: Install Brass Support Pin (Fig. 5)
Install Brass Support Pin (#14) into EZ Plate B (#15) on either side.

Fig. 6
Step 5: Adjust Deadbolt (if necessary) & Install
Adjustable Deadbolt (#12) is preset to 2 3/8” backset.
To adjust, lift pin and slide to 2 3/4” (Fig. 6).
With arrow pointed UP, insert Deadbolt and secure with two (2) Wood Screws (#9).

Continued on Reverse Side




Step 6: Attach EZ Plates

Place EZ Plate A (#15) with Outside Body attached to outside of door.

Place EZ Plate B (#15) to the inside of the door making sure the

Brass Support Pin fits through the hole in the deadbolt.

Hold tight to door and secure plates together using two (2) M4 x 17mm. (#17) or M4 x 35mm. screws (#16).

INSTALLATION INSTRUCTIONS CONTINUED: I

e

*IMPORTANT: SPINDLE POSITION/ANGLE:

7
RIGHT-HAND DOORS: From inside, place spindle through Deadbolt, into the Outside Body (#1) in the 2:00/8:00 position.
LEFT-HAND DOORS: From inside, place spindle through Deadbolt, into the Outside Body (#1) in the 10:00/4:00 position.

*IMPORTANT: 3/8"t05/8"=
If spindle extends less than 3/8” it may not engage the lock.
If spindle extends more than 5/8”, it will cause the lock to bind.

Step 7: Verify Spindle Length

Insert the Spindle (#5 or #6) at the correct angle (below) into the large hole in EZ Plate B, through the deadbolt and into the Outside Body.
Spindle should extend from interior of door 3/8” min. to 5/8” max. Right-Hand Door e A oo

If the 30-45mm spindle (#6) is too long, cut it to the correct length.

(INSIDE DOOR) v (INSIDE DOOR )

POSITION POSITION
o‘;sg.,‘,’m OF SPINDLE

Step 8: Complete Installation and Test Lock
Place Rubber Trim Plate to EZ Plate B (#15).
Place Inside Body to EZ Plate B and secure using two screws (M4 x 12mm (#7) for single combination, M4 x 25mm (#8) for DC).

Test your M210EZ Digital Door Lock before closing the door:
From Inside: Turn knob to lock, turn knob to unlock. For M210EZDC, use code to unlock.
From Outside: Turn knob to lock, use combination to unlock.

*NOTE: If combination is needed to lock, change handing (as described in Step #3).

Locate position where Deadbolt strikes door frame and install Mortised Strike (#4).
Your installation is now complete.

WARNING:

Do NOT force tumblers into position!

TURNING THUMBTURN 90°= CLEAR POSITION. ;o

XSAVE———————————————————————
How to Change User Code/Combination
1. Using a #2 screwdriver, remove the two (2) Red Screws. 4. With the thumb-turn held 90° to right or left, remove/add
2. Carefully remove cover plate. CODE (Red) and NONCODE (Blue) tumblers to create the desired code
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
WARNING: Springs are attached to plate. 5. After changing your code, release the thumb-turn to secure the

tumblers in place.

P

Turn & Hold

3. TURN & HOLD thumb-turn to right or left 90° to release tumblers. | 6. Replace the cover plate and secure with two (2) Red Screws,
IMPORTANT: THUMB-TURN MUST be turned 90°and held when using a #2 screwdriver.

removing and inserting tumblers. Failure to do so will damage the
lock and void the warranty.

7. TEST CODE before installing/re-installing lock.

Hold knob in

/
T Ty vr g
Bl
Important: T R
right or left, while
changing code

\ |\ S v e S w— —
(=7

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com




Lockey M213 Installation Instructions

Parts List
NO. | Name of Parts m213 | Outside Body Diagram Inside Body Diagram

1 Outside Body 1
2 Inside Body 1 O
3 Rubber Escutcheon 1
4 Hold-Open Switch 1
5 Spindle for Right Handed Door 1 O
6 | Spindle for Left Handed Door !
i Machine Screw M4 x 50mm 2
8 Machine Screw M4 x 35mm 2 O
9 Wood Screw M4 4
10 Extra Combination Tumblers (Red) 1
11 Extra Non-Combination Tumblers (Blue) 2 4
12| Nite-Latch ! 2
13 | Tweezers 1
14 Hexagonal Bolts 2

Instructions
PLEASE NOTE: You must secure the Outside Body to the door before mounting the Inside Body.

1.

2.

Before installing, change your User Code, referencing the "How to Change Code" instructions.
Determine door handing. From the exterior of the door, a Right-Handed door will have hinges on the
right side of the door and a Left-Handed will have hinges on the left side of the door. Change handing
of lock as needed using included "M210" Instructions.

Using Inside Body template, determine and mark desired placement (trace outline of body) and
mark "through" holes.

Drill "through" and spindle holes.

Determine correct spindle. There are two (2) spindles included, one for Right-Handed and one for
Left-Handed configurations.

Ensure Hexagonal Bolts (#14) are attached to Outside Body.
Mount Outside Body on door, guiding hexagonal bolts through the top and bottom "through" holes.

Secure Outside Body to door using the included washers (2) and machine screws (2).

From the interior of the door, place flat end of spindle through the spindle hole into the Outside Body
ensuring that it is positioned correctly. The twisted end of the spindle should now be exposed through
the interior of the door.

10. Mount Inside Body on door ensuring that the spindle is positioned correctly and engages the lock.

11. Secure Inside Body to door using provided wood screws.

12. Test lock to ensure proper operation and correct handing.



L) S A M220 DEADBOLT | C120 DEADBOLT | C150 HOOKBOLT

DIGITAL SURFACE MOUNT
INSTALLATION INSTRUCTIONS

No. Part Name M220 | C120 | C150 [‘\ c150

1 Outside Body 1 1 1 f g ,,F

2| Inside Body 1 1 1 8 ol

3 | Rubber Trim Plate 2 2 2 ' k} C120/M220

4 Mortised Striker (not shown) 1 1 1 ; 8 'ﬂ'& i

5 | Surface Strike Plate 1 1 1 ‘ & 3
6 | Spindle 45-55 mm. 1 1 1 3 & 3 " w
7 | Spindle 35-45 mm. 1 1 1 o WINPT ] ) A
8 | Machine Screw M4 x 55 mm. 2 2 2 9 Yl y ‘

9 Machine Screw M4 x 45 mm. 2 2 2 ' (\ | ‘

10 | Wood Screw 2 2 2 2-B ] ;Q

11 | Extra Code Tumblers (Red) 1 1 1 9'

12 | Extra Non-Code Tumblers (Blue) 2 2 2 ZA 6 75

13 | Spacers for Body (1/16” / 5/64”) (Not Shown) 1 3 3

14 | Thin Door Kit (TDK) (Not Shown) 1 1 1 16~ U SI“"‘:‘:"

15 | Hex Bolts 2 2 2 033 5% P

16 | Tweezers 1 1 1 E"j ﬁ LIO\ ll

112 | ‘1)
Step 1: Change User Code (OPTIONAL) _'\5/

If you wish to change your code, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

BEFORE DRILLING — PLACE INSIDE BODY (#2) AND STRIKE TO DOOR TO

ENSURE POSITION WILL BE APPROPRIATE FOR INSTALLATION. YOU MAY

NEED TO TRIM DOOR JAMB OR MORTISE THE STRIKE TO INSTALL.

1. Place template (supplied) on door and fold along door’s edge.

2. Depending on door configuration, you may need to change
handing and/or reverse bar (M220/C120) from long to short. See
Steps 3 and 4.

3. Drill holes as instructed and mark location for Strike.

Step 3: Identify Door Handing

Fig. 1
RIGHT HAND

Fig. 2

Right-Hand Doors — From exterior of LEFT HAND

door, hinges are on right-side. (Fig. 1) [;}

A
=3
. @ HINGE [:;.]
Left-Hand Doors — From exterior of E]; 1\{

door, hinges are on left-side. (Fig. 2)

The M220, C120 and C150 are factory pre-handed
for right-hand doors. To change handing,

remove two (2) blue screws and cover plate

from Outside Body as shown.

Now, move the pin from the right side
of the outside body to the hole on the left side.
Replace plate and screws.

Step 5: Verify Correct Spindle Length
Door Edge

1. Hold the Inside Body (#2) and Rubber !nside Body (#2)

Trim Plate (#3) to the door. N
2. Place Spindle (#7) through door into the

Inside Body, as far as possible. |:|
3. Spindle should extend from exterior of door

3/8” min. —5/8” max. wpirasR

4. If Spindle is too long, cut it to the correct length using Pliers.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

Step 4: Adjust Deadbolt Length — M220/C120 ONLY (if necessary)

Depending on door configuration, you may
need to reverse the bar from long to short.

Remove silver screws and plate from the inside _
body and reverse bar. Replace the plate and
secure with silver screws.

Step 6: Install the DIGITAL M220/C120/C150
I~ c150

1. Place the Rubber Trim Plate (#3) * ¥ . 0w
on the backside of the Outside LY A
Body (#1). o 1 ] ' 1

2. Place the Outside Body onthe ¢ “1i#
door. The hexagonal bolts (#15) 28 :,'-'
should extend into the top and
bottom holes. @]

3. Insert the Spindle (#6/7) through the door
into the Spindle Hole in the Outside Body.

4. Place the Rubber Trim Plate (#3) on the backside of Inside Body.

5. Place the Inside Body to the door ensuring that the Spindle is
inserted into the Spindle Hole.

6. If the Inside Body is not flush with the Surface Strike location, use
Spacers (#13) to make Inside Body flush with Strike location.
NOTE: If Spacers to not make Inside Body flush with Strike location,
you may need to trim the door jamb or mortise the strike.

7. Insert the M4 Screws (#8/9) into the top and bottom holes of the
Inside Body and secure with a screwdriver.

MH 3

8. Test the lock to ensure the Deadbolt/Hookbolt is retracting correctly

when turning the inside/outside knob.
9. Install Strike Plate in proper position and secure with Wood Screws.



Step 7: For Doors Under 1” Thick (if necessary)

1. For doors under 1” thick, you will need to cut the spindle to
appropriate size. See Step 5 to verify correct Spindle Length.

2. Remove Hex Bolts and use M5 Screws supplied in Thin Door Kit
(TDK) packet to secure lock to door.

l M5 Screws 1 B
Less
than
L TDK U 1”7
o4 ]
Q)::’J 1 i H

Step 8: Using the DIGITAL M220/C120/C150

From Outside:

The door will LOCK by turning the knob to extend the
deadbolt/hookbolt.

To UNLOCK, turn the knob to clear the lock, enter the combination and
turn the knob to retract the deadbolt/hookbolt.

NOTE: IF DEADBOLT/HOOKBOLT RETRACTS WITHOUT COMBINATION
AND REQUIRES COMBINATION TO LOCK (EXTEND), YOU MAY NEED TO
CHANGE HANDING. SEE STEP 3.

From Inside:

The door will LOCK and UNLOCK by turning the knob to extend or
retract the deadbolt/hookbolt.

DIGITAL C-SERIES | M-SERIES
HOW TO CHANGE CODE

1. Using a #2 screwdriver, remove the two (2) Red Screws.
2. Carefully remove cover plate.
WARNING: Springs are attached to plate.

RED = CODE TUMBLERS oo =

[, /\k‘j’/‘
BLUE = NON-CODE TUMBLERS ‘(""' “;
Turn & Hold

3. TURN & HOLD thumb-turn to right or left to release tumblers.
IMPORTANT: THUMB-TURN MUST be turned and held when removing
and inserting tumblers. Failure to do so will damage the lock and void
the warranty.

WARNING:
Do NOT force tumblers into position!

T v

YT =
\ -

Important: \ \T U

Hold kneb in q

clear position,

Y

TURNING THUMB-TURN=
CLEAR POSITION

right or left, while

changing code

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code

IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).

5. After changing your code, release the thumb-turn to secure the tumblers
in place.

6. Replace the cover plate and secure with two (2) Red Screws,
using a #2 screwdriver.
7. TEST CODE before installing/re-installing lock.




Jeg buoq HOO0Jd 40 2903 NO 104 7
-4
]
3
a
Ol/. b wnagpy m
||||||||||||||||||||||||||||||||||| Imrmvlj - & E %
¥0OQ 40 I9aANO G104 Jeg Loys o m mz
= S © ) m
Tn ) m o : m =
M (2] m - mm m
A = @ O e e
== 7 R
= nKp . NI - : (\ |
© o
=S . 2 B
~= 2|§ pl g
A o
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII Z | g%
¥OOd 40 IDAINO @104  Jeg pous m m &
o
-
4
ieg buol  YOOQ 40 3DAF NO G104




No. Part Name M230
1 | Outside Body 1
2 | Inside Body 1
3 | Rubber Trim Plate 2
4 | Mortised Strike 1
5 | Strike Plate 1
6 | Spindle 40-55 mm. 1
7 | Spindle 30-45mm. 1
8 Machine Screw M4 x 50 mm. 2
9 Machine Screw M4 x 35 mm. 2
10 | Wood Screw M4 4
11 | Extra Code Tumblers (Red) 1
12 | Extra Non-Code Tumblers (Blue) 2
13 | Adjustable Latch 2 3/8” —2 3/4” 1
14 | Tweezers 1
15 | Hex Bolts 2
16 | Brass Support Pin 1

Step 1: Change User Code (OPTIONAL)

If you wish to change your code, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

1. Place template (supplied) on door and fold along door’s edge.
2. Mark holes for 2 3/8” or 2 3/4” backset.

3. Drill holes as instructed.

NOTE: For Pre-Prepped 2 1/8” doors, you only need to drill top hole.

Step 3: Adjust Latch (if necessary) & Install

1. Adjustable latch (#13) is factory preset for a 2 3/8” backset.
2. For23/4” backsets, slide the Cam assembly on the latch to 2 3/4”.
3. Insert latch into door and secure with Wood Screws (#10).

LU J—— .
| T’ Y ) - o)
= T E T o
' T ‘,“_\ O i
"\.:' I 23/8" D "
23/4 L ~U

Step 4: Install Support Pin & Hex Bolts
Install Brass Support Pin (#16) into Inside = e
Body as shown in the figure to the

!; e )
Right [Left]. I | ®
support pin
|
Install/screw Hex Bolts (#15) into the top \{ N o J
and bottom of the Outside Body '_g = el
as shown in the figure [Far Right]. |nsid§ Body . Body

Step 5: Verify Correct Spindle Length

1. With latch (#13) installed, hold e B°dy< Door Edge
the Inside Body (#2) and Rubber Trim 2/8" 105/
Plate (#3) to the door. Thumb-Turp

2. Place Spindle (#6/7) through latch, into O Efii
the Inside Body, as far as possible.

3. Spindle should extend from exterior of door spinde (#5/6)
3/8” min.—5/8"” max.

4. If the 30-45 mm (#7) is too long, cut it to the correct length.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

Step 6: Determine Knob Turn Direction (to unlock)
The lock is preset to unlock when turned clockwise after combination is
entered.

If desired, you can unlock the door with a
counter-clockwise turn. Remove the two ’ =3

blue screws and move the pin to the

= ———

*M230 DC - Inside Body pin must on opposite side from Outside Body.

opposite side as shown.

Step 7: Install the DIGITAL M230

1. Place the Rubber Trim Plate (#3) on the /43
backside of the Outside Body (#1).

2. Place the Outside Body
on the door. The hexagonal |
bolts (#15) should extend -
into the top and bottom holes.

3. The Support Pin (#16) on the Inside
Body should fit into and extend through
the hole in the Latch (#13).
INSTRUCTIONS CONTINUED ON REVERSE SIDE

Rubber Trim Plate



Step 7 cont: Install the DIGITAL M230

1. Insert the Spindle (#6/7) into the Outside Body (#1) ensuring it’s in the proper angled position.

*(SEE FIGURES BELOW)

2. Using a screwdriver, secure the lock to the door with the Screws (#8 or #9).

Screw length is dependent on door thickness.
3. Test the operation of the Latch by turning the inside thumb-turn.

Locate position where Latch strikes door frame and install Mortised Strike (#4) and Strike Plate (#5). _—

*IMPORTANT: SPINDLE POSITION/ANGLE

CLOCKWISE TURN TO UNLOCK WITH COMBINATION

The M230 is factory preset to unlock with a clockwise turn
when the combination is entered. The Spindle MUST be placed
through the latch, at a 10:00 — 4:00 angle as shown.

COUNTER-CLOCKWISE TURN TO UNLOCK WITH COMBINATION

If desired, the M230 can be unlocked with a counter-clockwise
turn when the combination is entered. To unlock the M230 with a
counter-clockwise turn, please refer to Step 6 to change the
Handing Pin.

After changing the Handing Pin, the Spindle MUST be placed
through the latch at a 2:00 — 8:00 angle as shown.

-

- =|
. L
Rubber Trim Plate

{/g

Turn Knob Counter-Clockwise to Unlock

Turn Knob Clockwise to Unlock

Spindle Position:
10:00 - 4:00 10:00 - 4:00

s e
Qo o®

I

\ o/
I POSITION  POSITION
Z

Spindle Position:

L—

OF SPINDLE OF SPINDLE

Spindle Position:

/_\ 2:00 - 8:00

@%}
\

Spindle Position:
2:00 - 8:00

(
N

OF SPINDLE OF SPINDLE

DIGITAL M-SERIES

HOW TO CHANGE CODE

1. Using a #2 screwdriver, remove the two (2) Red Screws.
2. Carefully remove cover plate.
WARNING: Springs are attached to plate.

/

| A
RS
\.‘i R
— Y AN
;\éiﬁtsty @%
(Rt one s\ I

R e i e e -
RED = CODE TUMBLERS (>—TF

BLUE = NON-CODE TUMBLERS

Turn & Hold
I

4.  With the thumb-turn held to right or left, remove/add CODE (Red) and
NON-CODE (Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).
5. After changing your code, release the thumb-turn to secure the tumblers

in place.

3. TURN & HOLD thumb-turn to right or left to release tumblers.
IMPORTANT: THUMB-TURN MUST be turned and held when removing
and inserting tumblers. Failure to do so will damage the lock and void

the warranty.

WARNING:
Do NOT force tumblers into position!

R N

Important:

Hold knob in
clear position,
right or left, while
changing code

TURNING THUMB-TURN =
CLEAR POSITION

6. Replace the cover plate and secure with two (2) Red Screws,
using a #2 screwdriver.
7. TEST CODE before installing/re-installing lock.

4

fom = = = =<
%\Q ©O QO o o\
- A\
-~~~ \
)\~ A - -

T b s

. ==

TR R R

(\ " b & & ?
\\ /




MEASURE CENTER FOR
22mm HOLE FOR LATCH
OR ADJUST AS NECESSARY

TEMPLATE

LOCKEY M230

Ll
|
|
|
|
|
|
Sksmm=) |
- - 8mm - -
‘ ) l
X [
|
|
|
|
|
|
|
1 E I
E
e |
I~ E Q|
g 2
= o
° |
= 2
2 ! =y
(5 < |
z (@) |
o a |
E 12mm ! o |
: ['\ N
o
DA ) ,
NZANPA T |
8mm 8mm E :
(=]
ol '
- </ Smm L - ! R :
\ |
|
|
|
i
FOR RIGHT HINGED DOOR FOR LEFT HINGED DOOR |
- 60 mm - 60 mm _I

N

MEASURE CENTER FOR

22mm HOLE TOR LATCH
OR ADJUST AS NECESSARY

-



“INSTALLATION INSTRUCTION OF DIGITAL DOOR LOCKS”

NO.1150 (WITH LATCHBOLT) NO.1150R ... RIGHT HAND TYPE

NO.1150L ... LEFT HAND TYPE

I. THE NAME AND DETAILS OF THE ENCLOSED PARTS

NO. NAME OF PARTS CONTENT
1. OUTSIDE BODY, WITH LEVER HANDLE 1 PCE
2. INSIDE BODY, WITH LEVER HANDLE 1 PCE
3. RUBBER ESCUTCHEON 2PCS
4. LATCHBOLT (60m/m BS or 70m/m BS) 1 PCE
5. STRIKE-PLATE 1 PCE
6. MORTISED STRIKER (PLASTIC MADE) 1 PCE
7. SPINDLE 1 PCE
8. SUPPORT PIN IECE
9. TAPPING SCREWS (4x16) 4 PCS

10. MACHINE SCREWS (5x55) 4 PCS

11. MACHINE SCREWS (5x45) 4 PCS

12. TWEEZERS 1 PCE

13. RED TUMBLER (KEY TUMBLER)...CODE 1 PCE

14. BLUE TUMBLER (KEYLESS TUMBLER)...NON-CODE 1 PCE

15. CARD FOR “SECRET NUMBER (CODE NUMBER)” 1 PCE

Il. HOW TO INSTALL THE DIGITAL DOOR LOCKS

ik

@ P

S5

e

@

©

10.

12.

13.
14.

15.

. Break the spindle according to the door thickness.

Take out a template provided and confirm the “back set” (60m/m or 70m/m) on the surface and
the reverse side.
Decide the position for Digital Door Lock.

. Mark the hole center for 4 small holes (10m/m dia.) and for a large hole (32m/m dia.) on the

surface of the door. And also mark the hole center of 1 slot (22m/m dia.) for the Latchbolt at the

95m/m depth.
IMPORTANT :
To ensure trouble free operation, the holes MUST be drilled accurately.

Insert the Latchbolt into the slot. Scribe a line around the Latchbolt face and remove it.
Chisel out the scribed space until the Latchbolt face is flush with the surface of the door edge.

. Fasten Latchbolt with the tapping screws.
IMPORTANT : LATCHBOLT

Ensure that the Latchbolt face is EVENLY fitted. FACE

HEAD
X CUTTING LINE 7

. Install the Support Pin provided, at a hole of the direction

where the lever handle is installed, on the backside of outside body. (fig 1)
Fit Rubber Escutcheon provided, to the back-side of outside body.

. Insert the 4-Hexagonal Posts and Support Pin through the holes. (fig 2)

Insert the spindle into the hole of the backside on the outside body through the hole of Latchbolt
from the indoor side.

IMPORTANT : ;
The spindle must lay at an angle toward the Latchbolt head. (fig 3)

Fit the Rubber Escutcheon to the inside body.

Fit the inside body over the spindle from the indoor side making sure the spindle remains laying
at an angle toward the Latchbolt head.

Select the machine screws and fasten them through the inside body, making sure they are not to
loose or to tight. (fig 4)

IMPORTANT :
— BEFORE CLOSING THE DOOR, TEST THE OPERATION OF THE DIGITAL DOOR LOCK. =
®FROM OUTSIDE DOOR :
A) TAKE OUT A CARD SHOWING YOUR CODE MUMBER.
B) ENTER YOUR CODE NUMBER — PREFIXED BY 'C'.
C) TURN THE OUTSIDE LEVER HANDLE.
D) CONFIRM THAT THE LATCHBOLT HEAD IS RETRACTED SMOOTHLY.
®FROM INSIDE DOOR ::

A) CHECK THE OPERATION OF THE LATCHBOLT BY TURNING THE INSIDE LEVER HANDLE.

LEVER HANDLE

center of door edge through the template. INSTALL ‘SUPPORT /!
. Drill holes as per the Template. PIN' TO THIS HOLE
| o ‘ i ON #1150R (RIGHT
As the slot for Latchbolt, ‘60 m/m back set’ is 85m/m depth and ‘70m/m back set' is HAND TYPE)

LATCHBOLT (&

BACKSIDE OF OUTSIDE BODY

HOLE FOR “SUPPORT PIN"

B

(fig 1)

—— RUBBER
ESCUTCHON

(fig2)

A VIEW FROM INDOOR SIDE FOR #1150R

SUPPORT PIN
|

THE SLANT OF

*,. SPINDLE

LATCHBOLT HEAD
/

| LATCHBOLT FACE

DOOR EDGE

(fig 3)

(fig 4)



16. Close the door to determine the correct position where the Latchbolt head touches to the

face of the door jamb and mark out. LATGHBOLT HEAD COMES OUT
17. Chisel out the space for the mortised striker and for the Strike Plate so that Strike Plate is STRIKE PLATE 4_0
flush with the surface of the door jamb. = =
18. Fasten them with the tapping screws. sq DUALRE
IMPORTANT : O ANTI THRUST PIN REMAINS IN
Make sure that when the door is in the closed/locked position, the Latchbolt Head ONLY (fig 5) RUEEETRECTED EOSITION

inserts into the mortised striker in door jamb and NOT the Anti Thrust Pin, (fig.5)

((The Anti Thrust Pin is retracted by pushing against the Strike Plate to deadlock the Latchbolt.))

lll. HOW TO USE PASSAGE FUNCTION

1. Push “C-button” to clear and then “R-button”, continuously.
2. Then, enter your code number, excepting “C”. g EULTON

The lever handle is in a condition of always “free”.

® To restore to the locking function, press the R-button and then C-button.

IV. HOW TO CHANGE THE CODE NUMBER

Before attempting to change your code number, please read this information carefully.

RED TUMBLERS :
BLUE TUMBLERS :
“C” TUMBLER :

WHITE TUMBLER :
(“R” TUMBLER)

CODE

NON-CODE

FOR CLEAR, CANNOT BE REMOVED.

FOR PASSAGE FUNCTION, IF REMOVED, PASSAGE FUNCTION DOES NOT WORK.
DO NOT REPLACE WITH ANY OTHER TUMBLER.

When changing your code number, it is very important that all the ‘code’ and ‘non-code’ tumblers are replaced correctly.

Failure to follow the instructions could result in 4
1 damage to your lock so please read carefully

While pressing in the C button make sure that the coloured

top end of the tumbler is facing up wards.Match the /4 of

Hold the outside body in the horizontal position. the tumbler to the exact cut insert of the body.

on..

emember inue to
gres in thgo button

o ot i

Remove the 4 red screws. Carefully remove the

plate, as there are many springs attached to it. / \\

and the blue tumblers
@® @ @ are non-code.

@@
‘R’ TUMBLER
CuUT
s®er] O o0
L 'S O
8@ D2
“C’ TUMBLER °® @3 e 8 @ @ 2
e The code is made up
0@ @4 of the numbers which
have the red tumblers
B@ @5 inserted next to, this
O shows C13569.
C @A Remember the red
U tumblers are the code

There are blue tumblers (hon—-code)

and red tumblers (code). Your code

is made up from the red tumblers @ @
always prefixed by C to clear. u
(Never remove the C tumbler).

i contmunr}g o e i Using the tumblers provided you can change your code from a 3
buttgn 24 S - weczers digit number up to a 7 digit number, always prefixed by C to clear.
provided lift Ou_t the code/non code To increase, remove the blue and add the red.
tumblers you wish to change. To decrease remove the red and add the blue.

(If you insert a tumbler in the wrong position, press in the C button and lift the tumber out).

%

When you have completed changing your code release the C
button and replace the plate carefully. , '
Always test your new code before installing/re-installing your lock

to the door.

LJO T @

([l F=n!

When you re-insert the code/non code
tumblers for your new code you must
continue to press in the C button.




125

15071600

TEMPLATE

— 1
10mm¢
GRS

12.

5

129mm

163mm

34mm




Lockey Keyless Lock - Additional Instructions

NOTE: The LOCKEY 1600 is field reversible. The LOCKEY 1150 is NOT. Before
installing lock using 1150 instructions, follow the instructions below to
determine handing and correct tailpiece.

e Determine the handing of your 1600 Lock.

Handing is determined by the location of your hinges when looking at the
door from the outside.

RIGHT-HANDED DOORS: Hinges are on right-side of the door.

LEFT-HANDED DOORS: Hinges are on the left-side of the door.
e Based on the handing, identify the correct tailpiece.

The RED tailpiece is used for right-handed doors.

The BLUE tailpiece is used for left-handed doors.

e [REPLACE 1150 1I-8]: Determine the correct length of tailpiece.
e [REPLACE 1150 1I-9]: Install support pin provided on the back of the outside
body.

***CONTINUE INSTALLATION USING LOCKEY 1150 INSTRUCTIONS***



“INSTALLATION INSTRUCTION OF DIGITAL DOOR LOCKS”

NO.1150 (WITH LATCHBOLT) NO-1150R ... RIGHT HAND TYPE
NO.1150L ... LEFT HAND TYPE

. THE NAME AND DETAILS OF THE ENCLOSED PARTS

NO. NAME OF PARTS CONTENT

%;‘“ll ®

1. OUTSIDE BODY, WITH LEVER HANDLE 1 PCE

2. INSIDE BODY, WITH LEVER HANDLE 1 PCE

3. RUBBER ESCUTCHEON 2 PCS

4. LATCHBOLT (60m/m BS or 70m/m BS) 1 PCE

5. STRIKE-PLATE 1 PCE

6. MORTISED STRIKER (PLASTIC MADE) 1 PCE

7. SPINDLE 1 PCE

8. SUPPORT PIN 1 PCE

9. TAPPING SCREWS (4x16) 4 PCS
10. MACHINE SCREWS (5x55) 4 PCS
11. MACHINE SCREWS (5x45) 4 PCS
12. TWEEZERS 1 PCE

6 > 3
13. RED TUMBLER (KEY TUMBLER)...CODE 1 PCE = % )
14. BLUE TUMBLER (KEYLESS TUMBLER)...NON-CODE 1 PCE - »
15. CARD FOR “SECRET NUMBER (CODE NUMBER)” 1 PCE \@
9) /
% ®
anf) — @D d .

II. HOW TO INSTALL THE DIGITAL DOOR LOCKS

1. Take out a template provided and confirm the “back set” (60m/m or 70m/m) on the surface and
the reverse side. HOLE FOR “SUPPORT PIN’
2. Decide the position for Digital Door Lock. A HAN?LE '
3 Mark the hole center for 4 small holes (10m/m dia.) and for a large hole (32m/m dia.) on the
surface of the door. And also mark the hole center of 1 slot (22m/m dia.) for the Latchbolt at the
center of door edge through the template. INSTALL ‘SUPPORT ~
4. Drill holes as per the Template. PIN' TO THIS HOLE
: i ‘ . ON #1150R (RIGHT
As the slot for Latchbolt, ‘60 m/m back set’ is 85m/m depth and 70m/m back set IS HAND TYPE)
95m/m depth.

IMPORTANT :
To ensure trouble free operation, the holes MUST be drilled accurately. 0~ HEXAGONAL POST

BACKSIDE OF OUTSIDE BODY

(ig 1)

Insert the Latchbolt into the slot. Scribe a line around the | atchbolt face and remove it.
Chisel out the scribed space until the Latchbolt face is flush with the surface of the door eage.

. Fasten Latchbolt with the tapping screws.

IMPORTANT :  ATCHBOLT
Ensure that the Latchbolt face is EVENLY fitted. FACE

o4

RUBBER
ESCUTCHON

2

~
9
Z

8. Break the spindle according to the door thickness.

C——— it
HEAD
"\ CUTTING LINE 7~ i

9. Install the Support Pin provided, at a hole of the direction
where the lever handle is installed, on the backside of outside body. (fig 1) A VIEW FROM INDOOR SIDE FOR #1 150R

B bikedecfoutsidebody. . — 1
11. Insert the 4-Hexagonal Posts and Support Pin through the holes. (fig 2) , ;  ATGHBOLT HEAD
12. Insert the spindle into the hole of the backside on the outside body through the hole of Latchbolt : /

from the indoor side.

IMPORTANT :
The spindle must lay at an angle toward the Latchbolt head. (fig 3)

——LATCHBOLT FACE

13. Fit the Rubber Escutcheon to the inside body. | | | \  THE SLANT OF
14. Fit the inside body over the spindle from the indoor side making sure the spindle remains laying ", SPINDLE

at an angle toward the Latchbolt head. | ¥ Reie (Ui
15. Select the machine screws and fasten them through the inside body, making sure they are not to

loose or to tight. (fig 4) el

(e M
IMPORTANT : 1
— BEFORE CLOSING THE DOOR, TEST THE OPERATION OF THE DIGITAL DOOR LOCK. = .r

® FROM OUTSIDE DOOR ::
A) TAKE OUT A CARD SHOWING YOUR CODE MUMBER. :
B) ENTER YOUR CODE NUMBER — PREFIXED BY 'C" 1
C) TURN THE OUTSIDE LEVER HANDLE.
D) CONFIRM THAT THE LATCHBOLT HEAD IS RETRACTED SMOOTHLY. m

® FROM INSIDE DOOR ::
A) CHECK THE OPERATION OF THE LATCHBOLT BY TURNING THE INSIDE LE VER HANDL

DOOR EDGE

(fig 3)

i

{]:nmumunmnmm




16. Close the door to determine the correct position where the Latchbolt head touches to the

face of the door jamb and mark out.

17. Chisel out the space for the mortised striker and for the Strike Plate so that Strike Plate is

flush with the surface of the door jamb.
18. Fasten them with the tapping screws.

IMPORTANT :

LATCHBOLT HEAD COMES OUT

STRIKE PLATE

ANTI THRUST PIN REMAINS IN

Make sure that when the door is in the closed/locked position, the Latchbolt Head ONLY - = CARIED POSITION
Inserts into the mortised striker in door jamb and NOT the Anti Thrust Pin, (fig.5)

((The Anti Thrust Pin is retracted by pushing against the Strike Plate to deadlock the Latchbolt.))

lll. HOW TO USE PASSAGE FUNCTION

1. Push “C-button” to clear and then “R-button”, continuously.
2. Then, enter your code number, excepting “C”. = ITON g
e 23 0
The lever handle is in a condition of always “free”. S| ['c BUTTON
® [0 restore to the locking function, press the R-button and then C-button. | > | | /

IV. HOW TO CHANGE THE CODE NUMBER

Before attempting to change your code number, please read this information carefully.

RED TUMBLERS : CODE
BLUE TUMBLERS : NON-CODE
“C” TUMBLER : FOR CLEAR, CANNOT BE REMOVED.

WHITE TUMBLER : FOR PASSAGE FUNCTION, IF REMOVED, PASSAGE FUNCTION DOES NOT WORK.
("R"TUMBLER)  po NOT REPLACE WITH ANY OTHER TUMBLER.

When changing your code number, it is very important that all the ‘code’ and ‘non-code’ tumblers are replaced correctly.

Failure to follow the instructions could result in
1 damage to your lock so please read carefully

Hold the outside body in the horizontal position.
Remove the 4 red screws. Carefully remove the
plate, as there are many springs attached to it.

3 There are blue tumblers (non—code)

and red tumblers (code). Your code
IS made up from the red tumblers
always prefixed by C to clear.
(Never remove the C tumbler).
Whilst continuing to press in the C
button and using the tweezers
provided lift out the code/non code
tumblers you wish to change.

When you re-insert the code/non code

tumblers for your new code you must
continue to press in the C button.

‘C" TUMBLER

4

While pressing in the C button make sure that the coloured
top end of the tumbler is facing up wards.Match the 4 of
the tumbler to the exact cut insert of the body.

‘R” TUMBLER

CUT

Example;

8

:
7S
<
3

The code is made up
of the numbers which
have the red tumblers
inserted next to, this
shows C13569.

Remember the red
tumblers are the code
and the blue tumblers
are non—code.

Using the tumblers provided you can change your code from a 3
digit number up to a 7 digit number, always prefixed by C to clear.
To increase, remove the blue and add the red.
To decrease remove the red and add the blue.

(If you insert a tumbler in the wrong position, press in the C button and lift the tumber out)

&

When you have completed changing your code release the C

button and replace the plate careful\y.. | |
Always test your new code before installing/re-installing your lock

to the door.



125

15071600

TEMPLATE

— 1
10mm¢
GRS

12.

5

129mm

163mm

34mm




e (=
S A

No. Part Name 2200 | 2500
1 Outside Body 1 1
2 Inside Body 1 1
3 Rubber Trim Plate 2 2
4 Mortised Striker (not shown) 1 1
5 Surface Strike Plate 1 1
6 Spindle 45-55 mm. 1 1
7 Spindle 35-45 mm. 1 1
8 Machine Screw M4 x 55 mm. 2 2
9 Machine Screw M4 x 45 mm. 2 2
10 Wood Screw 2 2
11 | Extra Code Tumblers (Red) 1 1
12 | Extra Non-Code Tumblers (Blue) 2 2
13 | Spacers for Body (1/16” / 5/64”) (Not Shown) 1 1
14 | Thin Door Kit (TDK) (Not Shown) 1 1
15 Hex Bolts 2 2
16 Tweezers 1 1

Step 1: Change User Code (OPTIONAL)

If you wish to change your code, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

BEFORE DRILLING — PLACE INSIDE BODY (#2) AND STRIKE TO DOOR TO

ENSURE POSITION WILL BE APPROPRIATE FOR INSTALLATION. YOU MAY

NEED TO TRIM DOOR JAMB OR MORTISE THE STRIKE TO INSTALL.

1. Place template (supplied) on door and fold along door’s edge.

2. Depending on door configuration, you may need to change
handing and/or substitute bar (2200) from long to short. See
Steps 3 and 4.

3. Drill holes as instructed and mark location for Strike.

Step 3: Identify Door Handing

Fig. 1 Fig. 2

Right-Hand Doors — From exterior of JUHT HAND LEET HAND,

door, hinges are on right-side. (Fig. 1)

Left-Hand Doors — From exterior of @

door, hinges are on left-side. (Fig. 2)

The 2200 and 2500 are factory pre-handed
for right-hand doors. To change handing,
remove two (2) blue screws and cover plate
from Outside Body as shown.

Now, move the pin from the right side
of the outside body to the hole on the left side.
Replace plate and screws.

DIGITAL SURFACE MOUNT
INSTALLATION INSTRUCTIONS

2200 DEADBOLT | 2500 HOOKBOLT

i~
8/ . ﬂﬂi\
(a )
o =,
| o I~ !1’
AT,
f g . I 74 Al 1. |
} LA l.t;[ UJ ) M = (e
. L » & 4 ‘ / an
2 Pl , 3
9 Fed *:5 “ 1\5 |
2 67V ] | el | [
Strike Plate f;‘ \ ! ‘ (.
- ! ,ﬂ | W
& 15 ’l K
2 O L\", ]

Step 5: Verify Correct Spindle Length
Door Edge

1. Hold the Inside Body (#2) and Rubber !nside Body (#2)

Trim Plate (#3) to the door. N
2. Place Spindle (#7) through door into the

Inside Body, as far as possible. |:|
3. Spindle should extend from exterior of door

3/8” min. —5/8” max. wpirasR

4. If Spindle is too long, cut it to the correct length using Pliers.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

Step 4: Adjust Deadbolt Length - 2200 ONLY (if necessary)

Depending on door configuration, you may
need to change from a long to short bar.
(BOTH LONG & SHORT BARS ARE SUPPLIED)

Remove the four (4) silver screws and plate
from the inside body and change bars.
Replace the plate and secure with silver screws.

Step 6: Install the DIGITAL 220Q/2500
.

1. Place the Rubber Trim Plate (#3) < A
on the backside of the Outside ;J
Body (#1). smfld TLH .k

2. Place the Outside Body onthe ¢ & ' S
door. The hexagonal bolts (#15) ¢ g g
should extend into the top and el L | ““ B
bottom holes. ‘,JL g

3. Insert the Spindle (#6/7) through the door l,
into the Spindle Hole in the Outside Body. :

4. Place the Rubber Trim Plate (#3) on the backside of Inside Body.

5. Place the Inside Body to the door ensuring that the Spindle is
inserted into the Spindle Hole.

6. If the Inside Body is not flush with the Surface Strike location, use
Spacers (#13) to make Inside Body flush with Strike location.
NOTE: If Spacers to not make Inside Body flush with Strike location,
you may need to trim the door jamb or mortise the strike.

7. Insert the M4 Screws (#8/9) into the top and bottom holes of the
Inside Body and secure with a screwdriver.

8. Test the lock to ensure the Deadbolt/Hookbolt is retracting correctly
when turning the inside/outside knob.

9. Install Strike Plate in proper position and secure with Wood Screws.




Step 7: For Doors Under 1” Thick (if necessary) Step 8: Using the DIGITAL 2200/2500

1. For doors under 1” thick, you will need to cut the spindle to From Outside:
appropriate size. See Step 5 to verify correct Spindle Length. The door will LOCK by turning the knob to extend the
2. Remove Hex Bolts and use M5 Screws supplied in Thin Door Kit deadbolt/hookbolt.

(TDK) packet to secure lock to door.

To UNLOCK, press the “C” button to clear the lock, enter the
W5 Screws 2 N combination and turn the knob to retract the deadbolt/hookbolt.
—
Less NOTE: IF DEADBOLT/HOOKBOLT RETRACTS WITHOUT COMBINATION
than AND REQUIRES COMBINATION TO LOCK (EXTEND), YOU MAY NEED TO
oK 1” CHANGE HANDING. SEE STEP 3.
H From Inside:
= — The door will LOCK and UNLOCK by turning the knob to extend or
1 e retract the deadbolt/hookbolt.

DIGITAL 2000 SERIES
HOW TO CHANGE CODE

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).
5. After changing your code, release the ‘C' BUTTON to secure the tumblers

1. Using a #2 screwdriver, remove the four (4) Red Screws.
2. Carefully remove cover plate.
WARNING: Springs are attached to plate.

in place.

RED = CODE TUMBLERS
BLUE = NON-CODE TUMBLERS
‘C’ = CLEAR (DO NOT REMOVE)

PRESS & HOLD ‘C’ BUTTON to release tumblers.
IMPORTANT: ‘C’ Button must be pressed and held down when removing
and inserting tumblers. Failure to do so will damage the lock and void

Replace the cover plate and secure with four (4) Red Screws,
using a #2 screwdriver.

7. TEST CODE before installing/re-installing lock.

the warranty.

P

WARNING:
Do NOT force tumblers into position!



DIGITAL DGDR LGCK

No.2200

TEMPLATE

A

Long Bar

F<

aul| 1nd

aul| 1no

Long Bar

.................................................................................. =--
(,.8/1-G) YG0EL -
(.oL/LL)
2k
()
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII [ § <
o S
>l o
s s s
© © o ©
8 o sl 2 8
JARE: _ me I ‘
@ 3 S AW//: Y
: = 2 2 5
& s 273
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| m/mll
[e]
w
............................................................................................. Y___




LOCKEY

No. Part Name 2210
1 Outside Body 1
2 Inside Body 1
3 | Adjustable Deadbolt (2 3/8” —2 3/4”) 1
4 Rubber Trim Plate 2
5 Strike Plate 1
6 Mortised Striker 1
7 | Spindle 40-55 mm. 2
8 | Spindle 30-45 mm. 2
9 Machine Screw M4 x 50 mm. 4
10 | Machine Screw M4 x 35 mm. 1
11 | Wood Screw M4 2
12 | Non-Combination Tumbler 1
13 | Combination Tumbler 3
14 | Brass Support Pin 2
15 | Tweezers 1

Step 1: Change User Code (OPTIONAL)

If you wish to change your code, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

1. Place template (supplied) on door and fold along door’s edge.
2. Mark holes for 2 3/8” or 2 3/4” backset.

3. Drill holes as instructed.

NOTE: For Pre-Prepped 2 1/8” doors, you only need to drill top hole.

Step 3: Identify Door Handing

Right-Hand Doors — From exterior of

Fig. 1 Fig. 2
RIGHT HAND

door, hinges are on right-side. (Fig. 1)

Left-Hand Doors — From exterior of
door, hinges are on left-side. (Fig. 2) @

The 2210 is factory pre-handed for
right-hand doors. To change handing, remove two
blue screws and cover plate from Outside Body.

Now, move the pin from the right side of the
outside body to the hole on the left side. Replace
plate and screws.

#2210 DC - Inside Body handing pin must be
placed on opposite side from Outside Body.

LEFT HAND

’ Step 7: Install the DIGITAL 2210
>

Step 4: Install Support Pin & Hex Bolts
Install Brass Support Pin (#14) into either hole
on Outside Body as shown in the figure to

the Right [Left].

Install/screw Hex Bolts into the top
and bottom of the Outside Body
as shown in the figure (Far Right).

DIGITAL 2210 DEADBOLT
INSTALLATION INSTRUCTIONS

2210 | 2210 DC

Step 5: Adjust Deadbolt (if necessary) & Install
Adj. Pin
1. Adjustable Deadbolt (#12) is preset to 2 3/8”.
To adjust, lift pin and slide to 2 3/4”. O Do ?
2. With arrow pointed UP, insert Deadbolt (2| =557 i)
and secure with two (2) Wood Screws (#11 o
Step 6: Verify Correct Spindle Length
1. With deadbolt (#3) installed, hold .. | e
the Inside Body (#2) and Rubber Trim 3/8"to5/8"
Plate (#4) to the door. Inside Knok
2. Place Spindle (#7/8) through Deadbolt, O =
into the Inside Body, as far as possible. spindle (#5/6)
3. Spindle should extend from exterior of door
3/8” min. —5/8” max.

4. If the 30-45 mm (#8) is too long, cut it to the correct length.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

5. Place the Rubber Trim Plate (#4) on the
backside of the Outside Body (#1). TT[T“
6. Place the Outside Body
on the door. The hexagonal

bolts should extend into 0w

the top and bottom holes. | =
7. The Support Pin (#14) on the Inside ™ ©
Body should fit into and extend through
the hole in the Deadbolt (#3).
INSTRUCTIONS CONTINUED ON REVERSE SIDE




Step 7 cont: Install the DIGITAL 2210

1. Insert the Spindle (#7/8) into the Outside
Body (#1) ensuring it’s in the

proper angled position.
*(SEE FIGURES BELOW)

2. Using a screwdriver, secure
the lock to the door with
the Screws (#9 or #10).
Screw length dependent on

door thickness.
3. Test the operation of the

| LOCKEY

4. Locate position where Deadbolt strikes door frame ) = _USA
And install Mortised Strike (#4).
www.LOCKEYUSA.com

*IMPORTANT: SPINDLE POSITION/ANGLE Right:Hand Door

(INSIDE DOOR) %

Deadbolt by turning the inside knob.

RIGHT-HAND DOORS: From inside,

place spindle through Deadbolt, into the
Outside Body (#1) in the 2:00/8:00
position as shown to right.

/
POSITION
OF SPINDLE

Left-Hand Door
(INSIDE DOOR )

LEFT-HAND DOORS: From inside,

place spindle through Deadbolt, into the
Outside Body (#1) in the 10:00/4:00 o
position as shown to right. 4 oFsrinbLe

latch
head

2000 SERIES
HOW TO CHANGE CODE

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.

1. Using a #2 screwdriver, remove the four (4) Red Screws.

2. Carefully remove cover plate.

WARNING: Springs are attached to piate. Ex: 3 Red = 3-Digit Code / € Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).

5. After changing your code, release the ‘C’ BUTTON to secure the tumblers

94 Eﬁ

Smaoen (o€
T TS @2

in place.

RED = CODE TUMBLERS
BLUE = NON-CODE TUMBLERS
‘C’ = CLEAR (DO NOT REMOVE)

3. PRESS & HOLD ‘C’ BUTTON to release tumblers. 6. Replace the cover plate and secure with four (4) Red Screws,
IMPORTANT: ‘C’ Button must be pressed and held down when removing using a #2 screwdriver.
and inserting tumblers. Failure to do so will damage the lock and void 7. TEST CODE before installing/re-installing lock.

the warranty.

/f

WARNING:
Do NOT force tumblers into position!




Fold along theedgeofdoor — !

|[FOR BACK SET 60M/M (2:3/8") |

T

DIGITAL DGDR LGCK

TEMPLATE FOR 2210
WITH 25.4mm (1”) THROW

<l (5/16"%) '
é E upper hole : :5
= -] IMPORTANT
£ 5:% 1.You must ensure that inside of
£ iz 22mm (55/64") mortise hole is
n%- = enlarged by moving wood drill up
51 s and down or using a small chisel —
ol s This is to give clearance for move-
B 5 ment of ‘'CAM" which moves up as
5‘ 12 deadbolt is thrown (as shown in
E‘: = T; diagram below x) —check clearance
= o s required by turning spindle in
8! & 2 deadbolt and view movement of
! = : cam.
' 2 :
H‘i‘lf\‘]:m\_A B‘xl"l H\!HH ‘ [‘.“ \I}l"A B}WWH;H
50 40 30 50 40 30| 130 40 50 30 40 50
' 36m/me :
; | (-7/1670] :
50 40 30 ;;7 ;]'[Tg%;‘ 30 40 50
! 3 ¥ \ ~ ; m
[ - \ “H\
AL ; 7N KN T 5 T
Mark in slot for i J‘L..}_-Q.J L% /“- ; E Mark in slot for
22mm (55/64") hole | M8mime 8mimo 8mmo 1 = ! 22mm(55/64"] hole 2. Ensure you drill hole in door frame
at center of door edge | (8§/16"6) [5{15‘1\(2!}15!15}‘6] = ; at center of door edge. deep enough to accept the 25.4mm
50 40 30 50 40 301 * 8% 5/16%5) 130 40 50 40 -4} £ (1) throw.
Iower 3l

Wlile Sl

; Back Set 60mm (2-3/8") ’ Back Set 60mm (2-3/8") i

For Riaht Hand Door | For Left Hand Door

e Cluugh

Template may not print at 100%

accuracy. Please verify measurements

are correct before drilling holes.



Fold along the

FOR BACK SET

70M/M (2-3/4")

edge of door

Template may not priht at 100% accuracy.
Please verify measurements are correct
before drilling holes. :

§ ’ uppe‘r hole :5
a! ]
! Hi=]
g T
T :E%
5 S
! 2
5 j i
= ‘ 1e
e A 2
- =
: ey R
H &< :
: 8 '
TTTTTTTTT r i T T
T A & M A g
50 40 30 50 40 30; . | 130 40 50 30 40 50
2 m/me :
: 11-7/16"'¢) | :
H 12 =<2m/m
50 40 30 " '25%2"“15/32"‘) ’ : 30 40 50
il : . \ ‘ : I
T : DD i ; T
Mark in slot for : M L% 7 . T; ! Mark in slot for
22mm (55/64”) hole | i Bt g,..;m. | §:‘ | 22mm{55/647) hoie
at center of door edge | (5/1679)(5/18 ¢]:5ns',¢; = at center of door edge.
! 4 =c
50 40 30 50 40 30 + 8944 T\(6/16%) (R} {30 40 50 30 40 50
aln AT = o e
Wil Sl lower ﬁ_iy lhi© el

Back set 70mm (2-3/4

For Right Hand Door

Sk

' Back set 70mm (2-3/4"")

1

| For Left Hand Door



ICE'Y LOCKEY 2230 | 2435
' INSTALLATION INSTRUCTIONS

2230 | 2230 DC | 2435

No. Part Name 2230 2435 @ 20
2435 B BTes
1 | Outside Body 1
2 | Inside Body 1
3 | Deadlatch (2 3/8” -2 3/4”) 1
4 | Rubber Trim Plate 2
5 | Strike Plate 1
6 | Mortised Striker 1
7 | Spindle 40-55mm. 1
8 | Spindle 30-45 mm. 1
9 | Machine Screw M4 x 50 mm. 2
10 | Machine Screw M4 x 35 mm. 2 @)
11 | Wood Screws M4 4
12 | Extra Code Tumblers (Red) 1
13 | Extra Non-Code Tumblers (Blue) 2
14 | Brass Support Pin 1
15 | Tweezers 1
Step 1: Change User Code (OPTIONAL) Step 5: Verify Correct Spindle Length
If you wish to change your code, see instructions on reverse side. nside Body (12) oor dge
. . 1. With latch (#3) installed, hold
Step 2: Prep Door for Installation with Template , , \
the Inside Body (#2) and Rubber Trim 318" 05/
1. Place template (supplied) on door and fold along door’s edge. Plate (#4) to the door. e nobor e L
2. Mark holes for 2 3/8” or 2 3/4” backset. 2. Place Spindle (#7/8) through latch, into N_ :‘?
3. Drill holes as instructed. the Inside Body, as far as possible.
NOTE: For Pre-Prepped 2 1/8” doors, you only need to drill top hole. 3. Spindle should extend from exterior of door e
3/8” min.—5/8” max.

Step 3: Adjust Latch (if necessary) & Install

1. Adjustable latch (#3) is factory preset for a 2 3/8” backset.

2. For23/4” backsets, slide the Cam assembly on the latch to 2 3/4”.

3. Insert latch into door and secure with Wood Screws (#11).

'-J‘P — ..-—-r_al p—
r W = A o .;T‘
= BET =l ) -
A 5
- 23/8" LO |
23/4” o= ~J

Step 4: Install Support Pin & Hex Bolts ﬂ*@%\@*_
Install Brass Support Pin (#14) into either hole |

on Outside Body as shown in the figure to ’
the Right.

‘Ba,||

Install/screw Hex Bolts into the top
and bottom of the Outside Body
as shown in the figure.

4. If the 30-45 mm (#8) is too long, cut it to the correct length.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

Step 6: Determine Knob Turn Direction (to unlock)

The lock is preset to unlock when turned clockwise after combination is
entered. 5

If desired, you can unlock the door with a

counter-clockwise turn. Remove the two
blue screws and move the pin to the

opposite side as shown.

*2230 DC - Inside Body pin must on opposite side from Outside Body.
L ____________________________________________________________________________________

Step 7: Install the Lockey 2230/2435

1. Place the Rubber Trim Plate (#3) on the ;-*(f;j 5 . _Q
backside of the Outside Body (#1). | IJ p | | ][
B | By -

2. Place the Outside Body on the door. . :
The hexagonal bolts should extend into &z s Lj'
the top and bottom holes. L _HQE,JH fle
3. The Support Pin (#14) on the Outside _ %F’
Body should fit into and extend through )

the hole in the Latch (#3).
INSTRUCTIONS CONTINUED ON REVERSE SIDE

4




Step 7 cont: Install the Lockey 2230/2435

1. Insert the Spindle (#7/8) into the Outside Body (#1) ensuring it’s in the proper angled position.

*(SEE FIGURES BELOW)

2. Using a screwdriver, secure the lock to the door with the Screws (#9 or #10).

Screw length is dependent on door thickness.
3. Test the operation of the Latch by turning the inside knob/lever.

Locate position where Latch strikes door frame and install Mortised Strike (#5) and Strike Plate (#6).

*IMPORTANT: SPINDLE POSITION/ANGLE

CLOCKWISE TURN TO UNLOCK WITH COMBINATION

The 2230/2435 is factory preset to unlock with a clockwise turn
when the combination is entered. The Spindle MUST be placed
through the latch, at a 10:00 — 4:00 angle as shown.

COUNTER-CLOCKWISE TURN TO UNLOCK WITH COMBINATION

If desired, the 2230/2435 can be unlocked with a counter-clockwise
turn when the combination is entered. To unlock the 2230/2435
with a counter-clockwise turn, please refer to Step 6 to change the
Handing Pin.

After changing the Handing Pin, the Spindle MUST be placed
through the latch at a 2:00 — 8:00 angle as shown.

%
Spindle Position: Spindle Position:
A

A
Qo oy )
\
\ /
\ o/
POSITION POSITION
OF SPINDLE OF SPINDLE
7

Turn Knob Counter-Clockwise to Unlock

%z
Spindle Position: Spindle Position:
%_ﬂ& 2:00 - 8:00
[ @
4 2

)

\\g

Nl

OF SPINDLE OF SPINDLE

LOCKEY 2000 SERIES

\ /
POSITION  POSITION

HOW TO CHANGE CODE S A

Using a #2 screwdriver, remove the four (4) Red Screws.
Carefully remove cover plate.
WARNING: Springs are attached to plate.

RED = CODE TUMBLERS
BLUE = NON-CODE TUMBLERS
‘C’' = CLEAR (DO NOT REMOVE)

3. PRESS & HOLD ‘C’ BUTTON to release tumblers.
IMPORTANT: ‘C’ Button must be pressed and held down when removing
and inserting tumblers. Failure to do so will damage the lock and void

the warranty.

/l-'—

WARNING:
Do NOT force tumblers into position!

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).
5. After changing your code, release the ‘C’ BUTTON to secure the tumblers

in place.

: \
2, wm@@@@ '. 1
2 | g mmm@@ﬂ '@ ) " }

6. Replace the cover plate and secure with four (4) Red Screws,

using a #2 screwdriver.
7. TEST CODE before installing/re-installing lock.




1 i !
blesseverty messarements beore aviing DIGITAL DADR LACK

holes/installing. For Models:
TEMPLATE| 2250 2435, 2835
FOR BACK SET 60M/M(2-3/8")

i= Fold along the edge of door — -E

| / il e T . §

B 8% N[/ (6/1679) | ) ‘ ;
2
=t =
c! &
@ | I E
= P2
5 |5
T 13
2l K
5 B
¢ E
2 % 1 2
5| = 'S
=) o |2

i 36m/me i

) i (1-7/16"¢) :

A @ A @]
50 40 30 50 40 305 an 40 50 30 40 5C
50 40 30 i i 30 40 50
e | ! AT
1] | | I= 1

; H — x i p
Mark in slot for : E |5, o= i Mark in slot for
22mm ( 55/64") hole | E|lm B ! 22mm ( 55/64"') hole
at center of door edge ! il [ \ / } J * ¥ E at center of door edge.
50 40 30 50 40 30| = iao 40 50 30 40 50
wlihil® Syl | e el
: Back Set 60mm (2-3/8") i Back Set 60mm (2-3/8")

"

A

For Right Hand Door For Left Hand Door

1
1
1
1




Template may not p

Please verify measurements before drilling

holes/installing.

folding line of ““For Right Hand Door"”

DIGITAL DGDR LACK

rint at 100% accuracy.

TEMPLATE

FOR BACK SET 70M/M(2-3/4")

S i i e W

[

Fold along the edge of door

For Models:

36m/mg

ey
e \Jsnea | |}

A @]

D 40 30 50 40 30

50 40 30

i

(1-7/16"¢)

130% (5-1/8")

L

2230, 2435, 2835

folding line of ““For Left Hand Door"

A B[
130 40 50 30 4
30 40 50

Lt

I

Mark in slot for
22mm ( 55/64") hole
at center of door edge

0 40 30 50 40 30

Ll Sl

4mim
(5/32")

Back Set 70mm (2-3/4") i

Back Set 70mm (2-3/4"")

T

Mark in slot for
22mm ( 55/64"") h
at center of door e

30 40 50 30 4t

e el

-

-

For Right Hand Door

For Left Hand Door



LOCKEY

RIS A

DIGITAL 2835 LEVER
*WITH PASSAGE FUNCTION

INSTALLATION INSTRUCTIONS

%IMPORTANT INFORMATION ABOUT YOUR DIGITAL 2835 %
1. When the door is closed, the system locks automatically.

2. From the inside, unlock using the Lever Handle.

/

No. Part Name 2835
3. From the outside, unlock by pressing ‘C" (CLEAR), followed | [1 Outside Body 1
by your User Code. 2 Inside Body 1
4. The 2835 is equipped with a PASSAGE FUNCTION, 3 Lever Handle 2
allowing you to leave the door unlocked. 4 Rubber Trim Plate 2
-To enable the passage function: 5 Strike Plate 1
Press ‘C’ (CLEAR), then ‘Y’ (PASSAGE), then enter User Code. 6 Mortlsgdd?trlker 1
-To disable the passage function: ; A Spl\r;v = n 1
Press 'Y’ (PASSAGE), followed by ‘C’ (CLEAR). _Len TTenc
disable th f . . 9 Machine Screw M4 x 40mm 2
-To disable the passage function PERMANENTLY: 10 | Machine Screw M4 x 30mm | 50mm | L ] 1
Remove the Y’ (PASSAGE) tumbler. leaving that slot empty. 11 Wood Screw M4 x 16mm 4 |latchbolt unit ;ti:rr:purt
= —— 12 Extra Code Tumblers (Red) 2 @ o ®
EE\E {:‘é Flat UP 13 | Extra Non-Code Tumblers (Blue)| 3 @ . rediode oo
H " " mortised . tumbler 1-C
%451 Adjustablse Latch 2;/8 -23/4 striker strike plate non-code
upport Pin
16 Tweezers
17 Hex Bolts 2
T
IMPORTANT: Always press and hold the ‘C’ Button when tweezers
removing and inserting Tumblers. Refer to ‘How to Change
Code’ instructions on reverse side.
Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.
Step 2: Prep Door for Installation with Template
Place template (supplied) on door and fold along door’s edge.
Mark holes for 2 3/8” or 2 3/4” backset. Drill holes as instructed.
Note: For pre-prepped 2 1/8“ doors, you only need to drill top hole.
. . Fig. 3
Step 3: Identify Door Handing Fig. 1 Fig. 2 RIGHT HAND LEET HAND
RIGHT HAND LEFT HAND

Right-Hand Doors — From exterior of door, hinges are on right-side (Fig. 1).
Left-Hand Doors — From exterior of door, hinges are on left-side (Fig. 2).

For Right-Hand Doors: Install Support Pin (#15) in position ‘A’.
For Left-Hand Doors: Install the Support Pin (#15) in position ‘B’.

Now, install/screw Hex Bolts (#17) into the top and bottom as shown.

Support Pin

back:side of
fwﬁ outside body
r 50 O

1

o3

=0J&)

o1 ©s

“Support Pin" to (A)

“Support Pin” to (B)

Step 4: Install Lever Handles

Using Allen Wrench (#8), install levers to the inside and outside bodies.

Secure with set screws.

Note: Levers should point towards the door hinges.

Note: The 2835 is equipped with a built-in slip clutch lever handle to prevent

damage in the event of an attempted forced entry.

Fig. 4

Allen wrench

If lever handle is in position shown (far right), pull lever back to desired position.

®
| e pro— lever handle
|—set screw

Step 5: Adjust Latch (if necessary) and Install
Adjustable Latch (#14) is preset to 2 3/8” backset.

To adjust: Remove plastic plug, slide to 2 3/4”, and replace plastic plug as shown (Fig. 5).

Insert Adjustable Latch (#14) into the door.
Secure with two (2) Wood Screws (#11).

Fig. 5

—
2. Move/Slide to 2 3/4”

{

(©

i

Continued on Reverse Side j

'TP %

3. Replace

Plastic Plug




INSTALLATION INSTRUCTIONS CONTINUED:

Step 6: Verify Correct Spindle Length (Fig. 6)

With Adjustable Latch (#14) installed, hold the Inside Body (#2) and Rubber Trim Plate (#3) to the door.
Place Spindle (#7) through Latch, into the Inside Body, as far as possible.

Spindle should extend from exterior of door 3/8” min. to 5/8” max.

If Spindle (#7) is too long, cut it to the correct length using Pliers.

*IMPORTANT:
If spindle extends less than 3/8” it may not engage the lock.
If spindle extends more than 5/8”, it will cause the lock to bind.

¢

)

&
—+ =3/8” to 5/8”

Step 7: Install the DIGITAL 2835

Place the Rubber Trim Plate (#4) on the backside of the Outside Body (#1).

Place the Outside Body on the door. The hex bolts (#17) should extend into the top and bottom holes.
The Support Pin (#15) should extend through the hole in the Latch (#14).

Insert the Spindle (#7) into the Outside Body (#1) ensuring it’s in the proper angled position.
*IMPORTANT: SPINDLE POSITION/ANGLE

RIGHT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 2:00/8:00 position (Fig. 7).
LEFT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 10:00/4:00 position (Fig. 8).

Place the Rubber Trim Plate (#4) and Inside Body (#2) on the inside of the door.

Using a screwdriver, secure the lock to the door with Screws (#9 or #10).

(Screw length is dependent on door thickness.)

Test the operation of the latch by turning the inside lever.

Locate position where latch strikes door frame and install Strike Plate (#5) and Mortised Striker (#4).

TEST YOUR LOCK: Press ‘C’ button (clear), followed by your combination. Push lever down and lock will open.
TEST PASSAGE: Press ‘C’, followed by ‘Y’, followed by combination. Lock should remain unlocked (passage).

TO LOCK: Push ‘Y’, followed by ‘C’. Lock will remain locked.

NOTE: If lever handle must be pulled up to unlock, change spindle position/angle (see figures 7 and 8).

Fig. 7

Right-Hand Door
(INSIDE DOOR)

Hinge of
Door
m POSITION
OF SPINDLE
Fig. 8
Left-Hand Door
(INSIDE DOOR )

latch
head

POSITION
OF SPINDLE

If latch sticks: First, make sure Support Pin (#15) is in place. Second, verify correct spindle length (see step 6).

PLSAVE- — — — — — — — — — — — — — — — — — — — —

How to Change User Code/Combination

%

latch
head

]

Hinge of
Door

]

1. Using a #2 screwdriver, remove the four (4) Red Screws.
2. Carefully remove cover plate.

WARNING: Springs are attached to plate.
tumblers in place.

-

‘C’ = CLEAR (DO NOT REMOVE)

‘Y’ = PASSAGE (‘Y’ Turrllbller may be removed to disable PASSAGE FUNCTION) ‘ ‘ ®°®®®@®°® 5 é |I
3. PRESS & HOLD ‘C’ BUTTON to release tumblers. & @O@@@@@O@ ol o g
IMPORTANT: ‘C’ button MUST be pressed and held down when :

removing and inserting tumblers. Failure to do so will damage
)

the lock and void the warranty. using a #2 screwdriver.

WARNING:
Do NOT force tumblers into position!

4. While holding the ‘C’ BUTTON, remove/add CODE (Red) and
NONCODE (Blue) tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code

5. After changing your code, release the ‘C’ BUTTON to secure the

6. Replace the cover plate and secure with four (4) Red Screws,

7. TEST CODE before installing/re-installing lock.

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com




DIGITAL DGDR LGCK
TEMPLATE 223F00T;A403dse,|52:835

FOR BACK SET 60M/M(2-3/8")

- Fold along the edge of door — =

/ N vy |
g% \L/(5/1679) | | ‘

folding line of ““For Right Hand Door"

folding line of “'For Left Hand Door"

130™ (5-1/8")

36m/md
(1-7/16"¢)

- =

50 40 30 50 40 30

A g

30 40 50 30 40 5C

1
50 40 30 i 30 40 50
1 4
T P | Lt
T | , | \ = i T
Mark in slot for 1 -S Mark in slot for

22mm ( 55/64") hole | | 22mm(55/64") hole

at center of door edge | \\ / } J i at center of door edge.
i 1
1 1
50 40 30 50 40 30! 3 130 40 50 30 40 50

r=—17.50h—

4mim
(5/32")

il © Sl il Clulul

Back Set 60mm (2-3/8") i Back Set 60mm (2-3/8")

1
1
1

For Right Hand Door For Left Hand Door



DIGITAL DGDR LACK e
TEM PLATE 2230, 2435,2.835

FOR BACK SET 70M/M(2-3/4")

[ - Fold along the edge of door -

ey
e \Jsnea | |}

folding line of ““For Right Hand Door"”

folding line of ““For Left Hand Door"

130% (5-1/8")

36m/mg
(1-7/16"¢)

1L AL = AL [TTTA s

D 40 30 50 40 30 30 40 50 30 4
50 40 30 30 40 50
i Lt

LA \ }= LU

Mark in slot for Mark in slot for
22mm ( 55/64”) hole 22mm (55/64") h

w
Sc
s
——
at center of door edge | ) } { ¥ | at center of door e
I
I ]
0 40 30 50 40 30| e 30 40 50 30 4t

liulul® Syl ol

4mim
(5/32")

Back Set 70mm (2-3/4"") : Back Set 70mm (2-3/4%) i
< - >

For Right Hand Door For Left Hand Door




INSTALLATION INSTRUCTIONS

LOCKE 29000 DEADBOLT & 2950 HOOK BOLT
U S A

The LockeyUSA 2900 Deadbolt and 2950 Hook Bolt are designed for narrow stile prep doors or replaces configurations with existing
narrow stile hardware with 1 1/8” prep (Adams Rite).

Note: For 1 1/8” narrow stile prep doors, please skip to Step 2.

Before Installing: Change User Code/Combination (OPTIONAL)

To change user code/combination, see instructions below.

Step 1: Remove all previously installed hardware. Note: DO NOT discard previously installed Trim Plate (may be used).

Step 2: Using the template provided, mark mounting holes on the surface of the door.
Note: After marking mounting holes, check to ensure the drive/spindle hole is placed at the bottom.
This mounting is opposite compared to most Adams Rite configurations.

Step 3: Check template to guarantee proper measurements and hole pattern. Drill holes accordingly.

Step 4: After drilling mounting holes, check to make sure that the lock and spindle/tailpiece line up with holes.

Step 5: The lock is factory pre-handed for left-hand doors.

To change handing, remove the two blue screws and cover plate from the Outside/Combination Body.

Next, move the pin from the left side of the Outside Body to the hole on the right side.

Replace plate and screws.

Note: For 2900 DC and 2950 DC, Inside Body handing pin must be placed on opposite side from Outside Body.

Step 6: Hold Deadbolt/Hookbolt in place with Drive/Spindle hole on bottom and secure with mounting screws.

Step 7: To Verify Correct Spindle Length, hold Inside Body to the door.

Place spindle/tailpiece through the spindle/drive hole of the Deadbolt/Hookbolt.
Check to ensure that the spindle/tailpiece engages the lock.

Spindle should extend from exterior of door 3/8” min. to 5/8” max.

If spindle extends less than 3/8” it may not engage the lock.

If spindle extends more than 5/8”, it will cause the lock to bind.

If spindle is too long, cut it to the correct length using pliers.

—=3/8" to 5/8”
=3/ /

Step 8: Place rubber escutcheon on Outside Body and place Outside Body on door. -

Step 9: Place rubber escutcheon on Inside Body and secure Inside Body to the Outside Body on the door using the provided screws.
After installing the lock, replace and secure face plate.

Please Note: Due to variances in face plate sizes, you may need to use the previously installed face plate.

Note: The strike may need to be modified to accommodate the 2900 Deadbolt/2950 Hookbolt.

Note: In some cases, the rubber escutcheon may need to be trimmed on the inside body to allow proper door closure.

This is due to the jamb edge on the interior of the door. In rare cases, you may also need to trim the jamb edge to accommodate the lock.

How to Change Code

1. Using a #2 screwdriver, remove the four (4) red screws.
2. Carefully remove cover plate.

WARNING: Springs are attached to plate.

RED = CODE TUMBLERS

BLUE = NON-CODE TUMBLERS

‘C’ = CLEAR (DO NOT REMOVE)

‘Y’ = PASSAGE (Y’ Tumbler may be removed to
disable PASSAGE FUNCTION)

3. Press & Hold ‘C’ button to release tumblers.

4. While holding the ‘C’ button, remove/add Code (Red) and
Non-Code(Blue) tumblers to create your desired code.

Ex. 3 Red = 3-Digit Code/ 6 Red = 6-Digit Code

Important: Ensure notched side of tumbler fits into slot (right).
5. After changing your code, release the ‘C’ button to secure the
tumblers in place.

4 % —OoN m w 1 x o> [ ® o j
4 ' [C 2 )IC MCCMCNON J

: © ©
/ e’ 0393330.0] 9 ‘@
A

IMPORTANT: ‘C’ button must be pressed and held down when removing 6. Replace the cover plate and secure with four (4) red screws, using

and inserting tumblers. Failure to do so will damage the lock and void the |2 #2 screwdriver.
warranty. 7. TEST CODE before installing/re-installing your lock.




Lockey® 2900 Series m/

‘y"‘“f‘//’/
2900 | 2950 | 2930 | 2945 | 2985 %@ ,;/i/ %
Installation Instructions & Template s A

Important: FILE MAY NOT PRINT AT 100% ACCURACY.
PLEASE CHECK MEASUREMENTS BEFORE DRILLING.

|
| (TN
Lockey 2900 & 2950 L 11/87 |2
:4—>5|
Bolt Template | =
|
: L
A 3/8”% 3/8” Yy U
I y
A A \ :'l’ ’
l
|
|
|
|
|
|
|
|
|
|
|
|
|
i
|
- |
3 Vo) |
Of » — |
P !
i
|
9/16” |
KD
L/
3/8” :
G N
>k N
| o i
M~ I
L v b $1/4” | N\
| W
| W
z
9
@) 1 3/4” Door
L




2930 & 2945 NARROW STILE
INSTALLATION INSTRUCTIONS

#
S A

Part Name # included
Outside Body
Inside Body
Rubber Trim Plates
Narrow Stile Deadlatch
Spindle (30-45mm & 40-55mm)
Latch Face Plate
Strike Plate
Hex Bolts
Extra Code Tumblers (Red)
10| Extra Non-Code Tumblers (Blue)
11 Support Pin
12 Tweezers
13 Screw Kit

IMPORTANT INFORMATION ABOUT YOUR 2930/2945
1. The Lockey 2930 & 2945 are designed for narrow stile prep doors
or for configurations with existing narrow stile hardware with 1 1/8”
prep. The 2930 & 2945 can also be installed on new mortise prep
doors, 2”x2” gates or chainlink gates.
2. The drive/spindle hole is located on the bottom of the latch. The
system operates opposite compared to Adams-Rite style products.
The strike may need to be modified.
3. When the door is closed, the system locks automatically.
4. From the inside, unlock using the thumb turn/lever handle.
5. From the outside, unlock by pressing ‘C’ (CLEAR), followed by
your User Code.

2
o

(] (o] RN] o)) (V] FEN (O8] | S] (2}

©

®

7 \
9 o

—=r

L UL L

CLECECA

(Y ISY(N] N N1 (] FSN [ [N /S [N [N [

@

Y IIrNIrEryrIv)
@)
1

S T Jh 1)
> O

AT I T T T T T 7T 777777

Tre

Y yyi

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Prep Door for Installation with Template
Place template (supplied) on door and fold along door’s edge. Check to ensure proper measurements. Drill holes accordingly.

Replace plate and screws.
Note: For 2930 DC (Double Combination), Inside Body handing must be opposite from Outside Body.
Install at least one Support Pin (#11) in position ‘A’/position ‘B’ on the Outside Body as shown in Fig. 3.
Now, install/screw Hex Bolts (#8) into the top and bottom of the Outside Body as shown in Fig. 3.

Step 3: Identify Door Handing Fig. 1 Fig. 2 Fig. 3
Right-Hand Doors — From exterior of door, hinges are on right side (Fig. 1). RIGHT HAND LEFT HAND -
Left-Hand Doors — From exterior of door, hinges are on left side (Fig. 2).

I I
The 2930 & 2945 are factory pre-handed for right-hand doors. ‘% %
To change handing, remove two blue screws and cover plate from Outside Body. ©
Move the pin from the right side of the Outside Body to the hole on the left side. il I

Step 4: Change Latch Handing (if necessary) & Install Latch
IMPORTANT: Do NOT remove Cam from latch when changing handing.
Cam Position: MUST be on LEFT side of latch.

#8 Latch #4 Deadlatch
#7 Latch Pin

If latch does not pull and twist, proceed with the following steps: #2 Small Spring

1. Remove screws from both sides of latch casing.

2. Remove cover and interior springs (#1, #2, #3).

3. Remove latch and deadlatch (#4, #8).

4. Carefully remove Latch Pin (#7) and Latch Spring (#6).
5. Replace the Latch Spring (#6) and then move the Deadlatch Activator (#5)
to the opposite side of the latch, ensuring that it depresses the Latch Spring.
6. Replace the Latch Pin.

7. Replace Latch, Deadlatch, Latching Springs and Cover.

8. Secure Screws on each side of the Latch Casing.

Place the Narrow Stile Deadlatch (#4) in the door prep and secure.

#5 Deadlatch Activator
#6 Latch Spring

Continued on Reverse Side

#3 Large Spring

#1 Cover

Updated 5.12.16




2930 & 2945 NARROW STILE
INSTALLATION INSTRUCTIONS CONTINUED...

LOCKEY

Step 5: Verify Correct Spindle Length
With the Deadlatch installed, hold the Inside Body (#2) and Rubber Trim Plate (#3) to the door. .
Place Spindle (#5) through Latch, into the Inside Body, as far as possible. 9 ® 0
Spindle should extend from exterior of door 3/8” min. to 5/8” max.
If Spindle is too long, cut it to the correct length using pliers. ®
*IMPORTANT: “el .
If spindle extends less than 3/8” it may not engage the lock. @ — =3/8"to 5/8”
If spindle extends more than 5/8”, it will cause the lock to bind. @0 %

& _| 0
Step 6: Complete Installation FRight 2w, Cline E

(INSIDE DOOR) 2k
Place the Rubber Trim Plate (#3) on the backside of the Outside Body (#1). ’
Place the Outside Body on the door.
The Hex Bolts (#8) should extend into the top and bottom holes. H‘ngff
The Support Pin (#11) should extend through the hole in the Latch (#4).
Insert the Spindle (#5) into the Outside Body (#1) ensuring it’s in the proper angled position. ]
POSITION

*MPORTANT: SPINDLE POSITION/ANGLE OF SPINDLE

RIGHT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 2:00/8:00 position (above).
LEFT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 10:00/4:00 position (below).

Left-Hand Door

Place the Rubber Trim Plate (#3) and Inside Body (#2) on the inside of the door. - (INSIDE DOOR )
Using a screwdriver, secure the lock to the door (screw length dependent on door thickness). E
Test the operation of the latch by turning the inside thumbturn. m

Locate position where latch strikes door frame and install Strike Plate (#7).
Hinge of
Door

!

TEST YOUR LOCK: Press ‘C’ button (clear), followed by your combination. Turn knob and lock will open.

After installing and testing the lock, secure Faceplate (#6). S S

7 OF SPINDLE

Note: If latch sticks, first make sure Support Pin is in place. Second, verify correct spindle length (see step 5).

Q - —_— —_— —_— —_— —_— —_— —_— J— —_— —_— J— J— —_— —_— S
< SAVE How to Change User Code/Combination

4. While holding the ‘C’ BUTTON, remove/add CODE (Red) and
NONCODE (Blue) tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code

1. Using a #2 screwdriver, remove the four (4) Red Screws.
2. Carefully remove cover plate.

WARNING: Springs are attached to plate.

‘C’ = CLEAR (DO NOT REMOVE)

5. After changing your code, release the ‘C’ BUTTON to secure the
‘Y = PASSAGE (Y’ Tumbler may be removed to disable PASSAGE FUNCTION)
3. PRESS & HOLD ‘C’ BUTTON to release tumblers.

tumblers in place. @
IMPORTANT: ‘C’ button MUST be pressed and held down when

removing and inserting tumblers. Failure to do so will damage 6. Replace the cover plate and secure with four (4) Red Screws,
the lock and void the warranty. using a #2 screwdriver.
7. TEST CODE before installing/re-installing lock.

WARNING:
Do NOT force tumblers into position!

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com




Lockey® 2900 Series
2930 | 2945 | 2985 ﬂ@@%ﬁ %

Installation Instructions & Template S A

|
Lockey 2985, 2945,2930 | .. |2
|[—————————p{ ]
Latch Template | a
| Q
| N
g ! -,
|
: 1”
3/8” {
A A \V
|
|
|
|
|
|
|
|
|
|
|
|
|
- - |
I |
RIS :
O| n < :
|
|
|
|
|
|
|
9/16” E
A A +
S A%
NER A
, v T ya \S N
| \J
| "
Z
-
@) 1 3/4” Door
L




2985 NARROW STILE LEVER HANDLE
*WITH PASSAGE FUNCTION

s A INSTALLATION INSTRUCTIONS

IMPORTANT INFORMATION ABOUT YOUR DIGITAL 2985  [No. Part Name 2985
1. The Lockey 2985 is designed for narrow stile prep doors or |1 Outs__ide Body 1
for configurations with existing narrow stile hardware with 2 Inside Body 1 /
11/8” prep. The 2985 can also be installed on new mortise 3 Lever H.andle 2 N
nqn o 4 Rubber Trim Plate 2 N
prep doors, 2”x2” gates or chainlink gates. - - N
) 5 Strike Plate S 3
2. In order to work with Lockey keyless locks, the 3 Spindle *S-;__Q @ @
drive/spindle hole is located on the bottom of the latch. 7 Allen Wrench - N N O—F r_@
The system operates opposite compared to Adams-Rite style [ g Machine Screw M4 x 40mm 2 N N -
products. The strike may need to be modified. 9 | Machine Screw M4 x 30mm | 50mm | 1|1 S J
3. When the door is closed, the system locks automatically. |10 Extra Code Tumblers (Red) Ml oo [
4. From the inside, unlock using the Lever Handle. 1| Extra Non-Code Tumblers (Blue)| 2 E =1
5. From the outside, unlock by pressing ‘C’ (CLEAR), followed % \lalrrg\gpssclitD;_ia:Iatch % ® K El S ®
by your User Code. 14 Tweezers 1 *E; e ® Q
15 Hex Bolts 2 —N s % M (
PASSAGE FUNCTION: 16 Faceplate 1 S ] \7
The 2985 is equipped with a PASSAGE FUNCTION, . %:S ®
allowing you to leave the door unlocked. N J ®0
-To enable the passage function: : N S: 8
Press ‘C’ (CLEAR), then ‘Y’ (PASSAGE), then enter User Code. _ “’_T;-"L:q_ N :: ’
-To disable the passage function: 5 L.uj Flat uP ® ® @
Press ‘Y’ (PASSAGE), followed by ‘C’ (CLEAR). oo
-To disable the passage function PERMANENTLY: Frnr’_m-
Remove the Y” (PASSAGE) tumbler, leaving that slot empty. 39‘1 J i
B A
IMPORTANT: Always press and hold the ‘C’ Button when B
removing and inserting Tumblers. Refer to ‘How to Change
Code’ instructions on reverse side.

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Prep Door for Installation with Template
Place template (supplied) on door and fold along door’s edge. Check to ensure proper measurements. Drill holes accordingly.

Step 3: Identify Door Handing Fig. 1 Fig. 2 Fig. 3
RIGHT HAND LEFT HAND

Right-Hand Doors — From exterior of door, hinges are on right side (Fig. 1).
Left-Hand Doors — From exterior of door, hinges are on left side (Fig. 2).

Install Support Pin (#13) in position ‘A’ or position ‘B’ on the Outside Body @
as shown in Fig. 3. For 2985DC, install extra support pin on the Inside Body.
Now, install/screw Hex Bolts (#15) into the top and bottom of the
Outside Body as shown in Fig. 3.
Step 4: Change Latch Handing (if necessary) & Install Latch
IMPORTANT: Do NOT remove Cam from latch when changing handing. I
2985 Cam Position: MUST be on RIGHT side of latch. flatch head i adjustable, pulland twist. ~ gl

Q < #8 Latch #4 Deadlatch
2985 Adjustable Head: Pull latch head and twist. #7L33ch Pin 42 5mall Spring
If latch does not pull and twist, proceed with the following steps:
1. Remove screws from both sides of latch casing. -
2. Remove cover and interior springs (#1, #2, #3). _
3. Remove latch and deadlatch (#4, #8).
4. Carefully remove Latch Pin (#7) and Latch Spring (#6). 7 1 Cover
5. Replace the Latch Spring (#6) and then move the Deadlatch Activator (#5) _
to the opposite side of the latch, ensuring that it depresses the Latch Spring.
6. Replace the Latch Pin.
7. Replace Latch, Deadlatch, Latching Springs and Cover. #3Largespring
8. Secure Screws on each side of the Latch Casing. #5 Deadlatch Activator

#6 Latch Spring

Place the Narrow Stile Deadlatch (#12) in the door prep and secure.

Continued on Reverse Side Updated 3.21.16




INSTALLATION INSTRUCTIONS CONTINUED: Slip Clutch
Step 5: Install Lever Handles e

Using Allen Wrench (#7), install levers to the inside and outside bodies.
Secure with set screws.
-
— |_ an lever handle
set screw
Allen wrench

Note: Levers should point towards the door hinges.

The 2985 is equipped with a built-in slip clutch lever handle to prevent damage in
the event of an attempted forced entry.

If lever handle is in position shown (far right), pull lever back to desired position.

Step 6: Verify Correct Spindle Length (Fig. 6) 298 [ ™
With the Deadlatch installed, hold the Inside Body (#2) and Rubber Trim Plate (#4) to the door.
Place Spindle (#6) through Latch, into the Inside Body, as far as possible. =
Spindle should extend from exterior of door 3/8” min. to 5/8” max. N
If Spindle is too long, cut it to the correct length using pliers. - i
*IMPORTANT: :

If spindle extends less than 3/8” it may not engage the lock. ag, = 3/8" to 5/8”

If spindle extends more than 5/8”, it will cause the lock to bind. -8

Fig. 7
Step 7: Install the 2985 Right-Hand Door ..
Place the Rubber Trim Plate (#4) on the backside of the Outside Body (#1). (INSIDE DOOR) gt
Place the Outside Body on the door. The Hex Bolts (#15) should extend into the top and bottom holes. e
The Support Pin (#13) should extend through the hole in the Latch (#12).
Insert the Spindle (#6) into the Outside Body (#1) ensuring it’s in the proper angled position. Hingsiof
Door
*IMPORTANT: SPINDLE POSITION/ANGLE
RIGHT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 2:00/8:00 position (Fig. 7).
LEFT-HAND DOORS: From inside, place spindle through Latch, into the Outside Body in the 10:00/4:00 position (Fig. 8). OF SPINDLE
Fig. 8.
Place the Rubber Trim Plate (#4) and Inside Body (#2) on the inside of the door. - Len.H:;d Door
{ INSIDE DOOR )

Using a screwdriver, secure the lock to the door with Screws (#9)(Screw length dependent on door thickness).
Test the operation of the latch by turning the inside lever.

Locate position where latch strikes door frame and install Strike Plate (#5).

TEST YOUR LOCK: Press ‘C’ button (clear), followed by your combination. Push lever down and lock will open.
TEST PASSAGE: Press ‘C’, followed by ‘Y’, followed by combination. Lock should remain unlocked (passage).
TO LOCK: Push “Y’, followed by ‘C’. Lock will remain locked.

1

Hinge of

POSITION
OF SPINDLE

After installing and testing the lock, secure Faceplate (#16).

NOTE: If lever handle must be pulled up to unlock, change spindle position/angle (see figures 7 and 8).
If latch sticks: First, make sure Support Pin (#13) is in place. Second, verify correct spindle length (see step 6).

%/SAVE______________-_-________
~ How to Change User Code/Combination
1. Using a #2 screwdriver, remove the four (4) Red Screws. 4. While holding the ‘C’ BUTTON, remove/add CODE (Red) and

NONCODE (Blue) tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code

5. After changing your code, release the ‘C’ BUTTON to secure the
tumblers in place. L

2. Carefully remove cover plate.

WARNING: Springs are attached to plate.

‘C’ = CLEAR (DO NOT REMOVE)
‘Y = PASSAGE (Y’ Tumbler may be removed to disable PASSAGE FUNCTION)
3. PRESS & HOLD ‘C’ BUTTON to release tumblers.
IMPORTANT: ‘C’ button MUST be pressed and held down when
removing and inserting tumblers. Failure to do so will damage 6. Replace the cover plate and secure with four (4) Red Screws,
the lock and void the warranty. using a #2 screwdriver.
7. TEST CODE before installing/re-installing lock.

WARNING:
Do NOT force tumblers into position!

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com | ..cs016




Lockey® 2900 Series
2930 | 2945 | 2985 ﬂ@@%ﬁ %

Installation Instructions & Template S A

|
Lockey 2985, 2945,2930 | .. |2
|[—————————p{ ]
Latch Template | a
| Q
| N
g ! -,
|
: 1”
3/8” {
A A \V
|
|
|
|
|
|
|
|
|
|
|
|
|
- - |
I |
RIS :
O| n < :
|
|
|
|
|
|
|
9/16” E
A A +
S A%
NER A
, v T ya \S N
| \J
| "
Z
-
@) 1 3/4” Door
L




LOCKEY

No. Part Name 3210
1 Outside Body 1
2 Inside Body 1
3 | Adjustable Deadbolt (2 3/8” —2 3/4”) 1
4 Rubber Trim Plate 2
5 Strike Plate 1
6 Mortised Striker 1
7 | Spindle 40-55 mm. 2
8 | Spindle 30-45 mm. 2
9 Machine Screw M4 x 50 mm. 4
10 | Machine Screw M4 x 35 mm. 1
11 | Wood Screw M4 2
12 | Non-Combination Tumbler 1
13 | Combination Tumbler 3
14 | Brass Support Pin 2
15 | Tweezers 1

Step 1: Change User Code (OPTIONAL)

If you wish to change your code, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

1. Place template (supplied) on door and fold along door’s edge.
2. Mark holes for 2 3/8” or 2 3/4” backset.

3. Drill holes as instructed.

NOTE: For Pre-Prepped 2 1/8” doors, you only need to drill top hole.

Step 3: Identify Door Handing

Right-Hand Doors — From exterior of

Fig. 1 Fig. 2
RIGHT HAND

door, hinges are on right-side. (Fig. 1)

Left-Hand Doors — From exterior of
door, hinges are on left-side. (Fig. 2) @

The 3210 is factory pre-handed for
right-hand doors. To change handing, remove two
blue screws and cover plate from Outside Body.

Now, move the pin from the right side of the
outside body to the hole on the left side. Replace
plate and screws.

#3210 DC - Inside Body handing pin must be
placed on opposite side from Outside Body.

LEFT HAND

’ Step 7: Install the DIGITAL 3210
>

Step 4: Install Support Pin & Hex Bolts
Install Brass Support Pin (#14) into either hole
on Outside Body as shown in the figure to

the Right [Left].

Install/screw Hex Bolts into the top
and bottom of the Outside Body
as shown in the figure (Far Right).

DIGITAL 3210 DEADBOLT
INSTALLATION INSTRUCTIONS

3210 | 3210 DC

Step 5: Adjust Deadbolt (if necessary) & Install
Adj. Pin
1. Adjustable Deadbolt (#12) is preset to 2 3/8”.
To adjust, lift pin and slide to 2 3/4”. O Do ?
2. With arrow pointed UP, insert Deadbolt (2| =557 i)
and secure with two (2) Wood Screws (#11 o
Step 6: Verify Correct Spindle Length
1. With deadbolt (#3) installed, hold .. | e
the Inside Body (#2) and Rubber Trim 3/8"to5/8"
Plate (#4) to the door. Inside Knok
2. Place Spindle (#7/8) through Deadbolt, O =
into the Inside Body, as far as possible. spindle (#5/6)
3. Spindle should extend from exterior of door
3/8” min. —5/8” max.

4. If the 30-45 mm (#8) is too long, cut it to the correct length.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle
extends more than 5/8”, it will cause the lock to bind.

5. Place the Rubber Trim Plate (#4) on the
backside of the Outside Body (#1). TT[T“
6. Place the Outside Body
on the door. The hexagonal

bolts should extend into 0w

the top and bottom holes. | =
7. The Support Pin (#14) on the Inside ™ ©
Body should fit into and extend through
the hole in the Deadbolt (#3).
INSTRUCTIONS CONTINUED ON REVERSE SIDE




Step 7 cont: Install the DIGITAL 3210

1. Insert the Spindle (#7/8) into the Outside
Body (#1) ensuring it’s in the

proper angled position.
*(SEE FIGURES BELOW)

2. Using a screwdriver, secure
the lock to the door with
the Screws (#9 or #10).
Screw length dependent on
door thickness.

3. Test the operation of the

Deadbolt by turning the inside knob.

4. Locate position where Deadbolt strikes door frame ) = _USA
And install Mortised Strike (#4).
www.LOCKEYUSA.com

*IMPORTANT: SPINDLE POSITION/ANGLE Right:Hand Door

(INSIDE DOOR) %

RIGHT-HAND DOORS: From inside,

place spindle through Deadbolt, into the
Outside Body (#1) in the 2:00/8:00
position as shown to right.

/
POSITION
OF SPINDLE

Left-Hand Door
(INSIDE DOOR )

LEFT-HAND DOORS: From inside,

place spindle through Deadbolt, into the
Outside Body (#1) in the 10:00/4:00 o
position as shown to right. oFsrinbLe

latch
head

3000 SERIES HOW TO
CHANGE CODE

Using a #2 screwdriver, remove the four (4) Red Screws.

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).
5. After changing your code, release the ‘C’ BUTTON to secure the tumblers

94 Eﬁ

Smaoen (o€
T TS @2

Carefully remove cover plate.
WARNING: Springs are attached to plate.

in place.

RED = CODE TUMBLERS
BLUE = NON-CODE TUMBLERS
‘C’ = CLEAR (DO NOT REMOVE)

3. PRESS & HOLD ‘C’ BUTTON to release tumblers. 6. Replace the cover plate and secure with four (4) Red Screws,
IMPORTANT: ‘C’ Button must be pressed and held down when removing using a #2 screwdriver.
and inserting tumblers. Failure to do so will damage the lock and void 7. TEST CODE before installing/re-installing lock.

the warranty.

/f

WARNING:
Do NOT force tumblers into position!




Template may not print at 100%

oy evnmasrnas | TEMPLATE|INO.3210

are correct before drilling holes.

. FOR BACK SET 60m/m (2-3/8") .

Fold along the edge of door

e

For Right Hand Door For Left Hand Door

'sg | k/ A :‘%
o | 10T’/md) :OO
o | 1
S | O
r ' ®
2 L
o | =
® ‘) LS
S |9
G s
o | )
‘E ! v'E
= | i
c | =
5 | |5
L8 | = ' 8
| = .'
] c’ |
" ot \
: S '
' & :
) \
||l‘l||||lll||A BIII'IIII[IIH‘ L, LI |||A B|||H|l|l|]|l|
040 30 50 40 3 130 40 50 304050
50 40 30 E : 30 40 50
i ; y e i ] 8§ ; il
III|IIII‘|III| ! ; ‘IHI‘IIII|III
Mark in slot for E 'EE i Mark in slot for
22mm(55/64")hole i ) | 22mm(55/64")hole
at center of door edge : 2 : at center of door edge
5040 30 50 40 30' 040 50 30405
MMM mllmlmﬂ —G}————————‘— :\nnhmlmD Chmhmlm
\_:\410_"‘/_//"@ :
| | E
i I :
L Back Set 60mm(2-3/8") | Back Set 60mm(2-3/8") |
' I



Template may not print at 100%

iy Reameysenas || TEMPLATE|INO.3210

are correct before drilling holes.

FOR BACK SET 70m/m (2-3/4")

Fold along the edge of door :

D

g
[
e
3
S

folding line of "For Right Hand Door"
folding line of "For Left Hand Door"

139M/m

Hl[[ﬂ[]llll‘A BIII[IIII|HH’
040 30 5040 3

llllllllll)lll ,IIII‘IIIILII

'30 40 50 30405

: 30 40 50

T i

50 40 30 :

HI\IIII‘IIII\

Mark in slot for
22mm(55/64")hole

(LA

: Mark in slot for
! 22mm(55/64")hole

at center of door edge | at center of door edge
040 30 50 40 3 ': '30 40 50 30 40 50
JuhmlnnlD C|||hn|l||||l A e i

Back Set 70mm(2-3/4")
For Right Hand Door

Back Set 70mm(2-3/4")
For Left Hand Door

e e
—-F——-
2, Jo



LOCKEY 2230 | 2435 | 3230 e

INSTALLATION INSTRUCTIONS

\$1 1970, }\(r

2230 | 2230 DC | 2435 | 3230 | 3230 DC

No. Part Name 2230 2435 @ 20
2435
1 | Outside Body 1
2 | Inside Body 1
3 | Deadlatch (2 3/8” -2 3/4”) 1
4 | Rubber Trim Plate 2
5 | Strike Plate 1
6 | Mortised Striker 1
7 | Spindle 40-55mm. 1
8 | Spindle 30-45 mm. 1
9 | Machine Screw M4 x 50 mm. 2
10 | Machine Screw M4 x 35 mm. 2 @)
11 | Wood Screws M4 4
12 | Extra Code Tumblers (Red) 1
13 | Extra Non-Code Tumblers (Blue) 2
14 | Brass Support Pin 1
15 | Tweezers 1
Step 1: Change User Code (OPTIONAL) Step 5: Verify Correct Spindle Length
If you wish to change your code, see instructions on reverse side. nside Body (12) oor dge
. . 1. With latch (#3) installed, hold
Step 2: Prep Door for Installation with Template , , \
the Inside Body (#2) and Rubber Trim 318" 05/
1. Place template (supplied) on door and fold along door’s edge. Plate (#4) to the door. e nobor e L
2. Mark holes for 2 3/8” or 2 3/4” backset. 2. Place Spindle (#7/8) through latch, into N_ :‘?
3. Drill holes as instructed. the Inside Body, as far as possible.
NOTE: For Pre-Prepped 2 1/8” doors, you only need to drill top hole. 3. Spindle should extend from exterior of door e
3/8” min.—5/8"” max.

Step 3: Adjust Latch (if necessary) & Install

1. Adjustable latch (#3) is factory preset for a 2 3/8” backset.

2. For23/4” backsets, slide the Cam assembly on the latch to 2 3/4”.

3. Insert latch into door and secure with Wood Screws (#11).

,ﬁ N -
A Rasr = [T e
E- T EP W g0 ==
A , s’
> 23/8" D |
i . i

Step 4: Install Support Pin & Hex Bolts ﬂ*@%\@*_
Install Brass Support Pin (#14) into either hole ‘

on Outside Body as shown in the figure to
the Right.

Install/screw Hex Bolts into the top
and bottom of the Outside Body
as shown in the figure.

4. If the 30-45 mm (#8) is too long, cut it to the correct length.
IMPORTANT: If spindle extends less than 3/8” it may not engage the lock. If spindle

extends more than 5/8”, it will cause the lock to bind.

Step 6: Determine Knob Turn Direction (to unlock)

The lock is preset to unlock when turned clockwise after combination is

entered.

If desired, you can unlock the door with a

counter-clockwise turn. Remove the two
blue screws and move the pin to the

opposite side as shown.

Step 7: Install the Lockey 2230/2435

1. Place the Rubber Trim Plate (#3) on the ooff® -’1
backside of the Outside Body (#1). ' | l (
2. Place the Outside Body on the door. '

The hexagonal bolts should extend into 5z .

the top and bottom holes. B
3. The Support Pin (#14) on the Out5|de

Body should fit into and extend through

the hole in the Latch (#3).

INSTRUCTIONS CONTINUED ON REVERSE SIDE

4



Step 7 cont: Install the Lockey 2230/2435

1. Insert the Spindle (#7/8) into the Outside Body (#1) ensuring it’s in the proper angled position.
*(SEE FIGURES BELOW)

2. Using a screwdriver, secure the lock to the door with the Screws (#9 or #10).
Screw length is dependent on door thickness.

3. Test the operation of the Latch by turning the inside knob/lever.
Locate position where Latch strikes door frame and install Mortised Strike (#5) and Strike Plate (#6).

*IMPORTANT: SPINDLE POSITION/ANGLE Turn Knob Clockwise to Unlock

%
Spindle Position: Spindle Position:
A

CLOCKWISE TURN TO UNLOCK WITH COMBINATION
The 2230/2435 is factory preset to unlock with a clockwise turn

when the combination is entered. The Spindle MUST be placed ¢ { [® o o ®] \
through the latch, at a 10:00 — 4:00 angle as shown. ’\ '
N
POSITION  POSITION
_ OF SPINDLE OF SPINDLE
A
COUNTER-CLOCKWISE TURN TO UNLOCK WITH COMBINATION Turn Knob Counter-Clockwise to Unlock

If desired, the 2230/2435 can be unlocked with a counter-clockwise Z
turn when the combination is entered. To unlock the 2230/2435

with a counter-clockwise turn, please refer to Step 6 to change the

Spindle Position: Spindle Position:
2:00 - 8:00 2:00 - 8:00

NN
(7= =2

N J
POSITION POSITION

OF SPINDLE OF SPINDLE

Handing Pin.

After changing the Handing Pin, the Spindle MUST be placed
through the latch at a 2:00 — 8:00 angle as shown.

LOCKEY 2000 SERIES
HOW TO CHANGE CODE

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
IMPORTANT: Ensure notched side of tumbler fits into slot. (Below — Far Right).
5. After changing your code, release the ‘C’ BUTTON to secure the tumblers

1. Using a #2 screwdriver, remove the four (4) Red Screws.
2. Carefully remove cover plate.
WARNING: Springs are attached to plate.

in place.

RED = CODE TUMBLERS
BLUE = NON-CODE TUMBLERS
‘C’ = CLEAR (DO NOT REMOVE)

5 :
G |(PO@DOOD a 1
2 | ® m@m@@ﬂ ‘@ ) 2t ]

A& ITFT’ 7 2
3. PRESS & HOLD ‘C’ BUTTON to release tumblers. 6. Replace the cover plate and secure with four (4) Red Screws,
IMPORTANT: ‘C’ Button must be pressed and held down when removing using a #2 screwdriver.
and inserting tumblers. Failure to do so will damage the lock and void 7. TEST CODE before installing/re-installing lock.

the warranty.

/—r—

WARNING:
Do NOT force tumblers into position!




DIGITAL DOOR LOCK ((DX TYPE))

TEMPLATE|INO.3230/3235
FOR BACK SET 60m/m (2-3/8") .

Fold along the edge of door *l

130 '

TROU DU HAUT

folding line of "For Right Hand Door"
folding line of "For Left Hand Door”

139Mm

T A~ g

For Right Hand Door For Left Hand Door

||l{|I|II|II|A B ’ﬂﬂ“lll’ | L
50 40 30 50 40 3 30 40 50 30405
50 40 30 : _ 30 40 50
T - i
||||||||’||||| ! ‘ll!l‘llll]lll
Mark in slot for E\E Mark in slot for
22mm (55/64") hole g 22mm (55/64") hole
at center of door edge : at center of door edge

0 40 30 50 40 3 nii 130 40 50 30 40 50
|||h|||!||n|D lennhuL bl @ Clulnly
|

| E
| )

Back Set 60mm(2-3/8") | Back Set 60mm(2-3/8") i
I 1
|



DIGITAL DOOR LOCK ((DX TYPE))

TEMPLATE|NO.3230/3235
FOR BACK SET 70m/m (2-3/4")

E~ Fold along the edge of door ~E

|
10Fs

TROU QU HAUT

folding line of "For Right Hand Door"
folding line of "For Left Hand Door"

E
153
5
n|||m||n||A Bn|nn|un| ||III|HH\I|IA Al LmL
0 40 30 5040 3 30 40 50 304
50 40 30 : ” 30 40 50
athlud ; g ' y il | il
M ; ; UL
Mark in slot for : N gE I Mark in slot for
22mm (55/64") hole ® 22mm (55/64") hole -
at center of door edge : TROU OU HAUT : at center of door edge
50 40 30 5040 3 S ______.___JL 304050 30 40 50
Mime; |||l||n|n| | L/ 10mmo hmlnulluD Cluthih
|
|
Back Set 70mm(2-3/4") J Back Set 70mm(2-3/4")
|
|

For Right Hand Door For Left Hand Door



LOCK [EY  cseres(c120, c-150, c-170)

R LIS.A INSTALLATION INSTRUCTIONS

No. Part Name C-120|C-150 | C-170
1 Outside Body 1 1 1

2 Inside Body 1 1 1

3 Rubber Trim Plate 2 2 2

4 | Mortised Striker (not shown) 1 1 0
5 Surface Strike Plate 1 1 0
6 Spindle 3 3 1

7 |Machine Screws M4 x 30,35 & 40mm | 1|1|1 | 1|11 | 1|1]1
8 Machine Screw M5 x 20mm 2 2 2

9 Wood Screw M4 x 16mm 2 2 0
10 Extra Code Tumblers (Red) 1 1 1
11 | Extra Non-Code Tumblers (Blue)| 2 2 2
121 Thin Door Kit (TDK) (not shown) 1 1 1
13 Spacers (not shown) 3 3 3
14 Tweezers 1 1 1
15 Hex Bolts 2 2 2

Step 1: Change User Code/Combination (OPTIONAL)
To change user code/combination, see instructions on reverse side.

Step 2: Prep Door for Installation with Template

Place template (supplied) on door and fold along door’s edge.

Depending on door configuration, you may need to change handing and/or reverse the bar (C-120) from long to short. See Steps 3 & 4.
Drill holes as instructed and mark location for Strike.

Step 3: Identify Door Handing
Right-Hand Doors — From exterior of door, hinges are on right-side (Fig. 1). RIGETQ-H1AND LE:TigH,iND
Left-Hand Doors — From exterior of door, hinges are on left-side (Fig. 2).

( I |
The C-120, C-150 and C-170 are factory pre-handed for right-hand doors. \%
@

(D
—- N

( I |
To change handing, remove the two blue screws and cover plate from Outside Body (#1) as shown. G
Next, move the pin from the right side of the Outside Body (#1) to the hole on the left side.

Replace plate and screws.

Step 4: Adjust Deadbolt Length (C-120 ONLY, if necessary)

Depending on door configuration, you may need to reverse the bar from long to short.
Remove silver screws and plate from the Inside Body (#2).

Reverse the bar.

Replace plate and secure with silver screws.

Step 5: Verify Correct Spindle Length
Hold the Inside Body (#2) and Rubber Trim Plate (#3) to the door.
Place Spindle (#6) through door into the Inside Body (#2), as far as possible.

Spindle (#6) should extend from exterior of door 3/8” minimum to 5/8” maximum.
If Spindle (#6) is too long, cut it to the correct length using pliers.

IMPORTANT: If Spindle (#6) extends less than 3/8”, it may not engage the lock.

If Spindle (#6) extends more than 5/8”, it will cause the lock to bind.

—=3/8"t05/8"
Y

Continued on Reverse Side Updated 6.1.16




L oc K E Y C-SERIES INSTRUCTIONS
CONTINUED...

[T USA

Step 6: Installation

Place the Rubber Trim Plate (#3) on the backside of the Outside Body (#1).

Place the Outside Body (#1) on the door. The Hex Bolts (#15) should extend into the top and bottom holes.
Insert the Spindle (#6) through the door into the spindle hole on the Outside Body (#1).

Place the Rubber Trim Plate (#3) on the backside of the Inside Body (#2).

Place the Inside Body (#2) to the door ensuring that the Spindle (#6) is inserted into the spindle hole.

If the Inside Body is not flush with the Surface Strike (#5) location, use Spacers (#13) to make Inside Body flush with Strike location.
NOTE: If Spacers do not make Inside Body flush with Strike location, you may need to trim the door jamb or mortise the strike.

Insert screws into the top and bottom holes of the Inside Body and secure with a screwdriver.
Test the lock to ensure the Deadbolt/Hookbolt is retracting correctly when turning the inside/outside knob.
Install Strike Plate (#5) (C-120 & C-150 only) in proper position and secure with Wood Screws (#9).

Step 7: For Doors Under 1” Thick (if necessary)
For doors under 1” thick, you will need to cut the Spindle (#6) to the appropriate size. See Step 5 to verify correct spindle length.
Remove Hex Bolts (#15) and use M5 Screws supplied in Thin Door Kit packet to secure lock to door.

Step 8: Using the C-Series Lock

From Outside:

The door will LOCK by turning the thumbturn to extend the deadbolt/hookbolt.

To UNLOCK, turn the thumbturn to clear the lock, enter the combination and turn the thumbturn to retract the deadbolt/hookbolt.
NOTE: If the deadbolt/hookbolt retracts without combination and requires a combination to lock (extend), you may need to change
handing. See Step 3.

From Inside:
The door will LOCK and UNLOCK by turning the thumbturn to extend or retract the deadbolt/hookbolt.
KA E- — — — — — — — — — — — — — — — — — — — — — -
How to Change User Code/Combination
1. Using a #2 screwdriver, remove the two (2) Red Screws. 4. With the thumb-turn held 90° to right or left, remove/add
2. Carefully remove cover plate. CODE (Red) and NONCODE (Blue) tumblers to create the desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code
WARNING: Springs are attached to plate. 5. After changing your code, release the thumb-turn to secure the

tumblers in place.

L,
p-
1
Of
.02

3. TURN & HOLD thumb-turn to right or left 90° to release tumblers. |6. Replace the cover plate and secure with two (2) Red Screws,
IMPORTANT: THUMB-TURN MUST be turned 90°and held when using a #2 screwdriver.

removing and inserting tumblers. Failure to do so will damage the 7. TEST CODE before installing/re-installing lock.

lock and void the warranty.

1® 85

e
e 6
19 64

Tarn & Hold

WARNING:
Do NOT force tumblers into position!
TURNING THUMBTURN 90°= CLEAR POSITION.

T O o ————
T
Important: E\mynva
Hold knob in W K
clear position,
right or left, while
changing code

For more helpful tips and installation instructions, visit www.LOCKEYUSA.com pdated 6.1.16




" TEMPLATE

c120 | "

o o
& =
) b
& =
e Tl
S o
16.mm o] &
_e|v = P
. It L
Sz =
lllllllll 5t m [ (o]
e B g
MIE g : 5
3 [ o ] £
i bl o3 e bnsl
“r' — bl
...... “
H
ol = : - v i = e
Ef = m E| =
"-Uj- u-ml!al« : ree = ey e y.:..ry\ -1 ] ST . " — .|MH¢U.’| .l.mn
_ ;
" B £ o
y & ) < 4
o -
m NI _ m
[ 4
xm L
........ A u\ i
F T 1 ! = " A AN, T B
;;;;;;;;; 1 = i mw
S \\ @.a_&, o i
2, 5m | </ S
N R
.. 18, om__ 12, 5mm

FOR RIGHT HINGED DOOR FOR LEFT HINGED DOGR
60, mm 9. nm




TEMPLATE

G150

FOR RIGHT
HINGED DOOR

18.mm

FOR LEFT
HINGED DOOR

= =
& S
b =
m | L
F 30, nm b
1Lt LLE
m LI
i I
51| g1 |18
i
ot e =N
= =
il . L0
4 15.mn 20, mm
Ty
_ Ill-ﬂnﬂ \l.Wl\....Vulﬁ/...ﬂ.l/
.............. ! ; ﬁu
e i ]
e r,./\.\
~n = A
Voo = Bl g
RO 2 -7 5
Johme— - . -y =]
D ¢
E|lE 2 E
R s N - P
i um eyl P
= P ¢ =
&l | e &
ol o
¥ )
{ a@@y :
M . -
—— .\ :
SR R I W = 14
& g .
3 o~ fll..ft... ..:.:....\L
3.1 3 33
19. mm 13,



 TEMPLATE

- ¢170 —

30, mm

128. mm
113

30. mm

21. mm




¥ @

Lockey P-Series
Installation Instructions for Keyless Panic Trims
310-P | 230-P | 285-P | 115-P | 160-P

Parts List 310-P 230-P 285-P 115-P 160-P
Outside Body 1 1 1 1 1
Rubber Escutcheon 1 1 1 1 1
Hex Bolts 2 2 2 4 4
Flat Spindle 1 1 N/A N/A 1
Twisted Spindle (35°) (R/L) 2 2 N/A 2 N/A
Twisted Spindle (45°) (R/L) N/A N/A 2 N/A N/A
30 mm. Screws 2 2 2 4 4
40 mm. Screws 2 2 2 4 4
Non-Combination Tumblers (Blue) 2 2 2 2 2
Combination Tumblers (Red) 2 2 2 2 2
Finish Washers 2 2 2 4 4
Tweezers 1 1 1 1 1

Lockey P-Series Keyless Locks are designed to replace the keyed cylinder on panic exits. P-Series locks are compatible
with MOST panic bars requiring a turn radius of 90 degrees or less. Modifications may be required for the locks to
operate with some panic bars.

1.) SET CODE/COMBINATION (310-P, 285-P, 115-P, 160-P)
Before installing the lock on the door, set the combination to your desired code. Use the How to Change Code
instructions (included) to change the code.

IMPORTANT FOR CHANGING CODE
When removing and inserting Tumblers, ALWAYS PRESS AND HOLD the “C” Button (clear).

PASSAGE FUNCTION

The 115-P and 285-P are equipped with a Passage Function. To use the Passage Function, push “C” to clear the lock
and then “R” (115-P) or “Y™” (285-P), followed by your User Code. To clear the Passage Mode, press “Y” or “R”
followed by “C”.

To disable the Passage Function, remove the “R” (115-P) or “Y” (285-P) Tumbler, leaving the slot empty.

2.) INSTALLATION
1.) After the panic bar is installed on the door, determine the center of the tailpiece hole on the outside of the door.
2.) Place the template (included) over the center hole. Mark the top and bottom mounting holes to mount the lock
body on the door.
3.) Drill mounting holes.
a. NEW INSTALLATION - Drill 3/8” mounting holes at the top and bottom, and a %2 (minimum) hole to
accommodate the tailpiece.
b. RETRO-FITTING - If the existing hole is 2” or less, proceed with Step 4. If the existing hole is larger
than 2” you may need to purchase a Lockey T-Metal or T-Cover plate to accommodate the lock.
4.) Place the rubber escutcheon on the back of the lock body and mount the lock on the door using the supplied
Finish Washers and Screws.
5.) After the lock is mounted on the door, place the proper spindle into the center (spindle) hole. You may need to
use the right or left twist depending on the knob/lever turn direction.

IMPORTANT:
Some panic bars, including DETEX, require the use of the U-Shaped Clip (included) to restrict the tailpiece from
extending through the tailpiece receiver (see instructions on reverse side).



Lockey P-Series - U-Shaped Clip Instructions

To properly install Lockey P-Series systems, you may need to use the supplied U-Shaped Clip

in order to restrict the tailpiece from extending through the cross-shaped tailpiece acceptor.

If the tailpiece extends beyond the tailpiece acceptor into the panic bar, the system may not
function. The U-Shaped Clip is not needed on all panic devices, but is recommended for DETEX.

1.) Place U-Shaped Clip into the cross-shaped tailpiece

acceptor ensuring that the clip sits flush inside the /’f’ _\\\
tailpiece acceptor. A
| | i.':.
2.) Insert supplied tailpiece into the tailpiece acceptor \ _,"
ensuring that the U-Shaped Clip restricts the tailpiece /
from extending through the tailpiece acceptor. .

Note: You may need to cut the tailpiece to ensure that it is the proper length for the lock.
DO NOT cut the twisted end of the tailpiece. In some cases, you may also need to modify
the tailpiece to create additional twist so that the tailpiece fully engages the panic device.
4.) Proceed with standard installation instructions.
Note: The U-Shaped Clip is included with all Lockey P-Series systems, but is not needed on all

panic devices. However, the U-Shaped Clip is highly recommended to ensure proper
operation oh DETEX devices.

*IMPORTANT

- After installation, if you wish to change the code, you must first remove the panic bar, and then
remove the lock.

LOCKEY P-SERIES
HOW TO CHANGE CODE

Using a #2 screwdriver, remove the four (4) Red Screws.
Carefully remove cover plate.
WARNING: Springs are attached to plate.

4.  While holding the ‘C’ BUTTON, remove/add CODE (Red) and NON-CODE
(Blue) Tumblers to create your desired code.
Ex: 3 Red = 3-Digit Code / 6 Red = 6-Digit Code

IMPORTAMNT: Ensure notched side of tumbler fits into slot. (Below — Far Right).

5. After changing your code, release the 'C' BUTTON to secure the tumblers
in place.

RED = CODE TUMELERS
BLUE = NON-CODE TUMBLERS
‘C’ = CLEAR (DO NOT REMOVE)
" = PASSAGE (‘¥ Tumbler may be removed to
disable PASSAGE FUNCTION)

PRESS & HOLD C’ BUTTON to release tumblers.
IMPORTANT: ‘C’ Button must be pressed and held down when removing
and inserting tumblers. Failure to do so will damage the lock and void

the warranty. T

Replace the cover plate and secure with four (4) Red Screws,
using a #2 screwdriver.

7. TEST CODE before installing/re-installing lock.

WARNING:
Do NOT force tumblers into position!




Important Template Disclosure:

File may NOT print at 100% accuracy. Please refer to
measurements when drilling final holes.

Please email info@lockeyusa.com for a faxed or mailed template
due to .pdf file printing with possible inaccuracies.

PLEASE CHECK MEASUREMENTS BEFORE DRILLING!

Please scroll down to view templates.


mailto:info@lockeyusa.com

230-P/285-P
TEMPLATE

AR

2

Eﬁ
L



115-P/160-P

{§0m!{m ‘ﬁ{} \ TEMPLATE

125 1 125
90m
£
d 3
_‘_____.\;\_____
| |
] |
e Bl ol el ¢ o ey B
=
~F
m




310-P

TEMPLATE

1 O “/md)

TROU QU HAUT

139M/m

TROU QU HAUT

<>1 Om/de

26™/m




Lockey® Key Safe Box
Instructions

It is recommended to change the code periodically, and to install the key safe in a concealed, discreet
position either internally or externally.

All Lockey® safes are supplied with the same factory code; it is 1982B, /O_\
THEREFORE, PLEASE SET A NEW CODE BEFORE USING. —O—‘
6 1
Changing the combination: 7 2
g 3
1. To open, press 1982B and turn knob to the right and lift out key safe front. 9 4
2. Press in B button and turn knob to left 0 5
3. Undo the 2 red screws and lift off the plate carefully. 5 A
Supplied with the key safe are: ©
1. 4 —fixing screws
2. 4 —raw plugs O
3. 1-—tweezer ®) 0]
4. 1 - Dblue non code tumblers \_)
5. 2 —red code tumblers

Determine your new code WHICH MUST ALWAYS END IN “B”.
NEVER REMOVE THE “B” TUMBLER.

Your code can consist of anywhere from 3 to 6 digits (ie. 690AB or 1580AB) (although your
group code is non-sequential, there are over 4,000 code possibilities)

The code is determined by the number of red tumblers used. (The blue tumblers are the non-
combination)

To increase your code, add more red tumblers, to decrease, add more blue

Turn the knob to the left to allow the tumblers to slide in and out easily =~ Row6tB  RowTtoA
Using the tweezers provided, move the tumblers to your own code (the

tumblers are shaped to fit into the slots) @ @
All the tumblers in row 6 to B must be placed in as per the diagram, all

the tumblers in row 1 to A must be placed in as per the diagram @ @
The colored tip must be facing upward

Do not force the tumblers in, simply turn the front knob and they will drop in.

Replace the plate securing with the red screws.
Test your new code before locking up your Key Safe
Lock your Key Safe by sliding into the box, pressing the B button and turning the knob to the left.

}\‘E’/“\r

www.lockeyusa.com




MS-40 SURFACE MOUNT
COMBINATION SLIDE-BOLT

LOCKEY

Features: _ Security Plate

- Resettable combination

- No keys to lose

- 10,000 different combinations

- Corrosion resistant zinc diecast body

- Suitable for horizontal and vertical fixing

Dimensions:

Height: 2"
Width: 3 1/2"
Depth: 1 1/4"
Throw: 7/8"

(Fig.1)
@ <€«——Silver Pin

To Open:
Rotate all 4 dials to the pre-set combination along the center line. The pre-set factory combination is 0-0-0-0.

To Set Your Own Combination:

1. On the end of the Slide Bolt, fully depress the small silver pin (Fig. 1). While holding in the pin, rotate the 4 dials
to your chosen secret combination. Ensure the numbers are positioned centrally and have clicked into position.

2. Release the pin to the original position. Memorize and record the new combination for future reference. The
new combination is now set.

To Lock:

The combination must be scrambled by rotating the 4 dials.

Note: The slide bolt can be locked in the closed or open position.

The dials automatically stop at zero when rotated towards the slide bolt. This feature helps to open the lock in low
light conditions by counting the clicks as the dials rotate.

Installation Instructions:

1. Hold the Security Plate and Slide Bolt in the desired position. Check that the Slide Bolt and the door/gate will
function properly once completely installed. Remove the Slide Bolt from the Security Plate and set aside. Mark the
location of the 4 screw holes on the Security Plate and install the Security Plate.

2. Next, mount the Slide Bolt on the Security Plate using all 4 corner fixing holes. Screws should be tightened.

3. Hold the Catch and the Catch Plate in the required position and make sure the Slide Bolt and the door/gate will
open and close correctly. Set the Catch aside in order to secure the Catch Plate in position using 2 screws.

4. Secure the Catch to the Catch Plate using the remaining 2 screws. Your MS-40 Surface Mount Combination
Slide-Bolt is now installed.

Note: It is recommended that dials are rotated weekly to keep them moving freely.




_USA

TURTLE BACK TB100 HYDRAULIC GATE CLOSER

The LockeyUSA Turtle Back TB100 is a hydraulic gate closer designed to push a
gate closed with adjustable hydraulic speed control. Before installing the TB100,
please read instructions completely and confirm that the gate is in good working

order and operates smoothly. If not, repair gate before mounting the TB100.

MOUNTING INSTRUCTIONS:

The LockeyUSA Turtle Back TB100 must mount on the hinge side/pull side
of the gate in order to push the gate closed. The TB100 works best if the
gate has in-line/flush/butt hinges flush with the gate post with 1” or less
gap. For gates with offset hinges or more than a 1” gap, modifications will
be needed to use the TB100. Visit www.LockeyUSA.com for more options
and full line of hydraulic gate closers and gate security products.

INSTALLATION INSTRUCTIONS:

1.0Place Anchor Bar on the gate with Hinge Bracket on post (works on left or right
hand gates by reversing hinge bracket).

O Align the edge of the Hinge Bracket with the edge of the gate post.

O Mark and then drill a 3/16” hole in any of the four Hinge Bracket holes and insert
and tighten one 1-1/2” screw.

O If the wood post is round, the Hinge Bracket must be mortised into the wood
post for firm mounting.

2.0With the Hinge Bracket attached and the gate closed, swing and hold the
Anchor Bar against the gate and trace the outline of the Anchor Bar Slot.

O Swing back the Anchor Bar and mark a vertical line %” back from the end of the
Anchor Bar Slot (furthest away from hinge).

3.0Center the Anchor Connector Plate(B) on the %” mark.

O Mark the location of the two screws and drill 1/8” holes in the gate.

O Insert the Clevis Pin(A) into the vertical slot in the Anchor Connector

Plate and attach the Anchor Connector Plate to the gate with two 5/8” screws(C).
O Place two Slide Washers(D) onto the Clevis Pin.

OSwing the Anchor Bar over the Anchor Connector Plate so the Clevis Pin goes
through the anchor bar slot.

O Place the Steel Washer(E) onto the Clevis Pin and install the Cotter Pin(F)
through the hole in the Clevis Pin.

IMPORTANT: CHECK THAT THE BAR WORKS WITHOUT BINDING BY SWINGING THE

GATE OPEN AND CLOSED. IF BINDING OCCURS, REMOVE SCREW AND REPOSITION.

4.0If the Anchor Bar assembly works freely without binding, finish installing the 3
remaining 1-1/2” Screws into the Hinge Bracket.

5.0Locate the Speed Adjustment Knob on the Hydraulic-Spring Assembly.

O With the speed adjustment knob facing up, align the Hinge Knuckle in between
the Hinge Bracket and insert a Hinge Bolt.

OSecure with a Nut.

OSlightly open the gate to get the proper hinge alignment then connect the other
Hinge Knuckle to the Anchor Bar.

OInsert Hinge Bolt and secure with a Nut.

6.00pen the gate and remove the Wing Key from around the Piston Rod.

O Save the Wing Key, as it must be reused should it be necessary to remove the
Hydraulic-Spring Assembly.

OOpen the gate and allow the Turtle Back to close the gate.

OThe Speed Adjustment Knob controls the closing speed of the gate. Rotate the
speed adjustment knob clockwise to slow the speed of the gate during close, or
counterclockwise to increase the speed of the gate during close.

(Note: Turn Speed Adjustment Knob in 1/8 turn increments. Increase speed to
overcome a lock set with a strong latch.)

7.0Snap the Cover over the Hydraulic-Spring Assembly with the curved end up and
the bent lip on bottom, as shown in Diagram 4. Your installation is now complete.

Gate Post
| Diagram 1
[
Anchor Bar
3/4” mark
A X
(_@ -
Hinge
Bracket Gate
Diagram 2
C BN
1 I
Anchor Bar Slot ‘J(' 3/4” ‘
A Anchor Connector Plate
\/\
% : %
Diagram 3
Speed Adjustment
Casing Edge

5\ Wing Key

Hinge Bracket

e\ e

Hinge Knuckle

Stop Nut Cylinder Spring

Note: A mechanical gate stop should be installed to prevent
gate from over opening.




TURTLE BACK TB100 HYDRAULIC GATE CLOSER

YLE

LOCKEY

ADDITIONAL MOUNTING INSTRUCTIONS
(FOR CHAIN LINK & METAL GATES):

With so many types of gates—chain link, ornamental iron, etc.— the installer
may need additional mounting plates (not included) to adapt to their
application.

ALTERNATE METAL POST INSTALLATION:

Round metal post: Weld an “L” angle or plate to the post so the mounting
surface is parallel to the gate in the closed position. Align per instruction and
clamp the Hinge Bracket to the new plate. Then bolt (not included) or weld

into place. Diagram 5

Il

Flat or square metal post: Locate desired mounting location, align Hinge
Bracket per instructions and bolt or weld into place.

1/8” x 2” Metal Strip =

1

ALTERNATE METAL GATE INSTALLATION:

el
= I

Metal Plate —

Some metal gates do not have the proper mounting surface, such as a chain
link gate. A wooden or metal strip (not included) wide enough to mount the
Anchor Connector Plate (approximately 2”) will be needed. Bolt or weld the
strip horizontally side to side across the gate’s wire mesh. Following the
Installation Instructions Step #3, the Anchor Connector Plate can now be
mounted to the gate, as shown in Diagram 5.

ﬁg: Adjustable
650+ Gate Closers

LOCKEY

Visit www.LockeyUSA.com for
more gate security products.




[ OCKEY

LS A

Residential/Light Commmercial Gate Closer
TB175

Ins t ﬂ.llﬂ.ti on Ins truc tiﬂ n 1.Maasura tha roller posiian by the pasitaening mark

(e B-3/4" from the column adga) &nd secure It on the
diaar fnca.

Hinge

for Gate Closer

.304°(220mem)

Faller uril ——
[Weaight limit per closer up to 120 1b.) _-'=.‘_‘—‘——-E .
g b
® Installed on e hings (pull) side of ha door. =
® Could e placed at the top. middle or solbom ol he deaee, .
® Tha column should Favve a llat sudaca of 134" (45mm) wide al the " ikl L
casirad mounfing location, ||[
® Thie doos should be approximately dush vith she cotsmn. | [
a i
2.Pull olf the end cower, shida Ihe clser graove onla lha 3. Secure the brackel an B column,
ralier, Inan push back lhe and cover.
Bracksl
|,| -—Allgn tha bracket wilh the column and

{:.' End cover.

Lﬁ?ﬁ __

hold the closer horizomlally.

1— Tha celumn should have = flat surface,

4. cpen Ll daos slightly fe lel the holding pin 5.Adjusk the doar closing speed with the daor open al.
L-vp afl Imrn 1he closer. aboan 45°,

ﬁ“

l'\ Wﬂ ab

6.4djus! Iha laiching speed with the door complelaly ciosad. 7. Ta have the door opasate wilh 8" Held open® mode, simply
marmova the screw {rom the hole *A” end attach |t o hole "87,
Do nob alternpt Lo lorce the closer beyond the screw.

HD||:|I£‘.g pin.

'»@sl

_q'q:r::—'---_-______ Doing 0 may damage Ihecleses,
R e l’ Hola & -Serow ai non hald cpen positian,
i L]
e L
e 4 s
— —— ] 1”
T ==

-Helw B - hald open posilion,
| hg

www.lockeyusa.com

©Lockey Systems PO Box 543 Mount Pleasant Michigan 48804-0543 United States of America



HYDRAULIC GATE CLOSER
. / TB200, TB400, TBG60O
NS A INSTALLATION INSTRUCTIONS

Important:
- This gate closer is mounted on the swing/open side of the gate and pushes the gate closed.
- A Gate Stop must be installed to keep gate from opening beyond 90 degrees.
- If using tension/spring hinges, release all tension and remove spring closers.
- Do NOT use with bulldog/strap style hinges. For best results, use male/female style hinges.

Gate Closer | 36” Gate | 48” Gate | 60” Gate
No. Part Name Qty. Added Opening Force
1 Hydraulic Cylinder 1 No Closer 3/4 |b. 1/2 Ib. 1/4 lb.
2 Post Bracket (Triangular) 1 |@ <-—GateEnd Post End ---> TB200 6 Ibs. 4 |bs. 3 |bs.
3 Ga_te_Bracket 1 T TB400 10 lbs. 8 Ibs. 6 lbs.
S TirgBa___ T TB600 | 13Ibs. | 101bs. | 8 lbs.
6 ecurm_g%;a(ﬁgon £d 7 1@ Added Force at 45 degrees Open
7 cap Screws 2 TB200 7 lbs. 5 Ibs. 4.5 lbs.
8 Washers 2 ® TB400 13 Ibs. 9.5 lbs. 8 lbs.
9 Retaining Bar 1 ~ TB600 18.51Ibs. | 13.51bs. | 12 lbs.
Constant
@ = ® @ . ® ® : @ Py Closing Approximate | Approximate
B Vo, 2 s el [ T | Pressure Width Weight
K‘\ ,;?\() ) ¥ / o ~ e % ’/ ¥ e 0 Ibs.
<L el ; b =~ - 451bs.__|[ 36-52 Inches | 50-125 Ibs.
\\\" AW = 901bs. || 40-64 Inches [ 75-175 Ibs.
D = 135 lbs. 44-72 Inches | 150-250 Ibs.
KEY:

e e INSTALLATION INSTRUCTIONS:

Step 1: Secure Post Bracket (#2) to Gate Post *This step is the MOST important. The Post Bracket (#2) MUST be mounted first.*

Hold Post Bracket (#2) to the face of the gate post.

Measure from the center of the first hole on Post Bracket (#2A) to the center of the Hinge Pin(®.

This measurement MUST be between 2” and 4”.

Clamp bracket into place.

Note: Regardless of hinge arrangement, the measurement from the center of the Hinge Pin(®to the center of hole 2A on Post Bracket (#2)
must not exceed 4” or damage to the gate closer may occur.

—— = MUST measure 2-4” =
|
Gate o Gate [») Gate Gate —

Post | Post Post |7 Post

> > ——®
o N o
o . 0
o o o

Step 2: Measure/Secure Gate Bracket (#3)

With gate in closed position, attach Fitting Bar (#4) to Post Bracket (#2) using a Securing Pin (#5) in hole 2-D (shown below (left)).
Next, place a Securing Pin (#5) in the opposite end of the Fitting Bar (#4) and secure to the Gate Bracket (#3).

Hold Gate Bracket (#3) to the gate and clamp into place.

The distance from the center of hole 2-D and the center of the Gate Bracket must measure 29 3/8”.

Clamp/secure brackets then remove Fitting Bar (#4).

Note: If wall mounting, use Gate Bracket (#3) on the wall and the Post Bracket (#2) on the gate (shown below (right)).

Gate in CLOSED position 5 Gate in CLOSED position ll‘
I L Gate v |
| l e ZZBA
Gate @ Gate v S
Post v
=293/8"

TIVM

Wall Mounting a TB Gate Closer
(may restrict 90 degree opening)

=293/8"




INSTALLATION INSTRUCTIONS CONTINUED:

Step 3: Verify Measurements in OPEN Position

Open gate 90 degrees from closed position.

Measure the distance from the center of hole 2D on the Post Bracket (#2) to the center of the Gate Bracket (#3).
The distance MUST measure 22” or MORE. If the distance is less than 22”, start back at Step 1.

Once you have verified all measurements, close the gate and secure all mounting brackets.

Gate in OPEN position: Install a Gate Stop:

Gate @ Gate @

Post Post

Open gate

@ 2 90 degrees :
28 from closed
% IMPORTANT: A gate stop MUST

D be installed to prevent gate from
opening beyond 90 degrees.

Measurement from

hole 2D to the center Opening past 90 degrees will

of Gate Bracket (#3) cause hyper-compression which
must be greater than will damage the closer.

or equal to 22"

m— > O
m— >0

LockeyUSA manufactures the
GS90-MD and GS90-HD, along
with the Chainlink Compatible
Gate Stop, GSLINX.

Step 4: Install your LockeyUSA TB Gate Closer

Grease Securing Pins (#5) with light silicone grease.

Place “Post End” of your gate closer to Post Bracket (#2).

Secure using a greased Securing Pin (#5) and two Spacers (#6), one spacer on top and one on bottom of the closer.
Secure with a Washer (#8) and Cap Screw (#7) and tighten (shown to the right).

Next, open the gate slightly to align the hole on the “Gate End” of the gate closer to Gate Bracket (#3).

Secure using a greased Securing Pin (#5) and two Spacers (#6), followed by a Washer (#8) and Cap Screw (#7).
Tighten.

With gate closer secured to the gate, slowly open the gate to remove Retaining Bar (#9).

To adjust speed/force:
Move gate closer to desired mounting hole.
A= Least Closing Force/Fastest Closing Speed
D= Maximum Closing Force/Slowest Closing Speed

Gate Closer Installed

Post

Gate
Post
Minimum D A Faster
O
8
Force ¢ Speed|
D
@]
Maximum Slower

450+ Gate Closers

TBE%I Adjustable

LS A
Visit www.LockeyUSA.com for
more gate security products.

_“' _‘.\.u\im\\&
L Shieldls




ADJUSTABLE HYDRAULIC GATE CLOSER
- . TB250, TB450, TB650
i sS A INSTALLATION INSTRUCTIONS

Important:
- This gate closer is mounted on the swing/open side of the gate and pushes the gate closed.
- A Gate Stop must be installed to keep gate from opening beyond 90 degrees.
- If using tension/spring hinges, release all tension and remove spring closers.
- Do NOT use with bulldog/strap style hinges. For best results, use male/female style hinges.

Gate Closer | 36” Gate | 48” Gate | 60” Gate
No. Part Name Qty. Added Opening Force

1 Hydraulic Cylinder 1 No Closer 3/4 |b. 1/2 Ib. 1/4 |b.

2 Post Bracket (Triangular 1 @ < Gate End Post End ---> TB250 6 Ibs. 2 bs. 3 Ibs.

: S hracket > | 18450 [ 101bs. | 8ibs. | 6lbs.

itting Bar TB650
5 | Securing Pins (Hexagon Head) 2 13 1bs. 10 1bs. 8 Ibs.
6 Spacers 7 @ Added Force at 45 degrees Open

7 Cap Screws 2 TB250 7 lbs. 5 Ibs. 4.5 Ibs.

8 Washers 2 TB450 13 lbs. | 9.5 Ibs. 8 Ibs.
TB650 18.5 Ibs. | 13.5 Ibs. 12 lbs.

Constant
® — 7 ® ® @) Closing Approximate | Approximate
% ~ - ‘ Pressure Width Weight
I 3 { e 2 0 lbs.

S ; = b - 451bs. || 36-52 Inches | 50-125 Ibs.

“ e W 901bs._|[740-64 Inches | 75-175 Ibs.

= 135 lbs. 44-72 Inches | 150-250 Ibs.

KEY:
(&) =Hinge Pin
— — MUST measure 2-4” INSTALLATION INSTRUCTIONS:

Step 1: Secure Post Bracket (#2) to Gate Post *This step is the MOST important. The Post Bracket (#2) MUST be mounted first.*
Hold Post Bracket (#2) to the face of the gate post.

Measure from the center of the first hole on Post Bracket (#2A) to the center of the Hinge Pin(®.

This measurement MUST be between 2” and 4”.

Clamp bracket into place.
Note: Regardless of hinge arrangement, the measurement from the center of the Hinge Pin(®to the center of hole 2A on Post Bracket (#2)

must not exceed 4” or damage to the gate closer may occur.

—— = MUST measure 2-4” =
=
Gate > Gate @ Gate Gate |

Post/] Post Post |2 Post

Step 2: Measure/Secure Gate Bracket (#3)

With gate in closed position, attach Fitting Bar (#4) to Post Bracket (#2) using a Securing Pin (#5) in hole 2-D (shown below (left)).
Next, place a Securing Pin (#5) in the opposite end of the Fitting Bar (#4) and secure to the Gate Bracket (#3).

Hold Gate Bracket (#3) to the gate and clamp into place.

The distance from the center of hole 2-D and the center of the Gate Bracket must measure 29 3/8”.

Clamp/secure brackets then remove Fitting Bar (#4).

Note: If wall mounting, use Gate Bracket (#3) on the wall and the Post Bracket (#2) on the gate (shown below (right)).

Gate in CLOSED position 5 Gate in CLOSED position Ii‘
' L Gate v |
! l 2 e
Gate @ Gate v S
Post v
=293/8"

TIVM

Wall Mounting a TB Gate Closer
(may restrict 90 degree opening)

=293/8"




INSTALLATION INSTRUCTIONS CONTINUED:

Step 3: Verify Measurements in OPEN Position

Open gate 90 degrees from closed position.

Measure the distance from the center of hole 2D on the Post Bracket (#2) to the center of the Gate Bracket (#3).
The distance MUST measure 22” or MORE. If the distance is less than 22”, start back at Step 1.

Once you have verified all measurements, close the gate and secure all mounting brackets.

Gate in OPEN position: Install a Gate Stop:
Gate (.) Gate /.)
Post Post N
Open gate
@ 2 90 degrees
28 from closed
% IMPORTANT: A gate stop MUST
2D be installed to prevent gate from
G opening beyond 90 degrees. G
A A
Measurement from T Opening gate past 90 degrees T
hole 2D to the center e may damage the gate closer and
of Gate Bracket (#3) void product warranty. E
must be greater than
or equal to 22" LockeyUSA manufactures the
q GS90-MD and GS90-HD, along
with the Chainlink Compatible
Gate Stop, GSLINX.

Step 4: Install your LockeyUSA TB Gate Closer

Grease Securing Pins (#5) with light silicone grease.

Before installing, make sure gate closer is compressed under 29” end to end.

Place “Post End” of your gate closer to Post Bracket (#2).

Secure using a greased Securing Pin (#5) and two Spacers (#6), one spacer on top and one on bottom of the closer.
Secure with a Washer (#8) and Cap Screw (#7) and tighten (shown to the right).

Next, open the gate slightly to align the hole on the “Gate End” of the gate closer to Gate Bracket (#3).

Secure using a greased Securing Pin (#5) and two Spacers (#6), followed by a Washer (#8) and Cap Screw (#7).
Tighten.

Adjusting your LockeyUSA TB Gate Closer

With the gate closer secured to the gate, slowly turn the adjustment dial towards FASTER. The gate will slowly close.
Open the gate and let it close again, using the dial to adjust gate closing speed.

When the desired closing speed is met, tighten set screws on the adjustment dial to prevent speed tampering.

Gate Closer Installed To adjust force:

Set

Gate Move gate closer to Sarews
@ Gate desired mounting hole.
Post

Minimum Gate
Post

oo o o

Maximum

A= Minimum closing force
D= Maximum closing force

LS A
Visit www.LockeyUSA.com for
more gate security products.




NS A

Installation Instructions

Lockey®TB-950 Magnum

Concealed, high use, pedestrian gate closer
(with individual hydraulic controls for closing & latching speeds)

The Lockey TB-950 Magnum pedestrian gate
closer is an all-in-one closer and hinge system
which is designed for installation on high use
gates.

With the closer unit concealed inside a strong
steel housing, the Lockey TB-950 Magnum is
tamper and vandal resistant.

Installation of the Lockey TB-950 Magnum is
normally done when the gate is being fabricated,
but can be done afterwards, if required. The
closer housing and bottom support are welded to
the bottom of the gate and post, and the closer
top pivot is welded to the top of the post. When
the closer housing, bottom support and top pivot
are welded to the gate and post, they can be
galvanized/painted along with the gate and posts.

Whether the closer is for use with a lock, latch or
electromagnet, the two hydraulically controlled
speed adjustments will give the correct closing
speed. There is one control to adjust the closing
speed, the other regulates the latching speed.
Both controls are hidden underneath the gate
closer housing and can be easily adjusted with an
Allen key.

The gate closer housing includes a mechanical
stop which restricts the opening of the gate to
avoid damaging the closer. The closer can be set
for right or left hand without any additional parts
or fabrication work.

Limited maintenance is required, only regular gate
inspection and periodic lubrication.

Features

e Fits gates 40 - 48” wide & up to 72" high
e Suitable for gate weight up to 240Ib

¢ No hold open (suitable for security gates)
e Hydraulically adjustable closing speed

e Hydraulically adjustable latching speed

e Restrictor to avoid over opening

e Speed adjustments hidden from view

e For all temperatures down to -40°F

=

LockeyUSA | PO Box 543, Mt Pleasant, MI 48858 | www.LockeyUSA.com

TB-950 Magnum Instructions



Installation Instructions

Lockey®TB-950 Magnum

Concealed, high use, pedestrian gate closer
(with individual hydraulic controls for closing & latching speeds)

#3
#4
#5
#6
#7

Step 1

Closer unit
Closer housing
Bearing

Washer

Drive plate

Top pivot
Bottom support
Internal bracket

Remove all parts from housing #2

Step 2

Weld housing #2 to underside of gate allowing correct gap
between gate frame and gate post (measurement between

centre pivot of closer and gate post is 4 3/8")

TB-950 Magnum Instructions

LockeyUSA | PO Box 543, Mt Pleasant, MI 48858 | www.LockeyUSA.com



LOCH

S A

Installation Instructions

Lockey® TB-950 Magnum

Concealed, high use, pedestrian gate closer
(with hydraulic controls for closing & latching speed)

Step 3

Weld the closer housing #2 to the underside of the gate in the correct position giving the
desired clearance between the gate and post. The distance from the face of the post to the
centre of the closer pivot is 4 °/,,” (110mm) when gate is in closed position.

Step 4
Weld bottom support #7 to the gate post

Step 5
Weld top pivot #6 to top of gate post

*/s" 43/ 4"

LockeyUSA | PO Box 543, Mt Pleasant, MI 48858 | www.LockeyUSA.com

TB-950 Magnum Instructions



Installation Instructions

Lockey® TB-950 Magnum

Concealed, high use, pedestrian gate closer
(with hydraulic controls for closing & latching speed)

Step 6

After galvanizing/painting, grease roller
bearing, and replace parts into closer

housing #2 placing the drive plate #5 to the ~

correct handing and then place a small piece T o '

of adhesive tape across drive plate #5 and N ' W

closer housing #2 to secure while mounting \\ - )

gate " ey
L

Step 7 )/ --

Mount gate to post | u J

Step 8

Adjust closing speed (hole nearest post) and
latching speed (hole farthest from post)
using 3mm Allen key

Maintenance

The regularity of maintenance should reflect the frequency of use, environment and the likelihood of van-
dalism or misuse. Should you require more information about gate closer maintenance, please contact
us using the contact information at the bottom of this page.

The following checks and lubrication should be regularly completed:

1) Check to ensure all fastenings are secure
2) Check function of closer
3) Lubricate roller bearing

Disclaimer

LockeyUSA will not accept any responsibility whatsoever for damage caused by incorrect fitting, misuse, or incorrect assessment of the
application. In purchasing this product, the purchaser accepts all responsibility for the installation, operation and maintenance of the
product.

For more information, please review LockeyUSA's full warranty at www.lockeyUSA.com

LockeyUSA | PO Box 543, Mt Pleasant, MI 48858 | www.LockeyUSA.com

TB-950 Magnum Instructions Updated 3.1.16 4



LOCKEY

LR S )

Installation Tips for the Panic Shield / Panic Mount

Parts Included PS-12 PS-24 PS-1112 PS-1124 PS-DX24 PSDX12
Adjustable Panic Mount/Shield 1/1 1/1 1/1 1/1 1/1 1/1
1/4”x 9/16” Ribbed Track Bolt V//// V//// 3 6 2 2
1/4” x 1” Machine screw W ///// ///////AV/////A 2 2
1/4 “ Nylon Lock Nut V/// ////// 6 5 4 4
11/4” Stainless Self Drilling Screw 4 6 8 8 4

STEP1: Determine adjusted size of Panic Shield

All Panic Shields have one (1) inside and one (1) outside adjustable sliding panel, and are
designed to be mounted on the inside of the gate. For chain-link gates, leave about 1” of space
on each end for latch and hinges. Panic Shield can be mounted on the RIGHT or LEFT side of
gates 28”-54” wide. Determine the size of the mounting plate needed for proper installation
and make note of expanded panel size. The PS-1112 and PS-1124 are predrilled to fit the
Lockey PB-1100 Panic Bar. The PS-DX is predrilled to fit DETEX Panic Bars.

PS-12 / PS-24 mounting Tips
The PS-12 and PS-24 Panic Shields/Mounts can be used to mount any panic bar. You will need
to drill holes as needed.

PS-1112 / PS-1124 / PS-DX Mounting Tips
Determine gate side. Panic bar mounts on lower half of Panic Shield/Mount.
If using a lock box, install prior to mounting the Panic Shield on the gate.

STEP 2: INSTALL LOCK BOX

Install keyed cylinder or Keyless Panic Trim at this time. In most cases the Lock Box is held on
with the mounting screws from the locking mechanism. If using boxes other than the PS-GB-5
(keyed cylinder) or the GB-PS-900 (285-P Keyless Panic Trim), you WILL need to drill mounting
holes accordingly (mounting screws are supplied with lock). After the Lock Box is installed,
place tail piece in the proper position.

You are ready to install your panic exit device.



STEP 3: FITTING PANIC BAR TO SHIELD/MOUNT

See Installation Instructions and mount the Panic Bar as directed using the 1/4” x 9/16” Ribbed
Tack Bolt, and 1/4” Nylon Lock Nuts. Make sure the tail piece is centered and is in the proper
position. The tail piece MUST be in the proper position to work correctly.

Now, adjust panic shield to size determined in Step 1. If panic bar is too long for panic shield,
cut the panic bar down to size needed for proper installation. After panic bar and shield are
sized correctly, use the self-tapping screws or drill 1/4” holes and place 1/4” x 9/16” and nylon
lock nuts to mount the end of the panic bar.

Your panic bar should be mounted at this time. Check to be sure the lock mechanism works
properly. If working properly, you are ready to install panic shield and exit device to the gate.

STEP 4: INSTALL PANIC BAR / SHIELD TO GATE
Check to ensure the panic device and lock are functioning correctly.

Measure up from the ground/surface 40” and mark gate. Your panic bar must be 40” from
surface (40 — 42 inches is the standard height to mount exit devices). Check your local code for
proper height. Place Panic shield on the inside of gate. Attach the panic shield to gate using
the supplied 1 %” Stainless Steel Self-Drilling Tech Screws. It is helpful to pre-drill pilot holes.

Your panic shied is now installed. Now install your Panic Bar strike/ keeper. If using a gate stop
/strike bracket, install it at this time. We recommend using a Lockey PS-SB Panic Stop/Strike
Bracket with Lockey Panic Shields.

Visit LockeyUSA.com to learn more about the NEW STANDARD for door & gate hardware.

Panic
Hardware

www.LockeyUSA.com



_USA

/% E % PS-SB Panic Strike Bracket / Gate Stop / Latch Keeper

Part Name

Qty.

3” U-Bolt

3/8 Washer

Lock Nut

Self-Tapping Screw

3/8” x 3/4” Bolt

RPINWIN |-

S A

PS-SB Panic Strike Bracket / Gate Stop / Latch Keeper

Part Name

Qty.

3” U-Bolt

3/8 Washer

Lock Nut

Self-Tapping Screw

3/8” x 3/4” Bolt

R INWIN|-

PS-SB Panic Strike Bracket / Gate Stop / Latch Keeper

Part Name

Qty.

3” U-Bolt

3/8 Washer

Lock Nut

Self-Tapping Screw

3/8” x 3/4” Bolt

RPINWIN|F-

Helpful Mounting Tips

*Install your Panic Bar before installing the PS-SB Strike Bracket

Using the screws and hardware provided with your Panic Bar, install your Panic Exit strike
on to the PS-SB bracket with the flat side of the bracket facing out. With the gate in the
closed position, place strike bracket so the latch fits in the keeper, and mark the post. If
using on a chain link gate, use U-Bolt. For square posts, use self-tapping screws. Be sure
that you have enough clearance for the gate to open freely. If gate fits loose when
closed, you may place the 3/8” x 3/4” bolt in the slotted adjustment gap to act as a stop.
Adjust strike accordingly to obtain proper fit. Finish using self-tapping screws for added
security and strength, and to keep PS-SB in position.

Helpful Mounting Tips

*Install your Panic Bar before installing the PS-SB Strike Bracket

Using the screws and hardware provided with your Panic Bar, install your Panic Exit strike
on to the PS-SB bracket with the flat side of the bracket facing out. With the gate in the
closed position, place strike bracket so the latch fits in the keeper, and mark the post. If
using on a chain link gate, use U-Bolt. For square posts, use self-tapping screws. Be sure
that you have enough clearance for the gate to open freely. If gate fits loose when closed,
you may place the 3/8” x 3/4” bolt in the slotted adjustment gap to act as a stop. Adjust
strike accordingly to obtain proper fit. Finish using self-tapping screws for added security
and strength, and to keep PS-SB in position.

Helpful Mounting Tips

/ AN I
*Install your Panic Bar before installing the PS-SB Strike Bracket

Using the screws and hardware provided with your Panic Bar, install your Panic Exit strike
on to the PS-SB bracket with the flat side of the bracket facing out. With the gate in the
closed position, place strike bracket so the latch fits in the keeper, and mark the post. If
using on a chain link gate, use U-Bolt. For square posts, use self-tapping screws. Be sure
that you have enough clearance for the gate to open freely. If gate fits loose when closed,
you may place the 3/8” x 3/4” bolt in the slotted adjustment gap to act as a stop. Adjust
strike accordingly to obtain proper fit. Finish using self-tapping screws for added security
and strength, and to keep PS-SB in position.



@ PARTS NAME

IF DOOR IS LESS THAN 36", REMOVE
END COVER AND CUT SECTION "A*
TO DESIRED LENGTH.

T

BODY

/

B

PUSH RAIL

HEAD COVER

STRIKE SHIM

o)

1/4"-24P x3/4" (3 PCS)
FLAT HEAD

)

1/4"-20P x 3/4" (6 PCS)
ROUND HEAD
MACHINE SCREWS

DOGGING DEVICE 6

END COVER

DOGGING WRENCH

Double Door Strike

(&)

(Not Included-Must
be ordered separately)
(for use on Rim x Vertical

Rod applications) ENE COVER MOUNTING BRACKET

(2] TYPE OF INSTALLATION

DOUBLE DOOR WITHOUT MULLION

1.USR TEMPLATE ENCLOSED
TO MARK DOOR FACE AND
DRILL HOLES SHOWN
WITH THE DIAMETERS

DOOR

2."B"LENGTH SHOULD BE
MEASURED FROM THE
CENTER OF CYLINDER
HOLE TO THE END OF

27/16"
THE BODY

SINGLE DOOR DOUBLE DOOR WITH MULLION
[TRiv ]
(—*Tm . boon [ooor IR voor )
= | -DOUBLE DOOR STIKE
25/8" 27/16" 27/16" 27/16"
K FoLD Here From Jams
) DRILL HOLES

DRILL& TAP FOR (6) 1/4" X 20P MACHINE SCREWS FOR EXIT DEVICE AND
DRILL & TAP FOR (3) /4" X 20P MACHINE SCREWS FOR ROLLER STRIKE

INSIDE FACE OF THE DOOR

ol

22

JAMB

FOR MOUNTING
£ND Cove

40" ASOVE FLOOR

NOTTO SCALE
inside face of the door




() INSTALL KEY CYLINDER

1.PLACE THE CYINDER INTO THE
HOLE ON THE DOOR

2.KEEP THE TAILPIECE HORIZONTAL

3.TIGHTEN THE SCREWS

c==q 9/32'~15/32*

TAILPIECE PROJECTION

If required or skip to srep 5

OUTSIDE FACE OF THE DOOR

CYLINDER

@ LINER
INSTALLATION
RING

e

SCREWS

(5] INSTALL BODY

1.REMOVE THE HEAD COVER AND
THE SCREWS ON THE END
COVER

2.ALIGN THE SCREW HOLES WITH
THE HOLES ON THE DOOR

3.TIGHTEN THE SCREWS ON THE
BODY AND THE LINING OF END
COVER

(6] INSTALL BOTH HEAD AND END COVER

1. PUT ON THE HEAD COVER AND END COVER

2. TIGHTEN THE MOUNTING SCREWS ON THE HEAD COVER

AND END COVER.

i .

N

INSTALL ROLLER STRIKE

1.CLOSE DOOR AND MARK LATCHBOLT ON
DOOR JAMB WITH A PENCIL.

2.PLACE ROLLER STRIKE ON DOOR JAMB.
ALIGN CENTER OF ROLLER STRIKE WITH
CENTER OF PENCIL MARK. THEN ALIGN
OUTSIDE EDGE OF ROLLER STRIKE WITH
OUTSIDE EDGE OF DOOR JAMB.

I=hL

1. JAMB
SLOT

2. ADJUSTABLE

3.MARK IN THE CENTER OF 2 ADJUSTABLE SLOT AND DRILL 7/32"
PILOT HOLE AND 1/4"-20P THREAD AT MARKED LOCATIONS THEN
TIGHTEN WITH 1/4"-20P FLAT HEAD SCREWS. OPEN AND CLOSE
DOOR TO CHECK IF LATCHBOLT CAN EXTEND AND RETRACT
PROPERLY. ADJUST ROLLER STRIKE IF NECESSARY.

4.WITH THE ROLLER STRIKE IN FINAL POSITION, DRILL AT THE
CENTER 7/32" PILOT HOLE AND 1/4"-20P THREAD AND TIGHTEN

WITH 1/4"-20P FLAT HEAD.

3. DRILL 7/32"
HOLE,TAP
1/4"-20P
THREAD

4.1/4"-20P
FLAT HEAD
SCREW



(8) OPERATION TEST

PRESS DOWN THE PUSH RAIL TO MAKE SURE
THE DOOR OPENS AND CLOSES/LATCHES CORRECTLY.

NS = MAKE ANY ADJUSTMENTS AS NEEDED.
/\_/

T
s

NOTE:

TO EXTEND THE LIFE OF EXIT DEVICE,
LOCK THE LATCH IN THE RETRACTED
POSITION WHEN DOOR IS IN CONTINUOUS USE.

DOGGING DEVICE PUSH RAIL

4
] il
- i B

DOGGING KEY

TO UNLOCK
HOLD PUSH RAIL DOWN. TURN DOGGING DEVICE
DEVICE CLOCKWISE WITH DOGGING KEY.

TO LOCK
HOLD PUSH RAIL DOWN. TURN DOGGING DEVICE
COUNTER CLOCKWISE WITH DOGGING KEY.




TEMPLATE FOR FOLD HERE FROM JAMB

INSTALLING PANIC EXIT DEVICE
~ = i //' o -
outs; ] 9/32"
27/32"

Uts;
de face of the d
Oor

\

f Drill 1 1/4" for rim cylinder
If without key cylinder installation
o do not drill this hole If other trim

required hole must be drilled
according to the desired trim

CENTER LINE

K 421/64"
3 25/32" + ‘ 25/32"
KK -

template provided. ROLLER - i
STRIKE HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.
: ﬁL
| |
D°°R JAMB FOR MOUNTING

| N END COVER

,\ ’ ‘ N 27/16" 4 B\/W’
N\ NOT TO SCALE

27/16"

« inside face of the door

(A) For RDC5R10 (UL Listed) Drill & tap for (6) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws

for Roller Strike
(B) For RDASROO (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6) thru bolts and drill & tap for (3) 1/4"x20 machine

screws for Roller Strike.

40" ABOVE FLOOR




[1] PARTS NAME

IF YOUR DOOR IS NARROWER THAN 36"
REMOVE END COVER AND CUT

SECTION’ END COVER

HEAD COVER

LATCHBOLT PUSH RAIL

@

1/4’-20P x 3/4" (3 PCS)
FLAT HEAD

<]
Q (3))
- 3 @ 1/4"-20P x 3/4"(6 PCS)

ROUND HEAD

END COVER MOUNTING THRU BOLT (6 PCS)

BRACKET

MACHINE SCREWS

=
STRIKE SHIM ROLLER STRIKE
OPTIONAL PARTS i cvunoER

Double Door Strike

S
©® RING

( Not Included-Must
@ be ordered separately)
( for use on Rim x Vertical

[ ———1 Rod applications)

TYPE OF INSTALLATION

DOUBLE DOOR WITHOUT MULLION SINGLE DOOR DOUBLE DOOR WITH MULLION

L [TRmM_] .\ r \
{ DOOR ] DOOR DOOR { DOOR 7 DOOR \
o] Eon | o e

et DOUBLE DOOR STRIKE S ool
25/8" 27/16" 2716 2716




E DRILL HOLES <:| FOLD HERE FROM JAMB

1.USE TEMPLATE ENCLOSED TO (OUTSIDE)
MARK DOOR FACE AND DRILL - [ 1 b
HOLES WITH THE DIAMETERS i i T Lo
SHOWN. ! !
3252 / ><21/s4' @
2'B"LENGTH SHOULD BE MEASURED \2-7/16" | \—i_ S
FROM THE CENTER OF CYLINDER i s S
HOLHO THE END OF THE BODY. .
1-1/4 HOLE MUST BE DRILLED|
(INSIDE) 2 ’L Tewere
= INSIDE FACE OFTHE DORR P e |8 g
Drill 9/32" holes inside and 3/8" holes END COVER =
outside for the (6) thru bolts and drill 276" 8
& tap for (3) 1/4"x20 machine screws for the VBV =
Roller Strike. giilded SR

inside face of the door

[5] INSTALL CYLINDER (IF REQUIRED)

1.PLACE THE CYLINDER
INTO THE HOLE ON THE DOOR

2 KEEP THE TAILPIECE HORIZONTAL < M

3.TIGHTEN THE SCREWS OUTSIDE FACE OF THE DOOR

== 9/32°~15/32" CYLINDER
ey

LINER

INSTALL SCREW
\ (3/167-24X17)

TAILPIECE PROJECTION

(6] INSTALL BODY

1.REMOVE THE HEAD COVER AND
END COVER.

2.ALIGN THE SCREW HOLES ON THE
BODY WITH THE HOLES ON THE %%\
DOOR.

1/4” ROUND
HEAD SCREW X6

3.INSERT SCREW BOLT (6PCS)3/8"
FFOM OUTSIDE OF THE DOOR
THEN TIGHTEN THE 1/4"ROUND &
HEAD SCREW (6PCS)FROM INSIDE
OFTHE DOOR ON THE BODY AND :
THE MOUNTING PLATE OF END 2NN
COVER.




1.PUT ON THE HEAD COVER ¢
AND END COVER.

2.TIGHTEN THE SCREWS
SECURELY ON THE HEAD
COVER AND THE END
COVER.

INSTALL ROLLER STRIKE

3.MARK THE CENTER OF THE 2 ADJUSTABLE SLOTTED HOLES AND DRILL
7/32" PILOT HOLES. TAP PILOT HOLES WITH 1/4"-20 THREADS AND
INSTALL MACHINE SCREWS. OR INSTALL SELF TAPPING MACHINE

1.MTH THE DOOR N THE CLOSED POSITION MARK SCREWS OR WOOD SCREWS IN PILOT HOLES.CLOSE DOOR TO CHECK

THE CENTERLINE OF LATCHBOLT ON DOOR JAMB.

2.PLACE ROLLER STRIKE OM DOOR JAMB, IF LATCHBOLT EXTENDS PROPERLY, ADJUST ROLLER STRIKE IF
ALIGN CENTER OF ROLLER STRIKE WITH THE (REESE AR
LATCHBOLT CENTERLINE MARK ON THE JAMB 4.WITH ROLLER STRIKE IN FINAL POSITION, DRILL A 7/32" PILOT HOLE FOR
THEN ALIGN THE OUTSIDE EDGE OF THE THE CENTER MOUNTING HOLE. TAP PILOT HOLE WITH 1/4"-20 THREADS
ROLLER STRIKE WITH THE OUTSIDE EDGE OF AND INSTALL MACHINE SCREW.
THE DOOR JAMB. OR INSTALL SELF TAPPING MACHINE SCREW OR WOOD SCREW IN
PILOT HOLE.

ﬁ ~ ~t 3 bRILL 732" 4.1/47-20P
HOLE, TAP 1/4"-20P JEATIHEAD
THREAD SCREW
1. JAMB
2. ADJUSTABLE SLOT

NOTE INSTALL STRIKE SHIM UNLEGS THE EXIT DEVICE HEAD COVER RUBS THE ROLLER STRIKE,
THEN REMOVE THE STRIKE SHIM TO GAIN ADDITIONAL CLEARANCE.

(9] OPERATION TEST

PRESS DOWN THE PUSH RAIL.
OPEN AND CLOSE DOOR A FEW,
TIMES AFTER INSTALLATION
COMPLETED




UEAEEATE FRln FOLD HERE FROM JAMB
X
9/32"
Utsige 5
face of th 27/32
CENTER LINE
f Yzww
Drill 1 1/4” for rim cylinder 8 25/32" 25/32”
If without key cylinder installation
do not drill this hole If other trim k
required hole must be drilled
according to lhe desired trim Lo
template provided. ROLLER
STRIKE HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.
[ 2 4
0
JAMB 9
| POS FORMOUNTING | L
\ ‘ \ ‘ \ END COVER g
27/16" 0
pIRS NOTTOSCALE %
inside face of the door
(A) For RDC5R10 (UL Listed)-Drill & tap for (6) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws /

for Roller Strike
(B) For RDASROO (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6) thru bolts and drill & tap for (3) 1/4"x20 machine
screws for Roller Strike.



QUICK INSTALL GUIDE USING PLASTIC TEMPLATE AND MOUNTING PLATE

Plastic Template

3. Hurricane models - refer to insta
4. Optional sex bolt kit: p/n SN1-X.

VALUL al:K":b

V40/V4000 Series Rim Device
(Refer to Installation Manual for Detail)

Machine Screws

Sheetmetal / Wood Screws

Self-drilling Screws

#1/4-20 x 1" #1/4-20 x 1/4" #10-24 x 5/8" | #6-32 x 3/8" #14 x 1-1/4" #10x 1" #14 x 1" #14 x 1-1/2"
( Drill Size: 1 Drill Size: <: Drill Size: <: <:
#7 or @13/64" #25 or @9/64" 3/16"

1. See installation instructions for detailed installation,operation
and electrical options (including glass door applications).
2. Refer to outside trim instructions.

llation booklet for special requirements.

5. Optional wood door screw kit: p/n 103991.

lllustrations for reference only.

STEP 1 - LOCATE MOUNTING PLATE
& PLASTIC TEMPLATE~

STEP 2

- INSTALL MOUNTING PLATE

STEP 3 - INSTALL DEVICE TO MOUNTING PLATE

STEP 4 - INSTALL CYLINDER

h
PUSH TO OPEN-ALARM WILL SOUND

| i
@ =

]

Fasten strike
screws loosely.

5

t

Depress pushpad
when installing

Mark centerline
for Unit

40 Inches above

finished floor

A, ForlL

Mark/drill mounting plate
and strike holes

Fasten mounting plate
and Strike

o
Mounting plate hole i:“_ﬂ_ﬂf NOTE CAM POSITION

Install rim device

(Mortise cylinder NOT provided)
Adjust for cyImder Iength with spacers provided.

CAUTION!

MUST fasten rim device
to mounting plate

Reinstall fillerplate Reinstall cable
(LBM, EE & EM

units only)

Use CAUTION to avoid damagmg wires

Verify cylinder operation

STEP 5 - INSTALL ENDCAP BRACKET AND ENDCAP

STEP 6 - ADJUST STRIKE AND INSTALL COVER

STEP 7 - INSTALL PUSHPAD WRAP

Use center hole to
mount endcap bracket.
Screw prevents

Install (2) D Screws

Level rim device and for added security

and mark/drill (3) holes endcap tampering.

Mark/drill (3) endcap
bracket holes

Fasten endcap
bracket

Install endcap

Deadlatch ™

m \

Adjust surface strike

If cover hits strike,

— remove shim

Mark and drill center hole.
Secure the surface strike.

Align the surface strike
with the deadlatch.
Then, firmly tighten

. both screws.

/C orG

Secure surface strike|

Install cover

Pushpad Wrap
(note text orientation)

NOTE:
Peel and remove tape backing
BEFORE installing pushpad wrap

101316 10-25-10(YELLOW SHEET)




® 101278 APRIL 16, 2009
AN Ny
A

DETEX PANIC DEVICES OFFERED BY LOCKEYUSA
PHONE: 989-773-2363 FAX: 989-772-1936
WWW.LOCKEYUSA.COM
INSTALLATION INSTRUCTIONS FOR NARROW STILE RIM DOOR KIT - DETEX VALUE SERIES™

101278 Page 1 of 3




O

Narrow Stile RIM Door Kit Installation

@ Slide Filler Plate

SubAssembly
partially out

Loosen set screw

(DO NOT REMOVE) ~

Hand tighten set screw 7 e 7
% after kit is installed we_F

Aie Filler Plate

SubAssembly

back into extrusion.
@ Install Filler Splice "from kit"

Slide Center Case/Pushpad
SubAssembly partially out

— qan(y

Install Fascia wﬁ
Mounting Endcap Bracket

Approximately 3"

Install extrusion splice "from kit"
Slide Center Case/Pushpad
SubAssembly back in place

101278 Page 2 OF 3



98 Strike Locator 98 STRIKE INSTALLATION

Align the Strike with
the Latchbolt.
x\Firme Tighten Screws

Shield (If Necessary)

Door Frame .
Shim (If Necessary)

98 Strike
Cutout per _
98 Strike

\@\
Mark and Drill Holes
as Necessary

(See Fastener Table)

Fastener Table
Drill Bit Tap Wrench Comments
®
D=I=X
— Use Either Machine Screws, Sheet Metal Screws,
or Sex Nuts
Machine Screws #6-32 x 5/8" PPH #36 or 7/64 Used on 98 Strike Shield Mounting Holes
DW #6-32 x 3/8" PPH | - Used to Mount Centercase Cover and Endcap
#10-24 x 5/8" PPH #25 or 9/64" #10-24 Tap Used on 99 Strike Center Mounting Hole
#1/4-20 x 1/4" PPH | Used to Fasten Centercase Unit onto Backplate
G #1/4-20 x 1" PPH #7 or 13/64" #1/4-20 Tap Used on Strike, Backplate, and Endcap Mounting Holes
Sheet Metal Screws #6 x 1" PPH 9me4" | Used on 98 Strike Shield Mounting Holes
#10 x 1" PPH #22or532" | T Used on 99 Strike Center Mounting Hole
" Metal Applications
PPH e Used on Strike, Backplate, and Endcap Mounting Holes
PPH 15/64" | - Mullion
#14 x 1-1/4"
* PPH 316" | e Wood Applications
Used on Backplate, and Endcap Mounting Holes
Sex Nut - 9/32" Interior Door Face | - Recommended on Fire Rated Wood and
#1/4-20 Unreinforced Hollow Metal Doors
q%:l - 3/8" Exterior Door Face | - Used on Backplate and Endcap Mounting Holes
J— 13/64" Interior Door Face | - Recommended on Fire Rated Wood and
#10-32 Unreinforced Hollow Metal Doors
- 5/16" Exterior Door Face | = Used on Strike Hook Mounting Holes

Note: (1) Fastener selection will vary per catalog configuration and kits ordered.

101278 Page 3 OF 3



LOCKEY B210 Gate Box

[ TS A

Designed for use with a knob or a lever & the LockeyUSA M210

93/4"H

4 3/4" W

Shown with
lock & knob
installed:

Lock & knob
sold separately.

21/8"
standard prep




| - .__ ._ji' illl ;IIJ
Lockey ADD-A-BOLT
Installation Instructions

Using the provided template, determine where you want to mount the lock, and mark the
proper holes.

Drill a 15/16" hole for the drive in deadbolt. File to fit.
Drill the (2) 15/64” holes

Install the drive in deadbolt, making sure it is right side up.
Using the 2 bolts provided, mount the gate box.

Proceed to follow the M210 instructions (included) on how to install the lock to the gate box

WWW,LOCKEYUSA.COM



ADD-A-BOLT

TEMPLATE
FOR LOCKEY USA M210

2.00”

, 150" ,

15/64
HOLE

WWW.LOCKEYUSA.COM

1” HOLE*

15/64
HOLE

®

3.753

1.643

* HIGHLY RECOMMENDED TO DRILL HOLE 15/16” AND

FILE TO FIT. A SLOPPY BOLT WILL NOT SEAT PROPERLY

396"




LOCKEY GB-LINX

IN STALL%E}OCH)NI;{ ngl;lgs E;{(RUCTION S \*’JW‘@

1.) Place GB-LINX Box on gate post in desired placement.

2.) Draw an outline of the latch/deadbolt on gate post/style.

3.) Remove box from post. Place latch/deadbolt to post, ensuring the outline clears the edges of the latch/deadbolt.

4.) Using an end grinder or sawzall, cut around the outline, removing a rectangular section from the gate post/stile.

5.) Place latch/deadbolt into hole to ensure the body fits with no bind points.

6.) Place GB-LINX Box and latch/deadbolt onto gate, ensuring a proper fit. Now, mark holes for the lock and spindle.

7.) Remove GB-LINX Box and latch/deadbolt, and drill marked holes for the lock and spindle.

8.) Place GB-LINX Box and latch/deadbolt onto the gate. Secure latch/deadbolt to the GB-LINX Box with screws.

9.) Insert spindle through latch/deadbolt and test to make sure movement is free from any binding.

10.)Install lock to GB-LINX Box. Mount the lock to the gate post. The mounted lock will hold the GB-LINX Box in place.
*Reference 2900 Series Instructions and Diagrams to properly install the lock.

*SEE PICTURES BELOW FOR ADDITIONAL INSTALLATION REFERENCES*




\
FSPY INSTRUCTIONS

The TB-LINX Kit is intended to adapt your TB200/400/600
or TB250+/450+/650+ Hydraulic Gate Closer to fence posts

3-inches or smaller. The TB-LINX kit comes with a 3” U-
Bolt to fit to a 2 7/8” post.

If the post is smaller than 3-inches, a smaller U-Bolt must

be used to match the post size.

IMPORTANT:

TB200/400/600 and TB250+/450+/650+ Gate Closers will

not work with Bulldog Style hinges. You MUST use a
center pin/pivot type hinges or Male/Female style with
center pivot pin.

Part Name

Qty.

Triangular Mounting Bracket (included w/ Gate Closer)

TB-LINX KIT

Gate Bracket (included w/ Gate Closer)

Post-Mount Collar

U-Bolt-3x4 %

Lock-Nuts —3/8

Lock-Nuts — 1/4

Bolts1/4x 1

Self-Tapping Screws

N(NINN[R[R[R|-

TO INSTALL:

1. Mount the Triangular Mounting Bracket to the flat-

side of the Post-Mount Collar using the two (2) 1/4” x

1” bolts and securing with two (2) 1/4" Lock Nuts.

2.  Place collar to the OPEN side of POST and attach with
3 x4 %” U-BOLT and secure with two 3/8” Lock Nuts.
The gate must swing towards the Triangular Bracket
and the Triangular Bracket should be on a 90 degree

angle from gate.
3.  Youare now ready to mount the Gate Closer. Use

the 2 self-tapping screws to fit Gate Bracket to gate.

(REFER TO GATE CLOSER INSTRUCTIONS)

IMPORTANT: BEFORE INSTALLATION OF THE CLOSER IT IS IMPORTANT TO MEASURE THE DISTANCE FROM THE TRIANGULAR
BRACKET TO GATE BRACKET IN THE 90-DEGREE OPEN POSITION. THE DISTANCE MUST NOT BE LESS THAN 22”. |F LESS THAN
22”, THE GATE CLOSER MAY HYPER-COMPRESS AND VOID THE WARRANTY.

IN MOST CASES, HOLES 3 & 4 ON THE TRIANGULAR BRACKET (HOLES FURTHEST FROM THE POST), WILL NOT CREATE
SUFFICIENT DISTANCE (22”) BETWEEN THE TRIANGULAR BRACKET AND GATE BRACKET.

Post-Mount Collar

g —— ' | e

Triangular Mounting Bracket

Self-Tapping Screws

Gate Bracket




TBI50-LINX  [rorname

KIT INSTRUCTIONS Lock-Nuts — 3/8

K

Qty.
Weldable Plates 2
U-Bolt—-3x47% 2
4
Post-Mount Collar 2

The TB950-LINX Kit is intended to adapt your TB950 Magnum Hydraulic Gate Closer to fence posts 3-inches or smaller. The
TB950-LINX kit comes with a 3” U-Bolt to fit to a 2 7/8” post.

If the post is smaller than 3-inches, a smaller U-Bolt must be used to match the post size.
TO INSTALL:
Mounting the TB950 Magnum w/ TB950-LINX Kit

Determine the desired gap from the gate to the post.

Cut the heel of the TB950 Magnum to desired length.

Before welding, remove bearings and bushings from the gate closer.

Place Weldable Plate to the heel of the TB950 Magnum and center.

Weld the Plate to the heel of the closer.

Secure the TB950 Magnum to the Gate Closer using the Post-Mount Collar, U-Bolt and Lock-Nuts.

oA wWN R

Mounting the Top Pivot w/ TB950-LINX Kit

Measure the distance from the edge of the gate post to the center pivot of the TB950 Gate Closer (shown above).
Measure and mark the Top Pivot with the exact measurement from Step 1 (include Weldable Plate in measurement).
Cut Top Pivot accordingly to attain desired distance.

Place Top Pivot plate to the Weldable Plate.

Weld the Plate to the Top Pivot.

Secure the Top Pivot to the Gate Post using the Post-Mount Collar, U-Bolt and Lock Nuts.

oA wWN R

*NOTE: Center pivot points of the Gate Closer and Top Pivot must be an equal distance from the edge of the gate post.

Top ERIOt wy LINim




DIGITAL DOOR LOCK

ERs
\ W/HANDLE

MECHANICAL COMBINATION ACCESS CONTROL
DOOR LOCK EQUIPPED WITH 'DOUBLE PUSHING'
AND 'SINGLE PUSHING' FUNCTION

Blﬁﬂ'ﬂt

- L

INSTALLATION INSTRUCTIONS

CONTENTS
PAGE

E1 ® THE NAME AND DETAILS
OF THE ENCLOSED PARTS
PAGE 3 @ BEFORE INSTALLATION
PAGE 4 @ HOW TO INSTALL
PAGE 7 @ HOW TO USE
‘PAGE 8 ® HOW TO CHANGE THE CODE NUMBER

racel0/i1 @ TEMPLATE

I e Wadv 04 :

0ONOAPON = O

>¢READ ALL THE INSTRUCTIONS BEFORE THE INSTALLATION




THE NAME AND
DETAILS OF THE ENCLOSED PARTS

NO. NAME OF PARTS | NO. NAME OF PARTS

1.  OUTSIDE BODY 1PCE 10.  MACHINE SCREW 455 2PCS
2.  INSIDE BODY 1 11.  MACHINE SCREW 445 2

3. ESCUTCHEON 2 12.  WOOD SCREW 416 4

4. MAGNETIC MORTISE STRIKE 1 13.  KEYLESS TUMBLER(BLUE) 1

5. MAGNETIC LATCHBOLT UNIT (60MM BS OR 70MM BS) 1 14.  KEY TUMBLER(RED) 1

6.  FACE PLATE FOR LATCHBOLT 1 15. DOUBLE FUNCTION KEY TUMBLER (GREEN) 1

7.  SPINDLE (87MM L) 1 16. TWEEZERS 1

B.  LSUPPORT PIN 1 17. CODE NUMBER CARD 1

9.  MACHINE SCREW 4x6 FOR L SUPPORT PIN 1 18.  INSTALLATION INSTRUCTIONS 1

INSIDE BODY INSIDE BODY

(\
@

LLLLLLLELTP LT DL LR LT

IDE BODY
L ESCUTCHEOHN

" B —
-1 gl‘ R I.-.- | I

e

J

TITTITTTTTTTiTTiiiig

TUMBLER TUMBLER TUMBLER
(DOUBLE FUNCTIOM)




BEFORE INSTALLING

THE DIGITAL DOOR LOCK, "SUPER-8"

CONFIRM THE HAND OF OPENING

HOW TO INSTALL
THE DIGITAL DOOR LOCK,"SUPER-8"

Using the template provided on page 10 for 60m/m B.S. or 11for 70m/m
B.S., decide on the position you want your lock.

The lock comes factory set for right hand opening, if your door is hinged
on the right from the entry side then proceed to HOW TO INSTALL after
installing the L support pin as per below. If your door is hinge on the left
from the entry side then follow changing the hand of opening to left

hand.

CHANGING THE HAND OF OPENING TO LEFT HAND

» Move the screw (1) into position (2)

rrverrrvsTT AT T

*Remove the two screws (3) from the inside of the handle releasing the

handle cover.

* Remove the two screws (4) that connect the handle to the lock, lift the
handle off and reverse it to left hand. Replace all screws securely.

* Repeat the same with the inside handle.

*On the entry side of the lock either side of the spindle cog there are two
holes(a,b), screw the L support pin into the following position for R/H

opening and the opposite position for L/'H opening.

FOR RIGHT HAND

e Mark the hole centers for each of the 3 holes on the surface of the door,
and for the latch bolt at the center of door edge through the template.

e Drill the 3 holes, the upper and lower 2 holes@ 10mm dia and 3rd larger
hole @36mm dia.) the hole in the edge of the door @25mm dia for the
latch boilt.

» « « "60MM BACK SET" is 85mm depth « « »
» == "TOMM BACK SET" is 95mm depth -+« -

Insert the latch bolt into the slot making sure the arrow faces upwards
and scribe a line around the latch-bolt face. Remove it.

Chisel out the scribed space until the latch bolt face is flush with the
surface of the door edge.

Fasten latch bolt unit with the wood screws(4 X 18), evenly.

HEXAGONAL POST
LATCHBOLT =
FACE L SUPPORT
/‘ PIN
FACE PLATE — Loy L || ¥
(4] 58
L |[\ L SUPPORAT
| PIN HOLE
] ESCUTCHEOM

Insert the 2 hexagonal posts into the upper and lower holes of the front
body and place the escutcheon on.Position the front body onto the door.

NOTE-CONFIRM THAT THE SUPPORT PIN IS INSERTED INTO THE
SUPPORT PIN HOLE OF THE LATCHBOLT UNIT,SMOOTHLY.



CONT'HOW TO INSTALL THE DIGITAL DOOR LOCK,"SUPER-8"

Befor closing the door test your lock from the inside and out side to
ensure it is set correctly.

AFTER CONFIRMING THE ABOVE N
Close the door and decide on the position where the latch bolt head touches

the face of the door jamb. And mark the hole for the mortise strike. S
After that, chisel out the space for the magnetic strike box. Fasten them with ’@

the wood screws.

m HOW TO USE
THE DIGITAL DOOR LOCK, "SUPER-8"

1. When the door is closed, the "SUPER-8" locks automatically.

2. From the inside, unlock using the lever handle.

3. From the outside,unlock by pressing the correct code and then
using the lever handle.

"HOLDBACK" DEVICE
The holdback holds the latch bolt head back; this is very convenient .
When using the code is not always necessary.

TO OPERATE

Pull the inside handle down until the latch bolt head retracts fully, and push
the holdback down.

To restore push up the holdback.




V HOWTO CHANGE
THE CODE NUMBER

TO PREVENT ANY PROBLEMS OR DAMAGE,
READ THE FOLLWING INSTRUCTIONS BEFORE CHANGING YOUR CODE

> II "NOTE
U2 THERE ARE 9 SPRINGS IN
THE BACK OF THE LID.

Hold the front lock body in the horizontal position.
Remove the 4 red screws and take the lid off carefully.

| N

THE CODE TUMBLER GREEN TUMBLER.| | 1 ey
THE GREEN COLOURED ARE THE TUMBLERS FOR 'DOUBLE PUSHING' -l -
THE RED COLOURED ARE THE TUMBLERS FOR 'SINGLE PUSHING' GREEN IN HOLE NO.2 RED Heb TUMBLER jg” ?
THE BLUE COLOURED ARE KEYLESS TUMBLERS 'NON-CODE' IN HgLE'S NO4.788 ) =Y
THE PLAIN TUMBLER IS THE 'C' BUTTON (TO CLEAR) NEVER REMOVE THIS M- N THE REMAINING S
TUMBLER :;g
| PLAIN TUMBLER—{{-{- c &
FOR EXAMPLE THIS "CODE NUMBER" IS MADE UP OF THE "C" TO | @0 |
CLEAR THEN 22478 “ , L
WHILST PUSHING IN THE 'C' BUTTON,AND USING THE TWEEZERS ’ °©@o

PROVIDED, PLACE YOUR CODE TUMBLERS INTO POSITION

HOW TO CHANGE THE CODE NUMBER !

TO INCREASE AND DECREASE THE NUMBER OF DIGITS USED IN YOUR CODE ADD COLORED TOP END
MORE RED AND GREEN TO INCREASE, ADD MORE BLUE TO DECREASE.

IT IS VERY IMPORTANT TO REPLACE THE CODE TUMBLERS IN THE CORRECT WAY.

THE COLORED TOP END MUST ALWAYS FACE UPWARDS.

AND THE SIDE OF THE TUMBLER THAT HAS THE RAISED NOTCHES MUST FACE TOWARD
THE TOP OF THE LOCK.

REMEMBER TO KEEP THE 'C' PRESSED IN WHILE REMOVING AND REPLACEING THE
TUMBLERS.

THE FRONT OF
LOCK AND C BUTTON.

REPLACE THE PLATE CAREFULLY AND NOW TEST
YOUR CODE BEFORE REPLACING IT ON THE DOOR.



< Fold along Mt edge ol door————— aa
sy OPES HOLF
DIGITAL '
DOOR mcanPtP\s {>
TEMPLATE FOR E 10541
o :
BACK SET £ 1
60m/m(2-3/8") £ | =
Dol |
u) u
= &
B £
5 =
(&S]
I
83 %
5 (3
T A~ g T 2 JULL
50 40 30 50 40 30 0 40
50 \0 30 € :
I ~
——n { li I x
Mark n ‘:u! I'I' Mai
25m/me 1 inoi & o5
at Lenter of d{:r“, ecge .oal
5;0 40 30 50 40 30 30 40
i J D C ot i £L
) 2417 B .
¥ . For Right p L For Left Hand Door
_Back Sef 60mm(2-3/8% ™~ sl BGC}_;W_Sef 60mm( 2 3/8)




) —Fold along 1hk edge of door- - £

9 . |
7 | .G
E | D
g I . T
p 1 .
la) = O
o 8 L
° e
w w
& £
o c
£ : £
o L ¢
z B
g
D
& :
| :
i 93 %4 .J
i
: i
T A~ g . [,
50 40 30 50 40 30 30 40 50
_ _L___
50 40 30 . ' £l
il o 9 I
I T I
Mark i slot for : Nl Mark ir
2Sm/mi 1 “hoie : | —in —;- — e e e S
at cenier of door edge & F o al cent
50 40 30 50 40 30 ,.l L 30 40 50
}:xD C; I\ii : * ‘ ;
L TR e
: .
: For Right Hand DoorNXx0%F For Left Hand Door
Back Set 70mm(2-3/4%) . " Back Set 70mm(2-3/4"



Figure 1:

Figure 2: Tail Piece Position

@ &

Left Right

Figure 3: 4580 Cylinder
Remove 2 pins

Figure 4:
= = (2)
o€ @
./ (4)

7070N

This 7070N is a retro fit to replace the key cylinder on your Adams Rite LATCH style door lock.
This is only intended to replace the cylinder. If you need the latch or push paddle, you will need to
order additional parts.

Mounting Instructions
For 7070N
Adams Rite Retro fit

1). Take out keyed cylinder and replace with the 4580 cylinder, as per instructions for the Adams
Rite 4580 mounting guide. Be sure to hand door to right or left.

2). After the 4580 Adams Rite cylinder has been installed place the square tail piece into the 4580.
Note: A right hand and left hand tail piece are supplied. For your application, use the tail piece
that is closest to the 6:00; 12:00 position or the most vertical position. See Figure 2.

3). After proper tail piece is in place, place the metal trim plate onto door, over the tail piece.
Place tail piece center into the center round hole. When trim plate is centered to tail piece
mark top and bottom hole with pencil. After holes are marked, drill holes with a 3/8" drill
bit. (Note: Do not drill all the way through, rather only through the first wall of door frame.)
When holes are drilled in top and bottom of the first wall of outside door post, change your
drill bit to a 1/4” drill bit and continue through the inside wall of door post.

4). When holes are drilled through door, remove the 2 alignment pins on the 4580. See fig: 3
Now you are ready to install the combination lock.

To mount lock to the trim place these (7) easy steps must be followed (Fig. 4):

1. Place trim plate cover to bottom of trim plate position #1

2. Place combination lock to trim plate

3. Place m5 x 5/8” screw to bottom of lock #2

4. Place gold hex screw to top hole in lock #3

5. Place silver spacer ring #4 to short silver hex screw #5 and place into bottom hole in trim
plate

6. Make sure handing and combination are set

7. Place digital door lock and trim plate to the door. Make sure tail piece is not too long, If lock

bottoms out over the tail piece, you may need to break off the perforated end of tail piece to
shorten.

Note: Be sure that the lock and mounting plate is centered over tail piece. It is important that it
is mounted very straight. When mounting lock and tail piece is not loose fitfing, lock may bind
and not work freely.

- 8. Place finish washers (#6) to M 4 x 1 1/4” mounting screws (#7).

® I 9. Screw lock into place.

§ D

%"‘5{\ NOTE: TEST LOCK MANY TIMES BEFORE LOCKING THE DOOR
:| TO MAKE SURE LOCK IS SET PROPERLY.
: If after pushing the combination and pushing on the lever and the latch does not
:I retract all the way in, you may need to switch the tail piece and test the opposite
0o/ hand and test.
[ @



BEFORE INSTALLING THE DIGITAL DOOR LOCK, 7070N
CONFIRM THE HAND OF OPENING

The lock comes factory set for right hand opening, if your door is hinged on

the right from the entry side then proceed to how to install after installing the 1

support pin as per below. if your door is hinged on the left from the entry side
then follow changing the hand of opening to left hand.

CHANGING THE HAND OF OPENING TO LEFT HAND

smove the screw (1) into position (2)

sremove the two screws (3) from the inside of the handle releasing the handle
cover. *remove the two screws (4) that connect the handle to the lock, lift
the handle off and reverse it to left hand. replace all screws securely.

srepeat the same with the inside handle. *on the entry side of the lock either
side of the spindle cog there are two holes (a,b), screw | support pin into the
following position for 1/h opening and the opposite position for I/h opening.

for right hand

\Il C IQ‘“(&”%
WO ASS

HOW TO CHANGE THE CODE NUMBER

TO PREVENT ANY PROBLEMS OR DAMAGE, READ THE FOLLOW-
ING INSTRUCTIONS BEFORE CHANGING YOUR CODE

Hold the front lock body in the horizontal position.
remove the 4 red screws and take the lid off carefully
note: there are 9 springs in the back of the lid
the cade tumbler
the green coloured are the tumblers for “double pushing’
the red coloured are the tumbers for ‘single pushing’
the blue coloured are keyless tumblers ‘non-code’
the plain tumber is the *¢” button (to clear) never remove this tumbler
for example this “code number” is made up of the “c: to clear then 22478
whilst pushing in the ‘¢’ button, and using the tweezers provided, place you
code tumbrs into position

green in hole no. 2 red in hole’s no. 4, 7 & 8 blue in the remaining

HOW TO CHANGE THE CODE NUMBER

to increase and decrease the number of digits used in your code add more red
and green to increase, add more blue to decrease.

its is very important to replace the code tumblers in the correct way.

the colored top end must always face upwards.

the side of the tumbler that has the raised notches must face toward the top of
the lock.

remember to keep the ‘¢’ pressed in while removing and replacing the tum-
blers.

replace the plate carefully and now test your code before replacing it on the
door.

GREEN TUMBLEHR.|

7 L=

.2®

RED TUMBLER ‘

PLAIN TUMBLER —

COLORED TOP END

Q
8

]

- n

oo

S
0@ |- L"/__;,BLUETUMBLEH
N

ﬁ{f‘.}".'.
6>’
7l

a6

oo

i
‘msmomor r Vo
LOCK AND G BUTTON, {flt p’;<



< Fold along Mt edge ol door————— aa
sy OPES HOLF
DIGITAL '
DOOR mcanPtP\s {>
TEMPLATE FOR E 10541
o :
BACK SET £ 1
60m/m(2-3/8") £ | =
Dol |
u) u
= &
B £
5 =
(&S]
I
83 %
5 (3
T A~ g T 2 JULL
50 40 30 50 40 30 0 40
50 \0 30 € :
I ~
——n { li I x
Mark n ‘:u! I'I' Mai
25m/me 1 inoi & o5
at Lenter of d{:r“, ecge .oal
5;0 40 30 50 40 30 30 40
i J D C ot i £L
) 2417 B .
¥ . For Right p L For Left Hand Door
_Back Sef 60mm(2-3/8% ™~ sl BGC}_;W_Sef 60mm( 2 3/8)




) —Fold along 1hk edge of door- - £

9 . |
7 | .G
E | D
g I . T
p 1 .
la) = O
o 8 L
° e
w w
& £
o c
£ : £
o L ¢
z B
g
D
& :
| :
i 93 %4 .J
i
: i
T A~ g . [,
50 40 30 50 40 30 30 40 50
_ _L___
50 40 30 . ' £l
il o 9 I
I T I
Mark i slot for : Nl Mark ir
2Sm/mi 1 “hoie : | —in —;- — e e e S
at cenier of door edge & F o al cent
50 40 30 50 40 30 ,.l L 30 40 50
}:xD C; I\ii : * ‘ ;
L TR e
: .
: For Right Hand DoorNXx0%F For Left Hand Door
Back Set 70mm(2-3/4%) . " Back Set 70mm(2-3/4"



	E-Digital Deadbolt User Manual - COVER
	E-Digital Deadbolt User Manual - Pages 11-12
	E-Digital Deadbolt User Manual - Pages 1-2
	E-Digital Deadbolt User Manual - Pages 13
	E-Digital Deadbolt User Manual - Pages 3-4
	E-Digital Deadbolt User Manual - Pages 5-6
	E-Digital Deadbolt User Manual - Pages 7-8
	E-Digital Deadbolt User Manual - Pages 9-10
	edig series manual final - FRONT & BACK - EC Revisions2
	edig series manual final[2]_Page_1-2
	edig series manual final[2]_Page_3-4 - EC Revisions2
	edig series manual final[2]_Page_5-6
	edig series manual final[1]_Page_7-8 - EC Revisions
	edig series manual final[1]_Page_9-10 - EC Revisions
	edig series manual final[1]_Page_11-12 - EC Revisions
	3230 Instructions & Template
	2230-2435-3230 Instructions - NEW

	3230-templates
	285p_template
	285-P Template
	115-P 160-P Template
	310-P Template
	Panic Shield Instructions-1
	Panic Shield Instructions
	7055-instructions_updated
	7055-instructions
	7055 pg 3 001
	7055 pg. 4 001

	7070n_templates
	7070N  60mm templet 001
	7070N 70mm template 001

	7070n-instructions
	7070n_templates
	7070N  60mm templet 001
	7070N 70mm template 001


